PUBLIC SCHOOL CRICKET IN 1937

By A. Podmore and Hubert Winterbotham

Most of the southern schools, in contrast to the previous season, encountered a succession of those hard wickets which, while allowing young batsmen the best chances, make the highest call on the ingenuity and perseverance of bowlers of tender years. It is an accepted truth that, on tricky, rain-affected pitches, club batsmen, with their wealth of experience, have an immense advantage over schoolboys; but it is not so generally recognised that, if there is any disparity in the average leaving-ages or in the average age of the teams in two schools, results may give a most misleading idea. Several schools who did badly are likely to give their opponents a shock this season, simply because they relied in 1937 upon young sides who may not have been able to realise and utilise their opportunities.

The whole trend of the season illustrated the glorious uncertainty of the game. Teams with a mass of old colours started brilliantly and tailed off, or, alternatively, failed to strike their best form until towards the end of term. In other cases, there was a tantalising failure to co-ordinate the "high spots" of all the players—a state of affairs which, in a minor or major measure, characteristic of school cricket, manifested itself to an unusual degree last summer. Where the general note was one of disappointment, the cause, in a remarkably large number of instances, was one common enough in all grades of cricket -lack of variety in bowling. The temptation to most young cricketers is to bowl as fast as possible which, with the natural limitations in physique and stamina, usually results in a stereotyped medium-fast ball quite innocuous unless the catching is first-class and opponents willing to take a risk or two. And the trouble is that too few boys will try to concentrate on length, placing over-much faith in swinging the ball, a feat of little value unless allied to length.

The task of cricket masters and of professionals on the school staffs is at any time difficult. More particularly is this the case with bowlers. In all diffidence, it is suggested that much might be done, not only for school cricket, but for the country's cricket, if a determined attempt were to be made to discover "transformable" bowlers. The names of Goddard and Voce are sufficient justification for the theory that, especially in the adaptable state of adolescence, a bowler with one kind of ambition can profitably be diverted along other lines. Perhaps we are

left in happy ignorance of the almost despairing searches which must be made by many sports masters for, say, a left-handed bowler with the natural easy action which needs only devotion to the study of length for the added gifts of spin and break to make him a terror on any kind of wicket. The needs of cricket demand that these researches should not be abandoned. In the development of variety in attack, firstly by catching the "probables" young, and, secondly, by judicious alteration of pace and method, lies the welfare of the whole game.

THE LORD'S FORTNIGHT

On the whole the fortnight at Lord's proved disappointing. The batting reached expectations and some notable performances were recorded, but the bowling and fielding fell below normal. The high standard of fast-medium bowling set last year by D. H. Macindoe (Eton), J. D. G. Craib (Eastbourne) and J. M. Hutton (Sherborne) was not approached. E. K. Scott and A. R. Mutter were mainly responsible for Clifton's victory in the opening match, Scott, who afterwards appeared for Gloucestershire, taking eleven wickets for 12 runs apiece and Mutter following innings of 79 and 55 by dismissing eight batsmen for 138. Rugby, whose running between wickets provided a tribute to H. W. F. Franklin, gave a great exhibition of batting, D. G. Clark, unable to play the previous season, making a welcome reappearance in the side. All the honours of a drawn game did not go to Rugby, D. G. Lacy Scott, a newcomer to the Marlborough side, batting more than five hours for 133 once out, and D. I. Graham playing innings of 70 and 57. Lacy Scott, who also scored 111 off the Eton bowlers, opened the attack against Rugby and took three wickets for 46 in a total of 425 for 9 declared.

A feature of the Cheltenham and Haileybury match was the bowling of P. G. Geary, who in 1935 impressed so favourably when making his first appearance at Lord's. Fast off the pitch, he obtained twelve wickets for 106 runs. D. C. Brooke-Taylor scored 109 and 34 not out, and Cheltenham won by seven wickets. R. B. Jones, a fast medium bowler, did the "hat-trick" when taking five Cheltenham wickets for 48 out of a total of 341, and played two enterprising innings. The Lord's Schools gained a well-deserved victory over the Rest, J. P. Mann (Eton) and Scott joining in a big partnership for the eighth wicket. After a slow start, Mann hit with great freedom. The bowling honours were carried off by Scott and A. Kershaw (Rugby) left hand, for the winners and by F. Falkiner (Radley) and C. W. S. Lubbock (Charter-

house) for the Rest.

It was obvious after the match that the selectors would experience trouble in finding bowlers to dismiss the Army, and Scott, Lubbock and A. C. Shirreff (Dulwich) did well to dispose of their seniors for 313. J. R. Thompson (Tonbridge) opened for the Schools with 102, and Scott hit well for 55 (not out). Captain R. E. H. Hudson put together a beautiful innings of 101 for the Army, but seven wickets were down for 197. Then the weakness of the bowling was exposed, the remaining batsmen adding 116. Thanks to another hard hit innings by Mann, the Schools declared. The Army had plenty of time to get the runs, but did so with only seven minutes to spare.

YOUNG AMATEURS v. YOUNG PROFESSIONALS

The Young Amateurs' XI is selected from those whose names have been considered for inclusion in the Rest XI v. Lord's Schools, and may be regarded as a "second eleven." Winning the toss, the Amateurs put together 280 against a varied attack, G. J. G. Hake (Bromsgrove) (89 not out) and P. Sherrard (Stowe) (51), adding 96 for the fifth wicket by excellent cricket. R. H. Yeatman (St. Paul's) who captained the side, and R. Sale (Repton) also showed good form. The weakness of the Amateurs' bowling was at once apparent and thanks to Harrington (89) and L. Compton (107), the Professionals went ahead with four wickets in hand. Haycraft shaped well for 92 and the Amateurs faced arrears of 104. As has happened before, the Amateurs collapsed in the second innings, Thompson, an off-break bowler, taking six wickets for 46, and the Professionals, requiring 22 runs, won by nine wickets.

THE "UNDER 16" MATCH

Several promising young cricketers took part in the Colts match, a number of whom had already gained first eleven colours. The Lord's Schools, drawn from the "classes" at Easter, repeated their victory of the preceding year over Mr. C. F. Tufnell's XI. The batting was good all round, S. C. S. Farmer (Cheltenham) (69 and 18), P. Goatly (Westminster) (50 and 34), H. E. Watts (Downside) (18 and 75), and G. J. E. Jameson (Eton) (48 and 53), specially distinguishing themselves for Mr. Tufnell's eleven, whose two innings aggregated 527. Thanks to a great innings of 237 by H. A. Pawson (Winchester), a record for the match, the Lord's Schools won by an innings and 11 runs. Pawson, who, narrowly escaped dismissal in the first over, scored mainly by square cutting. With G. V. Garbett (Ampleforth) (57) he put on 121 for the second wicket, and R. E. Crighton (Uppingham) (107)

helped him to add 231 for the fourth, the innings being declared for eight wickets. A. J. Ross, a diminutive Haileyburian who spun the ball well, came out with the best analysis for the losers, taking six wickets for 191 runs in 32 overs.

A WEEK AT THE OVAL

The Young Amateurs of Surrey enjoyed a successful week at the Oval. The team, carefully selected after four trial games, was short of bowling, but strong in batting, and the fielding, except in the slips, was smart and accurate. A. B. Allen (Charterhouse), behind the wicket, gave a quietly effective display, bringing off seven good catches and two stumpings during the week. The Young Amateurs of Middlesex and Essex were beaten in an innings; Kent, with five wickets in hand at the drawing of stumps, required 152 runs to avoid defeat. Yeatman, who captained the side, scored 368, average 92; Shirreff, the Dulwich fast bowler averaged 67.50; P. J. Dickinson, the K.C.S., Wimbledon, all rounder, 54.66; J. R. Bridger (Rugby), who twice shared in opening partnerships of three-figures with Yeatman, 49.25, and G. I. D. Norton, the Malvern left-hand bowler, 45. Against Middlesex, Yeatman (172) and Bridger (130) put up 289 for the first wicket. D. P. G. Elliot, the Rugby captain (104) and N. M. Mischler, the St. Paul's wicket-keeper (50), added 142 for the second Middlesex wicket.

THE SCHOOLS

Eton beat Harrow and Haileybury, drew with Winchester and Charterhouse and lost to Mariborough, who, however, were not the best of these schools since "suicidal" batting by Eton gave them victory. The Eton batting was sounder in technique and more forceful than for many years. Six batsmen finished with averages of over 30 and there was, throughout the season, a spirit of adventure not seen lately on Agar's Plough. Few will forget Mann's innings against Haileybury and Curling's 125 against Winchester. Barnardo played splendidly against Charterhouse and even better in the second innings at Lord's. Walker, in style a law to himself, was the most reliable run-getter on the side and it was his contemptuous 46 against Harrow that made an Eton victory possible.

England, in the early stages of the season, was one of the best wicket-keepers Eton has ever had, but his great improvement in batting somewhat overburdened him. Boughey and de Rougemont were useful on more than one occasion. No good opening pair of bowlers was ever found and it was not a good sign that Mann, bowling his leg-breaks better than in 1936, should have headed the averages. Of the rest, Banister, who bowled

splendidly at Lord's, and Huntington-Whiteley were the best, but neither was in the first flight, and Holt, of Harrow, made the attack look, what in truth it was, a little thin. Nor can the future be faced with too much optimism. The fielding was moderate, with only Mann brilliant and Walker good. Mann, a dominant Eton cricketer, goes to Cambridge, but will be lost to cricket next summer. Boughey will probably have Marsham, Curling, de Rougemont and Darell to help him in 1938.

Harrow beat Marlborough, drew with Winchester and lost to Charterhouse and Eton. The loss of the Charterhouse match by 17 runs was due to over-eagerness when Harrow held a strong position. The Eton match, both a tragedy and a triumph, was in the general opinion a defeat more glorious than many victories. The captain, Watson, led his team ably, on and off the field. The most dangerous bowler on the side, he averaged over 27 in batting, and fielded admirably at mid-off. Halliday improved enormously in batting; Lithgow was a sound bat and a fine field and Carp and Seligman, the opening pair, performed their task well. Holt played magnificently throughout the season. In fourteen innings, he scored less than 30 on only three occasions and his century against Eton was a classic. Henriques, though inconsistent, made some useful scores.

Stuart and Stewart generally opened the bowling. Stuart was not, perhaps, quite so good as in 1936, but he was always a great trier and got good wickets when particularly wanted. Stewart improved enormously as the season progressed, and when he developed the out-swinger as against the in-swinger. His 6 for 51 against Charterhouse and 6 for 60 against Eton were admirable performances. Sage, a left-handed all-rounder, still immature, showed much promise. He found difficulty in dealing with the turning ball and though he bowled a good length, has yet to learn to impart spin. Hayward bowled steadily throughout

the summer.

Old colours staying on: Holt (captain), Sage, Lithgow and Hayward.

The main trouble with Winchester was the lack of "body" in both batting and bowling. In attack, too much depended on Dixon, a leg-spinner who kept the ball consistently well up. If he could add the top-spinner to his repertoire, he would be most formidable. Garrow possessed a good action and considerable life off the pitch and Alexander, the captain, often took valuable wickets with his left-hand medium-paced deliveries, but the rest of the attack was mediocre. Of the batsmen, Proud, picked against the Army, had a fine season, his aggressive play when set making

him a most difficult man to bowl to; Alexander often made runs when needed and the elder Pawson was a watchful opening batsman.

H. A. Pawson, not sixteen until after the season ended, displayed the highest promise. Marked by endless patience and astonishingly mature judgment, his technique was that of the innings rather than that of the stroke player, but time will certainly develop his strokes. The fielding was sound, Proud at mid-off and Stanning in the gulley being specially notable. As wicket-keeper, Davy, largely through Dixon's co-operation, claimed the unusually high number of thirty victims.

Winchester scraped home against Marlborough by two runs, thanks to a valuable innings of 77 by H. A. Pawson and Dixon's leg-breaks. They faded away after a good start against Harrow, being none too well placed when Harrow declared their followon innings; they saw victory slide from their grasp against Charterhouse and were saved on Agar's Plough by the younger

Pawson.

Old colours staying on: Proud (captain), Stanning, Dixon, Garrow, and H. Pawson.

Rugby possessed a powerful batting side, Elliot, Clark and Scott being above the average. Had the bowling been all that it promised, nearly every match must have been won; but the prolonged absence of Whitelock meant more work for his colleagues and they gradually lost life and accuracy, with the inevitable result of many drawn games. The school only once suffered defeat—by the Butterflies in the opening match. They beat Clifton and Uppingham and drew with Repton and Marlborough. A great many runs were made in the season but the bowling latterly was not good enough.

Old colours staying on: Bridger (captain), Kershaw, Markland

and MacColl.

If Marlborough had been able to synchronise batting and bowling success, the season might have provided a succession of triumphs. In both departments their resources were much above the ordinary, but the fixture with Rugby, in which the bowlers, regarded with justifiable confidence as potential match-winners, failed to come off, typified many of their experiences. They were then, however, without Mallinson, a good leg-breaker. Bailward kept up a capital pace and, with Mallinson, could usually be depended upon to take wickets. Graham, Lacy Scott and Redfearn, medium-paced bowlers, could all keep down the runs and take toll of errors. As regards batting, Fletcher, Lacy Scott and Terry were sound in defence and Terry revealed a wide range

of scoring-strokes. Collins, but for uncertain defence in his first few overs, would have been a menace to all bowlers, and Graham, even if he failed during term, made ample atonement at Lord's. Redfearn, Fletcher and Terry stood out in a good fielding side. Advantages were thrown away in the Harrow and Winchester matches, both lost, but some compensation came in victories over Eton—a very fine performance—and Wellington.

Cheltenham, undefeated in school matches, beat Haileybury and drew with Malvern, Marlborough and Clifton. Possibly the most valuable characteristic of the team was ability to fight back when things began to go wrong. They needed this quality against Marlborough, when five wickets fell for 67, and against Malvern, when losing half the side for 20 runs fewer. Moore in each case pulled the game round, but there was no star batsman in the side and in the Clifton match, when the crisis arose, Geary and Barry staved off disaster. Geary, with 8 for 79 in the Haileybury match, 6 for 50 against Marlborough, 5 for 57 v. Malvern and 5 for 81 v. Clifton, was the most consistent bowler. Keeping a good length, he could always make the ball "do" a little and he hid his variations of pace with great skill. Stevens, the captain, hurt his back in June and so was unable to bowl much but he fielded brilliantly. Bourne at cover and Farmer behind the stumps also did outstanding work. Easily the best performance was the win at Lord's where, besides Geary's bowling, Brooke-Taylor's century and a sound innings by Ruttledge helped to discomfit Haileybury.

Haileybury, for all the hollowness of their defeat by Cheltenham, could not be set down as a weak side. They beat Wellington by 180 runs; drew with Uppingham after Harrison had achieved the rare feat of scoring a century in each innings, and, although they started badly in the drawn match with Stowe, generally demonstrated their strength in batting. Indeed, every man gained a double-figure average. Harrison with an aggregate of 649 and an average of 49.92 easily took chief honours, and St. George, Barton, Robey and Shephard were also consistent run-getters. Jones, the hero of the Cheltenham débâcle, did little of note during the term. The trouble lay in the bowling which was nearly all of the same type—right-hand and slightly above medium pace. Harrison secured the greatest number of wickets and Hildick-Smith, this year's captain, though rather expensive, came next in effectiveness.

Clifton won four of their thirteen matches, lost three and had the better of the drawn game with Cheltenham. The finish of the M.C.C. game, when the school needed 18 runs with 15 minutes to go and the last man in, will long be remembered by those who played or watched. The winning hit came in the over before the last. Other victories were over Gloucestershire Gypsies, Bristol and District and Tonbridge. In a strong attack, Scott, with his slow spinners, received useful help from Cleghorn and MacLellan, medium-fast, and Heaven and Wilson, medium-slow. After an uncertain start, the batting improved and Gibbs made a great advance as a wicket-keeper. Scott, considered one of the best school all-rounders of recent years, headed the batting and bowling averages.

The Tonbridge averages and the result of the Clifton match at Lord's are at first blush hard to reconcile. In batting Tonbridge could show two men with the same aggregate of runs, 572, one with 449, two over 300 and two over 200, with averages ranging from 50 to 20. In bowling, Stevens secured 52 wickets at a cost of 16.67 and Kidson 51 at 17.15, with E. I. C. Wood and Yeats-Brown between them claiming 49 at moderate cost. When it is considered that the team started the summer with only four places to fill and that Sherborne and Lancing were beaten during term, it seems that either Clifton were an exceptional side or that Tonbridge experienced a sudden fall from grace. There is some truth in each hypothesis for, without detracting from Clifton's merits, the failure of the later batsmen in the fourth innings after the first pair had put on 126 was not Tonbridge's true form. Thompson, the captain, who scored a hundred against the Army at Lord's, managed an unusually strong side well.

Old colours staying on: Yeats-Brown (captain), P. G. C.

Wood, Dew and Rampton.

Aldenham suffered more than other schools from bad weather, nine matches being unfinished in the latter half of the season. McCorkell batted consistently well throughout and received valuable assistance from Mence. Berkeley, Bowman (4 for 6 v. Imperial Service College) and Sprent bowled steadily, and Cryer, the captain, was always sound behind the stumps. Very young, the side lacked experience. With several of the eleven remaining, a satisfactory season is anticipated this year.

Alleyn's enjoyed a notably successful season, being beaten only once in thirteen matches and winning outright nine times. Allen and B. C. R. Smith each took 36 wickets for less than ten runs apiece and Alexander, Riddell and Allsop were consistent scorers. These five and four others remain for 1938.

682

Strong in batting, Allhallows, after making high scores, often failed to produce the necessary bowling skill. McKelvie and Crocker were newcomers of promise and Langton placed a century to his credit besides heading the bowling averages.

So few of the previous year's side staying on, the Ampleforth eleven had practically to be rebuilt. They accomplished some good performances in overcoming strong club sides, notably that brought annually by Sir A. W. White, whom they had never beaten before, and a strong Magdalen side. Two of the school matches were won, one lost, and a tie played with Durham. Owing to wet wickets, the scoring was not so high as usual, but Wells, the captain, played some good innings. Redfern, a brilliant outfield, did not strike his form, but Ryan, Cardwell and Sutton were able all-rounders and the catching and ground fielding reached a high standard. Horner, this season's captain, is a left-arm bowler of class, and Walter, Mahony and Garbett, an opening batsman and promising wicket-keeper, should do well.

Beaumont, despite disappointing batting performances, came out with the excellent record for school matches of four won, two drawn, and one lost. This was entirely due to first-rate bowling and fielding. Ruane, who played for the Lord's Schools, was untiring and kept a good length, Tyndall constantly improved, and Nixon rendered admirable support. Cashin proved himself a wicket-keeper of parts, with Gompertz the best bat among the new colours.

Old colours staying on: Cashin (captain), Gompertz, Tyndall

and Pritchard.

With six old colours, Bedford looked forward to a successful season, but anticipations were not altogether realised. After a good start, in which they beat the Cryptics and the Butterflies and drew with Romany, M.C.C. and Oxford Authentics, they lost to Oundle and St. Paul's and drew with Dulwich. They won their last inter-school match against Leys, finishing the programme with a defeat from Incogniti. Oakley, the best bat in the side, will captain the team this year, although A. E. Cook, the 1937 captain, is staying on as well as six other colours. Roberts, a medium-paced right-hand bowler, who swings the ball dangerously, came to light in the middle of the season and Feilden, a colt of real pace, shows promise.

Bedford Modern did well, gaining victories over K.E.S., Birmingham, Royal Masonic, Emanuel and Newcastle R.G.S., drawing with U.C.S. and losing to Oakham. Jacobs headed the batting averages.

Berkhamsted started with a convincing win over Mill Hill, lost five matches in succession, and registered good victories over the Masters, the Old Boys and Whitgift, while only time saved Christ's Hospital from crushing defeat. Altogether they won four games, lost seven and drew two.

Dix, the captain, who headed the batting averages, received best support from Dixon, and Jelley and Isherwood should improve. Pennington was the outstanding bowler, with Dix a consistent

keeper. Six old colours will be available this season.

Bishop's Stortford, in the course of their best season for some time, beat Berkhamsted, Chigwell and St. Edmund's, Ware, and drew with Felsted and Leys. McLean, the captain, averaged over 40, and Adams did still better, scoring three centuries and averaging over 60. Adams played for the Rest against Lord's Schools and he and McLean assisted Hertfordshire. Meen and Stirling were other reliable batsmen. Harris, a slow left-hander who kept a sure length, stood out in an attack comprising McLean, Stirling, Meen and Jones.

Old colours staying on: Adams (captain), Meen, Smith

and Ferguson.

Bradfield had much for which to thank their captain, Tucker, in their school matches. He scored a century against Lancing, who were beaten, 60 not out in the drawn game with Stowe, and two plucky innings against Radley which did not, however, stave off defeat. The School beat Wellington and gained a particularly meritorious victory over the M.C.C. Wright batted splendidly in the Wellington game, Cave-Bigley hit hard when making many useful scores and the bowling of M. Paine, Collins, Henshaw and Martin was backed-up by sound fielding.

Old colours staying on: Wright (captain), Pothecary, M.

Paine and Martin.

Brighton had their best season for years. They suffered a heavy and unexpected defeat in the St. Pauls match, but beat Dulwich, Lancing, Epsom and Cranleigh, and time alone saved Christs' Hospital from a reverse. Seven of the side were capable of making a lot of runs and the attack possessed variety. Braybon, the fastest of the bowlers and the most consistent, Wilson, a slow leg-breaker, Wallace-Cox and Philips all did well. Sharp, the captain, besides being a capital cover-point, batted with skill and success, but the most improved member of the team was Grose, a careful starter who, when set, hit hard in front of the wicket. Wallace-Cox, Philips and Thompson, played many good innings. Smyth, strong in off-side strokes, was compelled by the batting strength of the side to go in Number 7, and he often lost his wicket in trying to force the pace.

Bromsgrove improved greatly upon their previous season's performances, the final record reading: four wins, two ties, four draws and two defeats. Hake, the best and most attractive batsman in the side, enjoyed considerable success. Field and Forge between them took 57 wickets. Field showed greater accuracy, if less pace, than formerly and Forge's slow left-hand deliveries were good enough to defy the hard wickets. Hake and Jones proved themselves useful change bowlers.

Old colours staying on: Field (captain), Williams, Jones, Ellis

and Forge.

The fortunes of Canford varied. Huggins captained the side admirably and made over 500 runs and Roberts played consistently well, but although Noble gave promise towards the end, no one else could be relied upon in run-getting. The bowling, however, was exceptionally steady, French, Ritchie, Waller and Pennock taking 140 wickets between them. Four of the five school matches ended in victory, but club sides were, on the whole, too strong. There was an excellent finish to the Eton Ramblers' match. Both sides made over 300 in the first innings, and when the school declared the visitors, set 132 to get in 85 minutes, accomplished the task with the last two men together and five minutes to spare. This year should see a really good side, for eight old colours will be available, including the four bowlers and both Roberts and Noble.

Charterhouse disappointed, the batting, considered exceptionally strong, often breaking down badly. This, combined with fielding rather below recent standards, caused the loss of the Westminster and Wellington matches. The last-minute victory over Harrow, brought about largely by a magnificent piece of bowling by Lubbock, formed the brightest spot of the summer. The bowling lacked variety, too much work falling upon Lubbock and Knight. Weeks was a level-headed captain and consistent batsman, but Crofts, his opening partner, after making a fine century against the Free Foresters, fell away. Lubbock hit a good hundred against Eton, Beane "came off" against Westminster and Crompton made several useful scores. The absence of a tail made the comparative failure of the team the more surprising.

Though beaten by Whitgift, University College School and Imperial Service College, City of London registered wins over Forest, Eltham and Hurstpierpoint. The batting depended chiefly on Chapman, the captain, and McGlashan, though Harman and Pillow gave useful support. Shaddick and Dale shouldered

the burden of most of the bowling, Fraser also deserving honourable mention. Chapman and eight other colours are still at the school.

Cranleigh, suffering defeats from Brighton and Highgate, drew with Mill Hill and beat Christ's Hospital. Turner, the captain, chosen for the Young Amateurs against Young Professionals at Lord's, formed the mainstay of the bowling, heading the averages, with 33 wickets for a little over 19 runs apiece. Skinner, Neale, Atkinson, Rose, Hunt and Pears batted consistently.

Denstone, with one of the best sides that they have ever been able to command, won eleven of their fifteen matches and were only twice beaten. Of the four batsmen at the top of the averages, Burrow, Deighton and Watson will be available this season. Burrow scored 500 runs, average 38, and Deighton, besides averaging 42, took 38 wickets for less than 16 runs each.

Dover, who won four and lost one of their six school matches, batted right through the side. The opening pair, A. Dawes and Harland, usually gave them a good start. As regards the bowling, Mott and March were well supported by Gordon, a spinner, and Bloy, but the fielding left much to be desired. A. Dawes, the new captain, can call upon five old colours this year.

Downside won three matches, and lost two, but inasmuch as the remaining four were drawn very much in their favour, the full powers of the team were not illustrated by the mere record. Their strength lay largely in the opening pair, Masters and Hawkins, and Sheridan, a fastish bowler with two more seasons in front of him. Masters and Hawkins engaged in four opening partnerships of over a hundred, including one of 199, and another of 94 against M.C.C. That the rungetting did not depend entirely upon this pair was proved against Free Foresters when the early batsmen failed and the last four wickets added 120 in just over an hour. Sheridan, who swings the ball either way, took 32 wickets for 14 runs apiece.

On comparative form, there can be little doubt that the best performances by Dulwich were a level draw with Tonbridge and a handsome win over St. Paul's. Almost as good, however, was their fight against a powerful Free Foresters side who won after a sporting declaration by Shirreff. A captain who inspired and fostered a remarkable team-spirit, Shirreff headed both batting and bowling averages. He was particularly keen on setting an attacking field, and even on plumb wickets, was seldom forced to open it out. Shirreff, who played against the Army

at Lord's and in all the Young Amateurs' matches at the Oval, improved his batting vastly, both in sureness and in variety of strokes. Barnett, an easy stroke-player, Turner, Collingwood and Gray were others to accomplish good innings. As a bowler, Shirreff swung the ball late and sharply, getting great pace off the pitch. Thomas's left-hand spinners formed a valuable addition to the attack and the throwing and backing-up were excellent. The one real failure of the side occurred against Brighton, themselves a very strong side. Shirreff will again lead the team this season.

Durham won four and lost five of the twelve matches played. Buttle, the captain, a fine fielder and good forcing bat, Sylvester, Turnbull and Mayhew have all left, but the bowling this year should be more than adequate. Forster, fast medium, reduced his pace with good results; Greensword, left hand, showed real promise and Orwin, medium-fast swingers, and Hall, off-breaks, should complete a useful quartette.

Lack of a reliable opening pair and a good medium-pace bowler were the chief factors in Emanuel's failure to win more than two matches as against twelve defeats. W. L. Page captained the side well, but his bowling fell off. Gandar was the best bat, though Burrows played steadily. Thompson, a fastish bowler, should do well in 1938 and Halligan showed all-round ability.

Sound batting, a useful attack and patchy fielding characterised Epsom's season. They recovered remarkably well from a bad start—four defeats off the reel—and finished by winning five of the last seven games. Knaggs, Thompson, who put together a not-out century against the Buccaneers, and Tomlinson, the wicket-keeper, were outstanding, and Hubble, the captain, though he failed in batting, supplied some of the best bowling. The School beat Christ's Hospital but lost to Brighton and King's College School. Five old colours are available this season.

Forest, after a shaky start, improved and lost only one (Old Foresters) of the last six matches, which included an exciting finish and win by six runs against M.C.C. Hill, the captain, bowled consistently, taking six wickets for nine runs against the Chelmsford Clergy and eight for 45 against the War Office, when the school batting failed badly. Wilson batted well and never let the side down. Ludlow, a useful batsman, kept wicket with his usual brilliance and Wellum improved with every game.

Giggleswick, in a crowded season, defeated Leeds and Skipton, drew with Stonyhurst and St. Peter's, York, and lost

to St. Bees. The best work was accomplished in fielding which was reliable as well as opportunistic in character. The bowling was variable and the batting disappointing. Four old colours are returning.

Unbeaten in school matches, Highgate suffered only two defeats in their whole programme—by Repton Pilgrims and Hornsey. They beat Mill Hill by three wickets, Cranleigh by seven wickets and Felsted by 56 runs, and drew with Aldenham. Illness caused the cancellation of the King's, Canterbury fixture. The batting revealed no tail and the side generally received a good start from J. K. G. Webb, the captain. The bowling, very steady, was well supported in the field.

Old colours staying on: M. H. Webb (captain), Morton,

Harris, Turquand, Andrews, Ellerton and Reed.

The failure of the young members of the King Edward's, Birmingham eleven led to disappointing results, only two games being won, with six lost and three drawn. The burden of the batting and bowling fell on the seniors left from the previous year and, when they failed, there was no second line of defence or attack. The one gratifying feature of the season consisted in the capture of all ten Ashfield wickets by Freeman.

Outstanding in the King's, Bruton side were Holland and Sladen, the former hitting up 155 against Downside and the latter 85 against Weymouth. Seven of the side made scores of 50 or over but, for all that, only two matches ended in victory. Batting breakdowns in the Canford and King's, Taunton games provided only a partial explanation. The school sadly felt the need of two really good bowlers, for the attack, if varied, lacked sting. Sladen and four other old colours stay on this season.

As they relied upon a very young and inexperienced side, the failure of King's, Canterbury to win a school match is easily understandable. They came nearest to success against Eastbourne, just failing, after a declaration, to force a win. Tilton batted steadily and Wauton and Sargisson scored quickly. Chief responsibility in bowling fell upon Armstrong, the captain, and Hurford. The fielding in front of the wicket was good, but the slip-fielding fell below standard. All but two of the team will be available this season.

The outstanding member of the King's College School, Wimbledon team was Dickinson, who again exceeded 1,000 runs, and headed the bowling averages. He played against the Army at Lord's. Six matches were won, six drawn and four lost. Next

to Dickinson, Murray, Dann and Downham were the most successful batsmen and Downham a good second in bowling. Three old colours are staying on.

Kings, Ely did well against Perse and Peterborough but lost to Stamford. Wright, Wragg, the new captain, and White were serviceable bowlers. White and Tharp showed to advantage with the bat and Leitch kept wicket well. There are six colours left.

Failure to reproduce in school matches the batting form shown against club sides spoiled the record of King's, Rochester, who went down before Framlingham and Sevenoaks and drew with Sutton Valence and Cranbrook. Lees, a steady batsman, and Bayntun, who believed in going for the bowling, made most of the runs. Wright, the captain, in his fourth year in the side, bowled his left-hand slows with effect, and Bell, Birch and Lees completed a useful attack.

King's, Taunton, though beaten by Wellington by the narrow margin of 11 runs, defeated Bristol G.S., King's, Bruton, Allhallows, West Buckland and Blundell's 2nd. The Plymouth match resulted in a tie. Goldie, Leech, who made 146 against Allhallows, and Bowes-Cavanagh did most in rungetting and least two were the mainstays of the attack. Goldie, captain and wicket-keeper, inspired the team with keenness in the field. At least seven old colours are available this year.

Drawn games occupied most of the Kingswood programme, the matches with Bristol G.S., Taunton, Monkton Combe, Wycliffe and Prior Park all ending in this way, and the one school fixture brought to a definite conclusion gave them a win over Dauntsey's.

Old colours staying on: Lund (captain), Wright and Sergeant.

Despite the possession of three bowlers, T. L. R. Hill, A. R. E. Hill and Wheeler, who could all take wickets on cast-iron pitches, Lancing fared badly. This was due partly to uninspired fielding, but still more to unsteady and uneven batting—a fact all the more regrettable since the talent was there, failure being generally due to uncorrected errors. Woodward, who brought off some splendid cover-drives, appeared to most advantage in batting, but for the most part there was little reaction to coaching. A. R. E. Hill, slow left-hand with flight and spin, T. L. R. Hill, medium-fast right-hand, and Wheeler, a slow off-spinner, lent variety to the bowling.

Old colours staying on: Wagner (captain), Flood, T. L. R. Hill, Hatfield and Wootton.

Leeds G.S. hardly fulfilled their promise, too much being left to Warburton, the captain and outstanding player with bat and ball. Leeds took part in exciting finishes with Giggleswick and St. Peter's, York, the first match being lost and the second won. Carter, McLeod and Smith gave their captain most support. With eight of the side returning, this season should produce better results.

A streak of unsoundness in the batting of Leys lost them several games. When they did make runs, however, they did so with style and decision, D. M. Witherington, Skinner and White being most consistent. Well equipped with bowlers, they lacked only a medium-paced off-spinner. Muirhead and Laycock, one right-hand and the other left-hand and both genuinely fast for schoolboys, were supplemented by Skinner, right-hand, and A. J. Witherington, left-hand, both spin-bowlers. D. M. Witherington kept wicket admirably and White handled a good fielding side well.

Old colours staying on: White, D. M. and A. J. Witherington and Skinner.

The Malvern eleven failed to do themselves justice. The bowling, at the beginning of the season the chief worry, did all that was asked of it, few sides making anything over 250. Cronhelm and Cary, both medium-paced, who opened the bowling, did well and Shakespear enjoyed success with his slow leg-breaks. The batting disappointed throughout the term, except in the second innings of the Repton match when Malvern scored 388 for 7 declared in three hours. Norton and Manners played some good innings but the remainder could not produce their true form. Though the fielding was not always reliable, Denton-Thompson kept wicket efficiently. Six of the side stay on, with Manners again captain.

Merchant Taylors did well, winning seven of the twelve games played and losing only two of the seven school matches. They won those with King's, Canterbury, Christ's Hospital, Imperial Service College and Berkhamsted, experienced defeat against Douai and Beaumont, and drew with Aldenham. In the last-named fixture, Maxwell, who took in all 48 wickets for less than 10 runs apiece and claimed most credit for the success, secured six wickets for 36. Fox was the most consistent of the other bowlers. Apart from collapses against Douai and Beaumont, the batting was reliable, Kettle, Hart and Roper doing able work. The ground fielding reached a high standard and Weston kept wicket well. Old colours staying on Roper (captain), Harold, Wood, Fox, Maxwell, Weston and Roberts.

Mill Hill went through the melancholy experience of not winning a single match. Felsted, Highgate, Dulwich, Berkhamsted, St. Paul's and Leys all defeated them and Aldenham and Cranleigh drew. Dexter headed the batting averages but received little support from his colleagues. A heavy burden rested upon Webster and Scarf, who often bowled with scarcely a rest. Six old colours will be at Dexter's disposal this season.

Monkton Combe might be described as victims of overkeenness, for a plague of mumps visited the twelve boys who were enthusiastic enough to return for practice before term-time. Consequently the team was completely disorganised and, as finally constituted, played together in only three matches. In the circumstances, the results—one win, four losses and five draws-possessed little significance, but the eleven, though sometimes timid in batting, did well when pressed. During a tour in the West undertaken by eleven boys, two masters and the "pro," two out of the four matches were won. Powell, captain for the second year, can call upon six old colours.

Winning the matches with Trent and Bedford Modern, Oakham drew with Wellingborough and lost to Worksop. Both wins were the occasions of fine individual feats. Fisher, the captain, hit up 121 not out against Trent and Grier took nine Bedford Modern wickets for 23. These two will again be available, as well as Pollard and Donald, two bowlers of merit, Bradfield, Savage and Towns. The loss of Hamer, an all-rounder, and of Kirk, a first-rate batsman, will be felt.

In taking 79 wickets, Connaughton, captain of Cratory, set up a school record during a successful season which included wins against Beaumont, at Lord's, and Douai. Oratory were a great fielding side. Most of their runs came from Bodenham, Hurford-Jones, Connaughton, Binyon and Kelly. Hurford-Jones, the new captain, will have as many as nine old colours at his command.

Oundle, who beat Bedford and Leys, drew with Stowe and lost to Uppingham, were enterprising but rather unreliable in batting, and the bowling suffered from lack of variety. The fielding, however, was always good and sometimes brilliant. The outstanding members of the team were Mills, not sixteen years old, who had a batting average of 67, Conradi, Ringrose and Gilbert among the batsmen, and Shaw, who took 37 wickets for less than 15 runs each.

Old colours staying on: Payne (captain), Gilbert, Shaw, Mills, Brittain, Conradi and Nicholls.

Radley must be accounted one of the strongest as well as one of the most fortunate sides of the year. They demonstrated their powers by winning in a single innings over Bradfield and Lancing, over Stowe by seven wickets and Westminster by nine wickets. At Sherborne, the last two men stayed in for nearly an hour to save the game, thus exemplifying the claim that everyone in the side could bat reasonably well. When it is added that the real strength of the team lay in bowling and fielding, it becomes clear that Radley escaped most of the trials which normally beset a school. Falkiner, keeping a perfect length at a pace just above slow, took 68 wickets, including 14 against Bradfield, and Birks, captain again this year, if a trifle erratic, put up some fine performances, twice dismissing eight batsmen in an innings. Of the batsmen, Sell, though unorthodox in method, stood out by himself, Mackarness, despite occasional failures, showed himself to be a good natural player, and Medrington and Falkiner were a sound opening pair.

Old colours staying on: McIntosh, Grosvenor and possibly

Hamilton.

The Repton team was young and inexperienced, Fisher being able to call on only two old colours, Barnett and Hughes, both medium-paced bowlers. Fisher, himself the most reliable man in the attack, was unfortunately unable to play in the Uppingham match. As expected, the batting proved weak and too much depended upon Sale and Laing, the opening pair. Repton lost to Uppingham and Malvern and drew with Shrewsbury and Rugby. Six old colours remain under the continued captaincy of Fisher.

Rossall, with only two members of the 1936 eleven, never really recovered from several heavy defeats early in the season, although they did well to dispose of a strong Sedbergh side for 54 and to hold their own with Shrewsbury until the last innings. Though Heaton and Pocock made some useful scores, the remainder of the batsmen possessed few scoring strokes. Heaton, slow left-hand, the mainstay of the bowling, generally kept the batsmen playing. Lashmar, medium-right and Spry, slow off-breaks, enjoyed spells of effectiveness. Smith kept wicket soundly. Eight of the side, captained by Heaton, will be available for 1938 and better fortune is expected.

Rydal, in a dismal season drew with Birkenhead, lost by ten runs to Merchant Taylors', Crosby, and also to Liverpool. The bowling was adequate. Mellor, Kingston and Tattersall could all keep a length and Blackburn's leg-breaks met with some success. The fielding, too, was fairly good, but the batting was feeble throughout. Blackburn will continue the captaincy with six old colours under him.

- St. Edmund's, Canterbury, after an unpromising start in matches against clubs, jumped into form in school games, beating St. Lawrence, Sutton Valence and King's, Rochester, and having the best of draws with King's, Canterbury and Dover. Baylis was the outstanding batsman and Screeton, Lidgey and Pinhey, of whom the latter two are returning, bore the burden of the attack.
- St. Edward's won three, lost four and drew ten of their matches—many of them after having the best of the play. Henderson will captain the side in 1938 with Waldron, Churcher, Thursfield and George to support him. Great things are expected of Lewis, a stylish bat, but a new wicket-keeper and an opening pair of batsmen must be found. New fixtures arranged for this season include Bradfield and the M.C.C.

In winning five of their six school matches, St. Lawrence owed a great deal to the individual prowess of Colley and Gardner. Colley headed the batting figures and Gardner, the new captain, finished at the top of the bowling averages. Bridge, Dixon and Drayson all had their good days with the bat, and the fielding in the last few matches reached a high level. Larsen and James, the change bowlers, brought variety to the attack and a well-balanced side recorded victories over King's, Canterbury, Dover, Whitgift, Sutton Valence and Berkhamsted.

Old colours staying on: Drayson, Bridge and Larsen.

Considering that seven members of the successful 1936 eleven were available, St. Paul's did not fare as well as expected. They beat Felsted and Bedford by six wickets, Brighton by eight wickets and Mill Hill by ten wickets. On the other hand, they lost to Leys by five wickets and Dulwich by 83 runs. Yeatman, with nearly 500 runs, a fine bowling record and more catches than any other member of the side, played his part as captain to perfection, and Mischler, with a similar scoring feat and excellent wicket-keeping to his credit, was also outstanding. Totton and Russell between them took 74 wickets and Hasler was a valuable member of the attack.

Of a very young Sedbergh side, at least eight will be returning this year. Three matches against schools were won by big margins, though rain saved them from defeat in the game with Rossall, when the batting broke down badly. Sedbergh seldom encountered hard wickets—not a helpful experience for an untried side—but

D. J. F. Watson, the new captain, and Edwards made progress as batsmen and the virtue of steadiness marked the bowling of Avre and R. W. W. Watson.

The only victory of a disappointing Sherborne season came against Downside in the last match of the summer. They lost to Blundell's and, after being 80 runs ahead on the first innings, to Tonbridge, and drew with Radley and Westminster. The Westminster match would have been won but for missed stip catches. Glennie, the captain and wicket-keeper, headed the averages and Martin, Chignell, who will lead the side this year, and Williams made runs. Maddison bowled admirably at times.

That Shrewsbury, unbeaten, won eight and drew the other three of their matches, was due to team-work rather than to any one individual. At the same time, mention should be made of Pooley's fast-medium bowling throughout the season, and Baird's batting in the second half of June and in July. A feature was the number of close finishes, Shrewsbury Town being beaten by five wickets in the last over of the day, Malvern by four runs, the Cryptics by three runs, and the Shrewsbury Saracens and Uppingham by three wickets, the last-named with five minutes to spare. Groves succeeds Blagg in the captaincy and will be assisted by seven old colours.

Stonyhurst, who won five and lost four of their twelve matches, started badly, failing to win one of the first five games. Then they improved, winning five and losing only one of the remaining seven. Weak bowling caused the early lack of success, but later McQuaid bowled his leg breaks really well and came out with the fine figures of 34 wickets for less than 10 runs each. With no outstanding batsman, the team seldom made the runs expected of them. The fielding and catching were good, Costigan, a most successful wicket-keeper, stumping fourteen and catching five.

A seven-wickets defeat from Radley comprised the one blemish on Stowe's remarkably successful season. On this occasion the batting broke down and only a ninth-wicket stand saved the side from complete collapse. Stowe gained a victory by ten wickets over Westminster and drew with Oundle, Haileybury and Bradfield. Strong in batting, they recorded eighteen individual fifties, but Sherrard, the captain, outdistanced the rest with 678 runs and an average of 56.50. He hit a century against I Zingari, 99 not out against Haileybury and over 50 in each innings from the Oundle bowling. Buchanan, however, might have rivalled or even eclipsed him but for injury. Playing eight

695

innings, he totalled 294, including 101 during which he hit the ball out of the ground five times. Robinson receiving insufficient support, the bowling occasionally failed, though Phillips, Walsh and Earle all did good work at times.

Old colours staying on: Earle (captain), Hastings (wicket-

keeper), Phillips, Webster, Lowcock, Roche and Stobart.

Taunton proved their enterprise in batting when, having dismissed Blundell's for 286, they obtained the runs for the loss of seven wickets in two hours and a half. The great need was for an attacking fast bowler. On several occasions, after making an encouraging score, they could not get the other side out, although Walmsley, slow-medium left, placed good performances to his credit. Williams batted splendidly in most games, and Robison and Maclean played numerous good innings. These three will be at school this year.

University College School set victories over Berkhamsted, Bedford Modern and City of London against a heavy defeat by Leys and a less serious reverse at the hands of King's College School, Wimbledon. Drakeford was a powerful batsman, a good wicket-keeper and a capable captain, Warnock a useful opening bat and Ryder a skilful slow spin-bowler.

Old colours staying on: Freeman (captain), Hall, Record,

Fleming-Griffin, Suttill and Reid.

Interesting and exciting cricket marked the doings of Uppingham. They beat Repton after a number of extraordinary changes of fortune and Oundle as the result of some hard hitting; defeated Shrewsbury in an even game and lost to Rugby after a recovery and declaration. The Haileybury match was drawn, but produced some excellent batting. A general weakness on the leg stump detracted from the soundness of the rungetting, which also suffered from indecision in calling and slack running between wickets. Against these defects could be set great recuperative powers. Much strength lay at numbers 6 and 7 in the batting order, Pershke being most consistent. The bowling was steady, though too much work fell upon three mainstays, who fortunately proved dependable. Bainbridge at cover and Gillespie, at mid-off, stood out in an excellent fielding side.

Wellingborough, playing eleven matches, won two and lost seven. With six old colours, a better record had been expected. Of an unreliable set of batsmen, J. H. Reddy was easily the best and occasionally Day and Charnock showed promise, but a general absence of correct footwork and sound defence spoiled much of the play. The bowlers lacked both variety and length,

but the fielding was consistently good, Charnock being outstanding. R. D. H. Reddy kept wicket well.

Westminster deserved a better record than one win, eight losses and three draws. They gained their one victory against Charterhouse and time alone robbed them of wins over Wellington and Sherborne. Gawthorne was the only outstanding batsman, but both Andrews and Sinclair displayed fair consistency. The captain, Stocker, unfortunately did not find his form until late in the summer. Calway's 50 played an important part in the Charterhouse match. The bowling never looked dangerous, though Eyre accomplished steady work in the school matches. Wilkinson kept wicket ably, conceding no more than sixteen byes in as many innings. Old colours staying on: Gawthorne (captain), Calway, Eyre (both medium-fast bowlers), and Woodbridge (slow left).

Opportunities missed at critical moments accounted largely for Wellington's failures in school matches. Haileybury, Marlborough and Bradfield defeated them and the Charterhouse and Westminster games ended in draws. Though Eddison and MacLeod usually gave the team a good start, the batting of those who followed left much to be desired. McCall, when "under way," played attractively and Gracey showed considerable promise. The bowling lacked venom and, in the absence of real pace, not enough use was made of spin bowlers. Although the record of three won, five lost, two drawn reads rather dismally, Wellington accomplished two excellent performances in beating M.C.C. and Old Wellingtonians, in each case after a race with the clock.

Weymouth won three, lost six and drew two of their matches, beating Canford and Victoria College, Jersey, drawing with Monkton Combe and losing to King's, Bruton. The side suffered from the lack of change bowlers, for Stone and Rowland, the opening pair, received poor support. The batting, never strong, improved as the season progressed. Old colours staying on: Peachell, Rowland, Stones, Lemon, Hopkins and Waugh.

Whitgift enjoyed their best season since going to Haling Park, for they won six of the school matches, drew one and lost three. Graves was invaluable, batting and bowling with wonderful consistency and Bird proved reliable with the bat, figuring in several substantial first-wicket stands. Bangs and Foster also rendered good service. A notable performance was the scoring of 244 runs for six wickets in two hours and a quarter to beat M.C.C.

Worksop defeated Wellingborough, St. Peter's, York and Oakham, but lost close and exciting games with Trent and Denstone. The batting was unsteady, with Walker alone outstanding, but the bowling gave full satisfaction. Rhodes—a good name for a bowler if ever one existed—took 77 wickets for less than nine runs apiece, and will probably have another two years in the eleven. Tomkins, a left-hander, should give him the right support.

Wrekin, with only three old colours and the captain, Pelmore, handicapped by a strained back, lost to Denstone and Bromsgrove and beat Ellesmere with some ease. Denham towards the end of the season played some good innings. Grace and Wilford showed promise as batsmen and Fulton and Smith as bowlers. These five, as well as Pelmore, are still at school.

IN SCOTLAND

Edinburgh Academy without a success in school matches, suffered defeats from Fettes and Loretto and drew with Watson's, Merchiston and Glenalmond, but the side was better than the results indicate. Cosh, who will be captain again, made close upon 500 runs and averaged nearly 33. Five other old colours stay on. Fettes won three and drew two of their school matches, beating Loretto, Merchiston and Edinburgh Academy and drawing with Watson's and Glenalmond. The outstanding batsman, Turner, obtained an aggregate of 528 and an average of 44, and was well supported by Mitchell and Fordyce. Marjoribanks,

Mitchell, Fordyce and Orr all took wickets. Rain interfered with all but two of Glenalmond's school matches. In these exceptions Loretto won a capital game, despite a valiant last-wicket stand, and Fettes drew a desperately exciting and even struggle. Anderson, the captain, again batted well. Of the bowlers, Douglas took most wickets, Mann was often dangerous and Munro came on well. Kerr is the new captain, and six old colours are staying on. During a fairly successful season Loretto beat Edinburgh Academy, Watson's and Glenalmond, lost a close game with Merchiston by four runs, and were well beaten by Fettes. The side could bat down to No. 8, but, apart from Gillespie, the captain, who always scored quickly and well, no one was really consistent. Dewar's leg-breaks again met with considerable reward in school matches, his best feats being eight for 48 (including the hat trick) v. Edinburgh Academy, six for 68 v. Watson's, and five for 53 v. Glenalmond. McNeill, Gillespie and McInroy also achieved some useful performances. Old colours staying on: Dewar, McNeill, Cunningham, Simpson, McInroy and, possibly, Nairne. Merchiston Castle, captained by W. Q. Ballantyne, won five matches, lost three and drew nine. Ballantyne himself headed the batting averages, with Gruer the most successful bowler.

IN IRELAND

Belvedere, Dublin, a young team, were defeated in the final of the Leinster Schools Senior Cup after showing good form in earlier matches. Byrne, the probable captain for this year, and the outstanding bat, played stylishly with a delightful variety of strokes, and promises to follow in the steps of two famous Old Boys, E. A. Ingram and J. C. Boucher. Campbell College, Belfast won six and lost six of their sixteen matches. There were two outstanding personal performances, Pollock, the captain, scoring 666 runs with an average of over 55 and Huet taking 58 wickets at a cost of a shade more than 10 runs apiece.

EDITOR'S NOTE: Owing to the death of Mr. A. Podmore when this article was in the early stages of preparation, it was necessary to ask a number of schools for information which had been sent previously. For any inconvenience caused, I tender apologies, for the kind assistance given by Headmasters, games masters and school captains, I offer grateful thanks.

Following are the destinations of some of the members of last year's elevens:

	OXFORD	CAMBRIDGE
Alleyn's		E. L. Hart
Berkhamsted	J. R. E. Dixon	
Bishop's Stortford	L. E. McLean J. D. P. Stirling E. L. H. Jones E. H. Roach	
Bradfield	R. E. Henshaw P. J. Cave-Bigley P. J. Kenward	M. D. Tucker G. Paine
Brighton	A. K. Sharp	
Clifton	E. K. Scott	P. A. Wilson
Cranleigh	G. R. Skinner R. G. Armstrong	
Eton	N. W. Pragnell R. M. England	J. P. Mann F. F. T. Barnardo S. M. A. Banister
Giggleswick		E. S. Ainley
Harrow	M. D. Watson R. M. Seligman D. W. Stuart D. J. Q. Henriques	V. A. Carp
Highgate	J. K. G. Webb	R. S. Thornton
King's, Canterbury	R. A. Armstrong	C. H. B. Wauton

699

Eight wkts. 273

Publ	ic School Cricket	111 1931
	OXFORD	CAMBRIDGE
Kingswood	J. I. West P. J. Massey	R. J. K. Brown L. A. Scott-White
Leys	J. S. Laycock	N. H. Kidson
Malvern		N. W. Beeson
Marlborough	J. T. Bailward R. C. M. Bass	P. N. L. Terry A. B. Howard D. I. Graham
Mill Hill	G. W. Grey	
Monkton Combe	P. C. Wood	
Oundle	T. S. Ringrose	
Radley	D. N. Snell J. G. Mackarness	S. L. C. Medrington
Rossali		F. D. Robinson
Rugby	D. P. G. Elliot	D. M. Scott M. E. Whitelock S. G. Fowler
Rydal		G. P. S. Mellor
St. Edwards		D. H. A. Bell
St. Paul's	P. M. Reid	
Stowe		P. Sherrard I. C. S. Munro A. G. Buchanan
Tonbridge		J. R. Thompson E. C. Bousfield B. W. Cox
Wellington	S. O. I. Dawson M. G. Johnston	F. D. B. Eddison
Westminster		D. L. Wilkinson
Weymouth		H. A. L. Stone
	WOOLWICH	SANDHURST
Bedford	J. B. H. Daniel T. J. Cooke	
Clifton	R. J. G. Heaven	D. F. Callander
Glenalmond		J. Brown
K. C. S. Wimbledon		M. C. V. Newsome
Marlborough	J. H. Collins	
Oundle	J. M. H. Lewis	
Radley	R. R. G. Atkins	
Rugby	R. J. E. Inglis	
St. Paul's	G. M. Hasler	
Wellington	J. M. Brunskill	N. D'O. Finnis A. L. McCall
Weymouth		R. T. Prideaux
Wrekin		H. R. Murray

PUBLIC SCHOOL MATCHES IN 1937

For Eton v. Harrow, Rugby v. Marlborough, Cheltenham v. Haileybury and Clifton v. Tonbridge, See OTHER MATCHES AT LORD'S.

HIGHGATE SCHOOL v. MILL HILL SCHOOL

At Highgate, May 26. Highgate won easily. Continuing their innings they finished 122 ahead with two wickets standing. G. G. Harris hit a hundred for them.

Mill Hill School

A. I. F. Goldman b Morton 12 E. J. K. Patten b M. H. Webb 15 J. A. S. Scott b Morton 0 R. E. Dexter c Lloyd b Morton 67 G. A. Webster c and b Andrews 10 P. T. Parr st Tinquand b Morton 12	G. T. Clark lbw b Morton. 4 F. N. Rowell lbw b Morton 0 D. E. Dowlen not out. 13 P. Scarf b Morton 0 D. H. N Carter run out 5 Extras 13
	151
Highgate School	
J. K. G. Webb c and b Webster 34 K. C. Boosey b Scarf 31 J. M. Wilson c Dowlen b Carter 4 D. C. Tinquand b Carter 14 M. H. Webb b Webster 24	G. G. Harris not out

ST. JOHN'S SCHOOL, LEATHERHEAD v. EPSOM COLLEGE

At Leatherhead, May 26, Drawn.

H. S. Andrews c Parr b Carter 5

G. J. Ellerton did not bat.

Epsom College

b Harvey
n

St. John's School, Leatherhead

E. J. G. Ward not out A. F. Phillips not out	8	D. W. H. Davies, P. A. G. Learmond, P. McQ. Wilkinson, M. F. Skittery, C. P. Hewson, F. P. Richards, D. M. T. Harvey, P. G. C. Forbes did not bat.
. Ann		

One wkt 22

BANCROFT'S SCHOOL v. EMANUEL SCHOOL

At Woodford Green. May 29. Emanuel were rather fortunate to escape defeat, finishing 59 behind with two wickets to fall.

D. J. Q. Henriques b Fletcher 55 D. R. Hayward st Howard b

W. G. Stewart not out 16

Bancroft's School

N. Jones b Page J. A. McKerrow b Page. R. E. Lindsay b Emleton J. G. Drury b Page. H. A. van Ammel c Page b Thompson R. P. Spencer not out	A. S. Thompson st Kirk b Page 0 K. M. McLeod c Page b Thompson 1 Extras
Emanuel School	138
R. Burrows c Lindsay b van Ammel J. F. B. Embleton c van Ammel b McLeod F. G. Coniam c Drury b van Ammel J. E. Halligan b Lindsay J. W. St. Hill Davies c Drury b Spencer Priestman b McLeod	J. P. Kirk b Lindsay 0 6 T. H. Barnes not out 0 8 F. G. Thompson not out 1 7 Extras 13

HARROW SCHOOL v. MARLBOROUGH COLLEGE

At Harrow, May 29, Much the stronger batting side, Harrow won by 195 runs.

Harrow School

R. M. Seligman st Howard b Mallin-

W S P Lithgow c Howard b Mallin-

son 16

R. A. A. Holt c Howard b Graham 35

S. F. Gandar did not bat.

M. D. Watson c Fletcher b Mallinson 36 C. J. Sage run out	D. W. Stuart not out 25 Extras 10 Nine wkts. dec 309
Marlborough College	
D. I. Graham b Stuart	M, Jewell c and b Stuart 0 R. C. M. Bass lbw b Hayward 8 T. L. Tanner b Stewart 1 M. S. Mallinson c Seligman b Stewart 0 A. B. Howard not out 4 Extras 8
	114

SHERBORNE SCHOOL v. BLUNDELL'S SCHOOL

At Sherborne, May 29. P. P. Bloy, who took five wickets for 16 runs, and I. Harper, who scored a hundred, played a big part in Blundell's victory by four wickets.

Sherborne School M. S. Glennie c Bloy b Corrigan	R. F. S. Chignell Ibw b Bloy 0 J. B. Aylward b Bloy 23 A. L. A. Tasker not out 21 F. A. Coombe b Bloy 0 D. R. P. Maddison b Bloy 3 Extras 5
Blundell's School I. Harper c Bashford b Coombe 108 C. G. Parsons b Tasker 19 G. J. Habgood b Chignell 6 A. W. D. Beale c Aylward b Tasker 22 D. G. Hogg b Coombe 10	B. A. Smith c Lake b Coombe 0 A. D. Wood not out 0 P. P. Bloy not out 1 Extras 5
E. S. Jeffreys, T. W. E. Corrigan and	D. Chapman did not bat. Six wkts. 171

MARLBOROUGH COLLEGE v. WINCHESTER COLLEGE

At Marlborough, June 1. Thanks to a sound innings by H. A. Pawson and good bowling by G. E. Dixon (seven for 35) Winchester gained a thrilling victory by two runs.

Winchester College

Translation College	
P. H. C. Pawson b Graham 17 I. Stanning c Howard b Bailward 0 H. A. Pawson c Robinson b Bailward 77 R. B. Proud c Bass b Mallinson 11 W. B. Alexander c Bass b Mallinson 2 L. C. Kaye b Lacy-Scott 4	W. H. Cliff-Hodges b Bailward
	162
Marlborough College	163
R. C. Robinson b Palmer 18 D. I. Graham b Palmer 24 G. E. Fletcher b Dixon 14 P. N. L. Terry run out 45 D. G. Lacy-Scott c Davy b Dixon 0 G. C. Belbin c Stanning b Dixon 19	J. H. Collins st Davy b Dixon 19 R. C. M. Bass st Davy b Dixon 4 J. T. Bailward b Dixon 4 A. B. Howard st Davy b Dixon 1 M. S. Mallinson not out 1 Extras 12
	161

SHREWSBURY SCHOOL v. MALVERN COLLEGE

At Shrewsbury, June 2. Despite a gallant effort by G. I. D. Norton for Malvern. an exciting match ended in favour of Shrewsbury by four runs.

Shrewsbury School	
P. H. Blagg c Denton-Thompson b G. Cronhelm 19 E. H. S. Singleton c Manners b Shakespear 39 N. H. Bowring b Griffith 4 M. G. Crawford b Shakespear 14 A. F. Kingsford lbw b Shakespear L. M. Minford c G, Cronhelm b	D. W. M. Gay b Shakespear 2 J. B. V. Pooley c Manners b G. Cronhelm
Shakespear 33	175

Malvern College

N. W. Beeson c Blagg b Pooley 16 A. Bulmer c Kingsford b Pooley 10 H. G. W. Shakespear b Pooley 7 P. D. Manners c Minford b Pooley	R. O. H. Porch e Minford b Pooley 14 A. E. C. Griffith b Gay A. G. Denton-Thompson e Singleton b Gay G. N. Cronhelm not out R. W. L. Cary b Pooley Extras
	177

HAILEYBURY COLLEGE v. UPPINGHAM SCHOOL

At Haileybury, June 2, 3. Uppingham led by 136 on the first innings, but their bowlers received no help from the pitch and the match was left drawn. N. S. Harrison, the Haileybury captain, achieved the rare distinction of scoring a hundred in each innings.

Uppingham School

E. R. Vere-Hodge c and b Harrison. 48 R. E. Crighton lbw b Hildick-Smith. 64 R. A. Carr b Hildick-Smith. 64 E. A. Bland b Harrison. 43 P. Gillespie b Harrison. 73 W. J. Pershke lbw b Shephard. 25	- Deciman
	Eight wkts., dec. 404

A. Mackenzie and J. F. W. Ellerton did not bat.

Hailevbury College

Halleybury Conege	
N. S. Harrison c Mackenzie b Ellerton. 114 R. B. Robey b Taylor	
R. D. Jupp b Pershke 0 K. P. Botton b Ellerton 37 W. J. H. Shephard Ibw b Bland 28 W. A. W. St. George Ibw b Ellerton 19 G. Y. Hildick-Smith c and b Ellerton 2 O. D. Fisher b Ellerton 6	— not out
P. D. M. O'Beirne not out 4 Extras 9	Extras

TONBRIDGE SCHOOL v. DULWICH COLLEGE

At Tonbridge, June 4, 5. An even match ended in a draw, Dulwich finishing 47 behind with three wickets in hand. B, W. Cox (Tonbridge) and J. A. Barnett (Dulwich) excelled in batting.

Tonbridge School

J. R. Thompson c and b Jones	P. R. Stevens c Knight b Shirreff . 20 F. A. C. Maughan c and b Shirreff E. I. C. Wood lbw b Jones . 0 J. A. Dew lbw b Staniforth . 8 P. A. O. Graham b Shirreff . 0 Extras . 25 261
------------------------------	--

Dulwich College B. E. Collingwood c Wood b Stevens 12 G. R. Turner c Stevens b Kidson 1 G. S. Staniforth c Graham b Kidson 16 G. R. T. Williams b Stevens 1 A. C. Shirreff b Kidson 23	J. A. Barnett not out 71 H. P. Gray c Corker b Kidson 10 J. C. Bartlett b Stevens 52 D. V. Knight not out 6 Extras 22
	Seven wkts. 214

W. O. Thomas and T. D. Jones did not bat.

BLUNDELL'S SCHOOL v. DOWNSIDE SCHOOL

At Tiverton, June 5. A capital hundred by R. G. T. Hawkins enabled Downside to declare, but Blundell's made a splendid fight and saved the game.

| Downside School | R. L. Masters c Harper b Parsons. 60 | R. G. T. Hawkins b Bloy ... 107 | D. V. Brennan not out ... 18 | Extras ... 12 | J. M. H. Pollen b Jeffreys ... 14 | Four wkts, dec. 303

M. K. Crowder, I. F. M. Turnbull, P. E. Y. Dawson, S. R. D. Bell and R. G. Sheridan did not bat.

Sign Color Color	P. P. Bloy c Brennan b Addington. 18 C. G. B. Gidley not out 15 D. Chapman b Pollen 2 T. W. E. Corrigan not out 0 Extras 21
A. D. Wood b Addington 37	Eight wkts. 203

F. S. Jeffreys did not bat.

MARLBOROUGH COLLEGE v. WELLINGTON COLLEGE

At Mariborough, June 5. M. S. Mallinson, taking six wickets for 56 runs, helped Marlborough to a comfortable victory by 93 runs.

Wellington College	
F. D. B. Eddison c Fletcher b Mallin-	20
L. H. D. MacLeod b J. T. Bailward	36 13
P. B. K. Gracey c Graham b Mallin-	1
W. A. Tighe c Sale b Mallinson	2
D. J. Murray run out	39
A. L. Wecan c and b Wannison	. /

S. O. I. Dawson not out	25
A. Brunskin b J. T. Bailward	6
M. G. Johnston c Terry b Mallinson	5
I. A. Loveless c Fletcher b Mallin-	
son	4
N. D'O Finnis b Graham	13
Extras	2

163

705

MILL HILL SCHOOL v. ALDENHAM SCHOOL

At Mill Hill, June 5. Drawn. Aldenham finished 39 behind with four wicket in hand.

Mill Hill School

E. J. K. Patten c Bowman b Hobson D. E. Dowlen c Cryer b Luxton A. I. F. Goldman low b Hobson R. E. Dexter lbw (N) b Hobson G. A. Webster b Luxton P. T. Parr not out	19 P. Scarf b Hobson 3 0 G. W. Grey lbw b Argile 17 24 T. J. Wright b Argile 14 19 D. H. N. Carter lbw b Argile 0
	159

Aldenham School	
T. G. Argile lbw b Scarf 19 C. W. Dixon lbw b Scarf 6 P. B. Grigson b Webster 27 B. H. McCorkell lbw b Carter 3 J. A. Mence not out 31	P. L. Hobson st Grey b Wright 4 F. G. Berkeley b Carter 15 A. P. Bowman not out 3 Extras 12
3. 11, 11, 11, 11, 11, 11, 11, 11, 11, 11	Six wkts. 120

R. A. Sprent, K. D. Cryer and P. J. Luxton did not bat.

ROSSALL SCHOOL v. SEDBERGH SCHOOL

At Rossall, June 5. Little cricket took place in this drawn game. J. W. T. Lashmar, who took six wickets for 30, bowled well for Rossall.

Sedbergh School

R. H. Edwards c and b Lashmar 11 D. J. F. Watson lbw b Heaton 7 D. R. Gunn c Allsup b Lashmar 4	V. B. Cowdy b Heaton 6 W. Watson b Lashmar 0 E. W. Ayre c Robinson b Lashmar 2 M. Cullingworth not out 4 McDonald run out 0 Extras 3 54
---	---

Rossall School

Rossan School	-	K. C. Smith Ibw b Cowdy 0
F. D. Robinson Ibw b Ayre E. L. Allsup b R. W. Watson J. W. T. Lashmar not out	7	C. C. P. Pocock not out
		Three wkts. 31

J. A. Heaton, L. H. O. Williams, P. G. Cliffe, P. L. Pearce-Gould, R. G. Furness, and P. G. Spry did not bat.

TONBRIDGE SCHOOL V. SHERBORNE SCHOOL

At Tonbridge, June 5. Tonbridge, 83 behind on the first innings, made a splendid recovery, thanks to a fine hundred by J. R. Thompson, and won by 98 runs. B. N. S. Kidson, in Sherborne's second innings, took six wickets for 30.

Tonbridge School	
J. R. Thompson b Maddison 0 — b Tasker	103
E, C, Bousfield b Bashford 6 — c Glennie b Bashford	26
E. I. C. Wood c Chignell b Maddison . 0 — b Bashford	6
B. N. S. Kidson c Martin b Maddison 35 — c Glennie b Maddison	8
P. G. C. Wood c Glennie b Maddison 6 — b Maddison	0
D. G. W. Yeats-Brown c Bashford b	
Chignell 32 — Ibw b Maddison	1
P. Corker b Maddison	76
C. L. Welford b Ricketts	0
F. A. C. Maughan c Tasker b Bashford 16 — c Glennie b Bashford	30
P. R. Stevens not out	4
J. A. Dew b Bashford	4
Extras 2 Extras	20
	070
171	278
	2,0
Sherborne School	_,,
M. S. Glennie c and b Stevens 97 — b Kidson	
M. S. Glennie c and b Stevens 97 — b Kidson	36
M. S. Glennie c and b Stevens 97 — b Kidson	36 13 7 9
M. S. Glennie c and b Stevens 97 — b Kidson C. F. V. Martin c Dew b E. I. C. Wood 5 — lbw b E. I. C. Wood M. R. Geake b Kidson 11 — c P. G. C. Wood b Kidson P. H. Lake b Kidson 0 — c Dew b Kidson	36 13 7 9
M. S. Glennie c and b Stevens 97 — b Kidson C. F. V. Martin c Dew b E. I. C. Wood 5 — lbw b E. I. C. Wood M. R. Geake b Kidson 11 — c P. G. C. Wood b Kidson P. H. Lake b Kidson 0 — c Dew b Kidson D. F. Ricketts b Stevens 5 — c Thompson b Kidson	36 13 7 9
M. S. Glennie c and b Stevens 97 — b Kidson C. F. V. Martin c Dew b E. I. C. Wood 5 — lbw b E. I. C. Wood M. R. Geake b Kidson 11 — c P. G. C. Wood b Kidson P. H. Lake b Kidson 0 — c Dew b Kidson D. F. Ricketts b Stevens 5 — c Thompson b Kidson H. J. C. Bashford b Yeats-Brown 20 — b Yeats-Brown	36 13 7 9
M. S. Glennie c and b Stevens 97 — b Kidson C. F. V. Martin c Dew b E. I. C. Wood 5 — lbw b E. I. C. Wood M. R. Geake b Kidson 11 — c P. G. C. Wood b Kidson P. H. Lake b Kidson 0 — c Dew b Kidson D. F. Ricketts b Stevens 5 — c Thompson b Kidson H. J. C. Bashford b Yeats-Brown 20 — b Yeats-Brown	36 13 7 9 20 4 3
M. S. Glennie c and b Stevens 97 — b Kidson C. F. V. Martin c Dew b E. I. C. Wood 5 — lbw b E. I. C. Wood M. R. Geake b Kidson 11 — c P. G. C. Wood b Kidson P. H. Lake b Kidson 0 — c Dew b Kidson D. F. Ricketts b Stevens 5 — c Thompson b Kidson H. J. C. Bashford b Yeats-Brown 20 — b Yeats-Brown J. B. Aylward b Thompson 8 — c Thompson b Kidson	36 13 7 9 20 4 3 1
M. S. Glennie c and b Stevens 97 — b Kidson C. F. V. Martin c Dew b E. I. C. Wood 5 — lbw b E. I. C. Wood M. R. Geake b Kidson 11 — c P. G. C. Wood b Kidson P. H. Lake b Kidson 0 — c Dew b Kidson D. F. Ricketts b Stevens 5 — c Thompson b Kidson H. J. C. Bashford b Yeats-Brown 20 — b Yeats-Brown J. B. Aylward b Thompson 8 — c Thompson b Kidson R. F. S. Chignell lbw b Yeats-Brown 16 — lbw b Yeats-Brown A. L. A. Tasker b E. I. C. Wood 15 — not out F. A. Coombe not out 46 — b Yeats-Brown	36 13 7 9 20 4 3
M. S. Glennie c and b Stevens 97 — b Kidson	36 13 7 9 20 4 3 1
M. S. Glennie c and b Stevens 97 — b Kidson C. F. V. Martin c Dew b E. I. C. Wood 5 — lbw b E. I. C. Wood M. R. Geake b Kidson 11 — c P. G. C. Wood b Kidson P. H. Lake b Kidson 0 — c Dew b Kidson D. F. Ricketts b Stevens 5 — c Thompson b Kidson H. J. C. Bashford b Yeats-Brown 20 — b Yeats-Brown J. B. Aylward b Thompson 8 — c Thompson b Kidson R. F. S. Chignell lbw b Yeats-Brown 16 — lbw b Yeats-Brown A. L. A. Tasker b E. I. C. Wood 15 — not out F. A. Coombe not out 46 — b Yeats-Brown	36 13 7 9 20 4 3 1
M. S. Glennie c and b Stevens 97 — b Kidson C. F. V. Martin c Dew b E. I. C. Wood 5 — lbw b E. I. C. Wood M. R. Geake b Kidson 11 — c P. G. C. Wood b Kidson P. H. Lake b Kidson 0 — c Dew b Kidson D. F. Ricketts b Stevens 5 — c Thompson b Kidson H. J. C. Bashford b Yeats-Brown 20 — b Yeats-Brown J. B. Aylward b Thompson 8 — c Thompson b Kidson R. F. S. Chignell lbw b Yeats-Brown 16 — lbw b Yeats-Brown A. L. A. Tasker b E. I. C. Wood 15 — not out F. A. Coombe not out 46 — b Yeats-Brown D. R. P. Maddison lbw b E. I. C. Wood 20 — b Kidson Extras 11	36 13 7 9 20 4 3 1 0 2 2
M. S. Glennie c and b Stevens 97 — b Kidson C. F. V. Martin c Dew b E. I. C. Wood 5 — lbw b E. I. C. Wood M. R. Geake b Kidson 11 — c P. G. C. Wood b Kidson P. H. Lake b Kidson 0 — c Dew b Kidson D. F. Ricketts b Stevens 5 — c Thompson b Kidson H. J. C. Bashford b Yeats-Brown 20 — b Yeats-Brown J. B. Aylward b Thompson 8 — c Thompson b Kidson R. F. S. Chignell Ibw b Yeats-Brown 16 — lbw b Yeats-Brown A. L. A. Tasker b E. I. C. Wood 15 — not out F. A. Coombe not out 46 — b Yeats-Brown D. R. P. Maddison Ibw b E. I. C. Wood 20 — b Kidson	36 13 7 9 20 4 3 1

ETON COLLEGE v. HAILEYBURY COLLEGE

At Eton, June 8. A splendid second wicket stand of 171 between P. A. Walker and J. P. Mann paved the way for Eton's victory by six wickets.

Haileybury College	
N. S. Harrison c Walker b Garnier. 0 R. B. Robey b Garnier . 1 P. Burridge c de Rougemont b Garnier 0 P. J. Barton c Banister b Garnier 43 W. J. H. Shephard c England b Banister	K. P. Bolton c de Rougemont b Banister W. A. W. St. George c Marsham b Mann O. D. Fisher c England b Mann O. H. Joliffe c and b Banister O. Y. Hildick-Smith not out A. R. de C. Smith c and b Mann Description Extras 17
	204
E. C.	

Eton College P. A. Walker c Hildick-Smith b Smith 73 D. L. Curling b Smith 1 J. P. Mann not out 115 F. F. T. Barnardo c Bolton b Smith 1	J. F. Boughey c Bolton b Hildick- Smith
r. r. 1. Barnardo e Bonon o Sintin	Extras

R. M. England, S. M. A. Banister, R. C. de Rougemont, E. H. Garnier and H. O. Huntington-Whiteley did not bat.

ROSSALL SCHOOL v. SHREWSBURY SCHOOL

At Rossall, June 8, 9. Bowlers were generally on top in this match which Shrewsbury won by eight wickets.

Rossall School

706

F. D. Robinson c Blagg b D. Crawford E. L. Allsup c D. Crawford b Singleton. J. W. T. Lashmar c Groves b Singleton K. C. Smith c Kingsford b Singleton at C. C. P. Pocock lbw b Groves. J. A. Heaton c M. Crawford b Pcoley L. H. O. Williams c and b Minford P. G. Cliffe not out P. L. Pearce-Gould lbw b Singleton R. G. Furness lbw b Groves. P. G. Spry b Singleton Extra Singleton Branch Extra Singleton Singleton Extra Singleton Single	17 — b Pooley 6 — b D. Crawford 6 — lbw b Pooley 7 — c Kingsford b D. Crawford 41 — c Kingsford b D. Crawford 7 — lbw b Groves 16 — not out 8 — c Minford b Groves 1 — c Pooley b Singleton 3 — c Pooley b Ainsworth 1 6 Extras	2245331248
	120	12

Shrewsbury School

P. H. Blagg b Heaton E. H. S. Singleton c Cliffe b Lashmar N. H. Bowring lbw b Lashmar M. G. Crawford c Furness b Heaton A. F. Kingsford c and b Lashmar L. M. Minford c Allsup b Furness D. G. G. Baird b Spry M. L. Alnsworth b Furness A. T. G. Groves lbw b Furness A. T. G. Groves lbw b Furness J. B. V. Pooley c Pearce-Gould	23 — 51 — 1 — .12 7 .5 .0 .3	run out		20
Lashmar D. H. Crawford not out Extras	. 0	Extras	······	5
	111		Two wkts.	113

STOWE SCHOOL v. WESTMINSTER SCHOOL

At Stowe, June 9, 10. Consistent batting and steady bowling proved too much for Westminster, Stowe gaining an easy victory by ten wickets.

Westminster School

D. P. Gawthorne Ibw b Earle D. F. Cunliffe b Robinson K. S. Andrews c Webster b Sherrard P. Goatly c Webster b Munro S. J. Hammond c Hastings b Robinson J. C. S. Doll c Stobart b Phillips E. A. Sinclair Ibw b Earle J. W. Woodbridge b Robinson J. W. Woodbridge b Robinson	3 — c and o Multion 8 — c Phillips b Earle. 12 — c Hastings b Earle 1 — b Robinson 4 — c Hastings b Walsh. 1 — b Munro 12 — lbw b Earle 0 — c Munro b Earle 0 — not out 12 — Extras	01921543250117
	167	67

Stowe School I. C. S. Munro c Woodbridge b Hammond 44 — not out 25 H. C. Lowcock c and b Cunliffe 20 25 P. R. H. Hastings c Eyre b Andrews 20 20 J. P. Phillips run out 56 3.D. W. Stobart low b Doil 61 M. G. T. Webster c and b Stocker 10 10 C. D. Earle c Wilkinson b Eyre 0 0 P. Sherrard b Cunliffe 50 — not out 12	
J. Roche c Stocker b Andrews 5 T. P. Walsh not out 16 M. P. Robinson not out 12 Extras 6	
Nine wkts., dec, 300 No wkt. 37	7
WINCHESTER COLLEGE v. HARROW SCHOOL	
At Winchester, June 10, 11. Harrow had to follow on 100 behind, but W. S. P.	
Lithgow played a splendid innings and they easily saved the game.	
Winchester College P. H. C. Pawson lbw (N) b Watson 8	
J. Stanning c Lithgow b Hayward 92 - b Stewart	2
H. A. Pawson run out	
R. B. Proud lbw (N) b Watson 77 — c and b Carp 4 W. B. Alexander b Sage 48 — not out 11	
A. K. Bridges b Carp 7 — b Stewart	ì
W. H. Cliff-Hodges b Carp 0 H. T. Davy c Lithgow b Stuart 31	
R. J. Palmer b Stewart	
T. J. Blight b Stewart	
Extras 15 Extras 3	3
300 Three wkts. 62	-
Harrow School	-
V. A. Carp c and b Alexander 52 — b Blight 14	4
R. M. Seligman c Davy b Blight 9 R. A. A. Holt run out 32 — b Proud 38	0
M. D. Watson c Davy b Proud 66 — c Dixon b Proud 2	2
W. S. P. Lithgow lbw b Alexander 13 — not out 110 C. J. Sage b Blight 5 — c and b Alexander 48	
D. J. Q. Henriques c Davy b Blight 8	,
C. A. Halliday c Stanning b Palmer 2 — st Davy b Alexander 37 D. R. Hayward c Proud b Dixon 5 W. G. Stewart st Davy b Dixon 0	7
D. W. Stuart not out 3	
Extras 5 Extras 6	5
200 Five wkts., dec. 255	5

BRADFIELD COLLEGE v. RADLEY COLLEGE

At Bradfield, June 11, 12. F. Falkiner took eleven wickets in the match for 105 and Radley won by an innings and 47 runs. Dodlov College

Rauley College	
F. Falkiner lbw b Collins	Hon. H. R. Grosvenor Ibw b M. Paine 9 C. A. C. Hamilton c Henshaw b G. Paine 25 M. Constantine Smith b M. Paine 33 R. R. G. Atkins run out 0 Extras 6
	Name

M. D. Tucker c Sell b McIntosh	0 — c Falkiner b Birks	87101231
1.1	19	•

CHELTENHAM COLLEGE v. MARLBOROUGH COLLEGE

At Cheltenham, June 11, 12. Drawn. P. G. Geary (six for 50) bowled well for Cheltenham, who led by 50 on the first innings.

Cheltenham College			-
C. J. H. Paget b Lacy-Scott		- c Howard b Graham	0
D. C. Brooke-Taylor c. Howard b. Bailward C. R. Bourne c. Fletcher b. Mallinson H. F. Stevens b. Belbin S. Shelley st Howard b. Belbin D. Ruttledge c. Fletcher b. Belbin P. B. C. Moore not out A. J. Briggs c. and b. Lacy-Scott C. V. R. Barry b. Belbin	10 19 0 71 38 16	Ibw b Graham	19 12 0 6 21
P. G. Geary b Bailward S. C. S. Farmer b Bailward Extras	16	Extras Six wkts.	5
Marlborough College D. I. Graham c Stevens b Ruttledge G. C. Belbin c Stevens b Geary 17 G. E. Fletcher hit wkt b Briggs 37 P. N. L. Terry c Ruttledge b Barry 32 I. H. Collins c Barry b Geary 49	J	R. C. M. Bass c Geary b Briggs	12
D. G. Lacy-Scott b Geary 2		19	91

LANCING COLLEGE v. TONBRIDGE SCHOOL

At Lancing, June 11, 12. Deadly bowling by P. R. Stevens, who took eight wickets for 22 in Lancing's first innings and four for 35 in the follow-on, was mainly responsible for the victory of Tonbridge by nine wickets.

responsible for the victory			
Tonbridge School	part .		3.4
J. R. Thompson c Flood b A. R. E. Hill. E. C. Bousfield c Coates b A. R. E. Hill	54 —	not out	18
P. Corker c Wheeler b Coates	20	not out	0
P. Corker c Wheeler b Coates	37	not out	
B. N. S. Kidson b Wheeler	10		
B. W. Cox b T. R. L. Hill	18		
D. G. W. Yeats-Brown lbw (N) b			
A. R. E. Hill	22		
P. G. C. Wood c Coates b T. R. L. Hill	33		
E. I. C. Wood lbw (N) Wheeler	1		
F. A. C. Maughan b Wheeler	0		
P. R. Stevens not out	12		
J. A. Dew b T. L. R. Hill	1		-
Extras	5	Extras	1
LAUGS	workers		-
	191	One wkt.	49

Lancing College

R. S. Woodward Ibw b Stevens		- b Stevens	
P. C. R. Coates not out		— c Dew b Stevens	
R. J. Wheeler b Stevens		— b Kidson	
C. F. Rolt c Stevens b Kidson		Ibw b Stevens	
B. A. Wootton lbw b Stevens		— b Kidson	
A. P. Moore b Stevens		- c P. G. C. Wood b Kidson	
G. R. Flood c E. I. C. Wood b Stevens		— b Kidson	
T. L. R. Hill Ibw b Stevens		- not out	
M. G. Thornton lbw b Kidson		- lbw b Kidson	
Extras		Extras	
	-		- partners
	52		185

RUGBY SCHOOL v. CLIFTON COLLEGE

At Rugby, June 11, 12. Despite the splendid bowling of E. K. Scott, who took eleven wickets for 123, Clifton were beaten by 103 runs.

Rugby School

J. R. Bridger b Scott	56 — c Gibbs b Scott 44 0 — c Scott b Cleghorn 16 5 — b Mutter 47 0 — c Heaven b Scott 5 2 — not out 16 28 — c Mutter b Heaven 6 29 — c Gibbs b Cleghorn 2 3 — c Jones b Scott 17 1 — c	777
2	33 148	2

Clifton College

A. R. Mutter st Scott b Bridger 42 — c Bridger b Markland 10	
P. A. Wilson c and b Inglis 0 — c Scott b Whitelock 3	
G. A. Gibbs c Elliot b Bridger 15 — c Elliot b Kershaw	
E. K. Scott c Inglis b Markland 1 — c Markland b Bridger 48	
R. J. G. Heaven b Bridger	
R. F. S. Jones c Scott b Bridger 6 — c Fowler b Kershaw 0	
R. C. R. Williams b Bridger 1 — b Kershaw 9	
D. F. Callander b Bridger 28 — b Kershaw	
E. F. Frazer b Inglis 0 — not out	
C. E. N. Hooper c Payne b Whitelock 30 — b Bridger 0	
W. I. Cleghorn not out	
Extras	
AND THE PROPERTY OF THE PARTY O	
The state of the s	

UPPINGHAM SCHOOL v. REPTON SCHOOL

At Uppingham, June 11, 12. Repton could do little with the bowling of J. F. W. Ellerton, who took seven wickets for 15 runs, and although they made a good recovery in their second innings they suffered defeat by five wickets.

Repton School

R. Sale st Vere-Hodge b Ellerton	17 — c Ellerton b Bland 48
J. F. B. Laing c and b Ellerton	12 — c McKenzie b Pershke 58
J. D. H. Riches c Carr b Ellerton	6 — c Bland b Pershke 2
D. V. B. Unwin c Vere-Hodge b Bland	3 — Ibw b Ellerton
J. A. I. Fillingham lbw b Bland	0 — run out 0
J. C. Barber Ibw b Ellerton	11 — b Bland 2
J. H. Hughes c Carr b Ellerton	0 — b Bland 1
H. C. S. Armstrong lbw b Ellerton	0 — b Pershke 19
M. S. C. Kennedy c Crighton b Ellerton	4 — b Bland 6
E. A. Crane lbw b Bland	1 — c Carr b Ellerton
A. H. Barnett not out	5 — not out
Extras	6 Extras 16
	65 231
Uppingham School	
E. R. Vere-Hodge c Kennedy b Barnett	5 — 1bw (N) b Hughes

E. R. Vere-Hodge c Kennedy b Barnett R. E. Crighton lbw b Crane R. A. Carr b Barnett E. A. Bland b Armstrong P. Gillespie c Sale b Hughes W. J. Pershke st Kennedy b Riches.	1 — 21 — 24 — 1 —	not out
A. D. Englefield b Crane	42 — .14	
J. F. W. Ellerton not out	8	Extras 8
	170	Five wkts. 127

170 ETON COLLEGE v. CHARTERHOUSE SCHOOL

At Eton, June 12. C. W. S. Lubbock batted in fine form for Charterhouse, who declared with six men out, but Eton fought back well and when the match was left drawn they stood 25 behind with three wickets left.

Charterhouse School

A. K. Hughes st England b Mann . A. B. Allen c Marsham b de Rougemont
Management of the last last last last last last last last

Six wkts., dec. 272 H. C. N. Oulton, G. W. Rothery and K. MacLean did not bat.

Thom Callogo

Eton Conege		
P. A. Walker b Oulton	A. J. Marsham b Oulton M. W. Bagnell b Oulton R. C. de Rougemont not out H. O. Huntington-Whiteley not out Extras	4 2 8
		_

Seven wkts. 247

DOVER COLLEGE v. ST. LAWRENCE COLLEGE, RAMSGATE

At Dover, June 12. St. Lawrence won by 80 runs. G. F. Colley, their captain, batted extremely well.

St. Lawrence College, Ramsgate

P. M. Vicary lbw b Mott	J. F. Cowell b Bloy 0 T. C. Larsen st Harland b Bloy 1 P. J. Fawkner-Corbett lbw b Mott. 0 R. A. Child b Gordon 10 P. H. James b Bloy 11 Extras 9
Dover College	A P Printer & Colley

A. Dawes lbw (N) b Drayson 3 G. C. W. Harland b James E. B. Dawes b James W. R. Barrett c Child b Gardner N. C. F. Bloy c Cowell b Gardner P. S. Field not out, 6	2 I. J. G. McCrae c Colley b Larsen . 2 J. F. Gordon b Drayson . 0 R. G. Delves c Gardner b Drayson 3 D. R. Mott b Drayson .
	13

WINCHESTER COLLEGE v. CHARTERHOUSE SCHOOL

At Winchester, June 15. When the match was left drawn Charterhouse, with one wicket to fall, required 25 for victory.

Winchester College

Willenester Conege	
P. H. C. Pawson b Rothery 3 J. Stanning b Lubbock 34 H. A. Pawson c Beane b Lubbock 24 R. B. Proud c Beane b Lubbock 38 M. W. M. Osmond c Allen b Coggins 15 A. H. Bridger b Hughes 15	H. T. Davy c MacCunn b Lubbock 74 R. J. Palmer lbw b Rothery 8 R. A. Henley b Lubbock 4 P. W. G. Hulbert not out 6 G. E. Dixon b Lubbock 6 Extras 12
	220

Charterhauga School

Charternouse School	
P. C. Weeks c Henley b Dixon 46	A. B. Allen b Palmer
D. D. Crofts c Stanning b Palmer . 0	P. W. Coggins not out
J. A. Crompton run out 26	R. C. MacCunn st Davy b Dixon
P. F. Beane c Henley b Hulbert 34	G. W. Rothery b Hulbert
C. W. S. Lubbock c Hulbert b Dixon 5	H. C. N. Oulton not out
A. K. Hughes st Davy b Dixon 19	Extras

Nine wkts. 215

LEYS SCHOOL v. FELSTED SCHOOL

At Cambridge, June 15. Felsted won by four wickets.

Leys School

W. N. White low b Manners K. W. Oldham c Crouch b Palmer D. M. Witherington c Bullough b Palmer D. A. Skinner b Palmer A. T. Pepper c Palmer b Manners A. J. Witherington b Sorrell	3 9 7 3	M. E. Bate b Sorrell
		-

E. H. Garnier and S. M. A. Banister did not bat.

5 132

Felsted School J. Bullough not out 34 R. J. Van Leuven st D. M. Wither-E. W. A. Bostock b Laycock 4 ington b White 2 M. W. Wilkes c D. M. Witherington P. H. Palmer b Skinner 3 b Laycock 24 E, R. G. Sandys not out V. Sorrell c Laycock b Skinner . . 52 Extras 8 E. A. S. Manners st D. M. Witherington b Skinner 0 J. F. D. Castle, B. C. Abrams and R. Crouch did not bat. Six wkts. 133 BLUNDELL'S SCHOOL v. TAUNTON SCHOOL At Tiverton, June 16. Despite a fine hundred by C. G. Parsons, Blundell's could not force a win, Taunton finishing 26 behind with three wickets in hand. Blundell's School D. G. Hogg b Evans 2 I. Harper lbw (N) b Walmsley 32 B. A. Smith b Evans 0 C. G. Parsons c Wilcox b Evans ... 104 G. J. Habgood b Wood...... 86 P. P. Bloy not out 10 A. W. D. Beale st Pennington b C. G. B. Gidley c Pennington b MacLean 21 Wood..... Extras 13 A. D. Wood run out 0 Eight wkts., dec. 277 T. W. E. Corrigan and F. S. Jeffreys did not bat. Taunton School J. R. E. Evans c Smith b Bloy P. M. Bennett Ibw b Corrigan 27 B. E. Stone c Habgood b Bloy J. D. Wilcox c Beale b Jeffreys 5 R. A. Robison c Parsons b Bloy ... 80 D. L. Walmsley not out Extras 18 M. A. L. Williams c Wood b Bloy . 64 R. MacLean c Jeffreys b Gidley ... 45 Seven wkts. 251 A. B. Wood, G. A. Pennington and A. P. Henderson did not bat. WORKSOP COLLEGE v. WELLINGBOROUGH SCHOOL At Worksop, June 16. J. R. M. Tomkins and P. E. F. Rhodes bowled so skilfully that Wellingborough were routed, Worksop winning by 137 runs. Worksop College P. L. Martyn run out J. B. C. Teale b Sears W. S. P. Ward lbw b Ford 0 G. Duke c Brown b Sears D. Collinge b Roose 19 P. E. F. Rhodes c R. Reddy b Ford 20 P. A. Kingston b Sharman 34 D. E. C. Coleman b Ford 14 J. R. M. Tomkins c Ford b Sharman 8 Extras 9 200 Wellingborough School R. D. H. Reddy lbw b Tomkins .. 0 W. J. Day b Rhodes 4 M. E. Roose c Evans b Tomkins . . L. T. Ford Ibw b Tomkins 2 G. B. Sharman c Walker b Tomkins 0 R. W. Wade c Evans b Rhodes ... C. M. Sears hit wkt. b Rhodes A. E. Brown c and b Rhodes 12

P. H. C. Charnock b Rhodes 1

Extras

MERCHANT TAYLORS' SCHOOL v. BERKHAMSTED SCHOOL

At Sandy Lodge, June 17. Merchant Taylors' declared with two men out and won by 29 runs.

Merchant Taylors' School

A. Roper lbw b Isherwood K. B. Kettle not out	J. L. Hart b Clarke 63 H. G. L. Lawson not out 17 Extras 10	7
	Extras 10)

Two wkts., dec. 185 H. Harold, C. A. W. Weston, J. N. Ratcliffe, M. Roberts, I. C. M. Maxwell, R. J. B. Fox and N. P. Wood did not bat.

Berkhamsted School

J. R. E. Dixon lbw b Wood	17 5 7 28	W. A. R. Daly c Roberts b Maxwell G. H. Campbell b Roberts. A. W. Clarke c Lawson b Roberts . V. L. Parham c Ratcliffe b Fox . R. Pennington not out .	12 4 25 19

RADLEY COLLEGE v. LANCING COLLEGE

At Radley, June 18, 19. Radley's all-round strength proved too much for Lancing, who were defeated by an innings and 61 runs. J. G. Mackarness made a capital hundred for Radley.

Radley College

F. Falkiner c Flood b Holt	Hon, R. H. Grosvenor b Coates

Lancing College

R. S. Woodward c Ruck Keene b Falkiner 18 — c Constantine Smith b Falkiner A. R. E. Hill Ibw b Birks 4 — c Constantine Smith b Atkins. G. A. Wagner Ibw b Birks 19 — c Ruck Keene b Atkins P. C. R. Coates c Sell b Birks 42 — Ibw b Atkins P. C. R. J. Wheeler b Atkins 21 — c Atkins b Falkiner P. E. Jaques c Sell b Falkiner 2 — c Sell b Falkiner P. E. Jaques c Sell b Falkiner 5 — c Hamilton b Sell M. J. Bonner b McIntosh 0 — c Constantine Smith b McIntos C. F. Rolt c and b Falkiner 5 — c Hamilton b Sell M. J. Bonner b McIntosh 0 — c Falkiner b Birks G. R. Flood not out 0 — not out 1 — c Sell b Birks 4 — Extras 4 — Extras 4 — Extras	10 21 0 5 25 sh 12 25 1
126	140

Fottes College

CITY OF LONDON SCHOOL v. WHITGIFT SCHOOL

At Grove Park, June 19. D. H. F. Graves caused a City of London collapse and Whitgift won by 45 runs.

Whitgift School D. H. F. Graves c Chapman b McGlashan	T. R. Foster c Garland b Dale
City of London School P. C. Pillow c Bangs b Graves 1 A. M. Garland lbw b Graves 1 J. P. McGlashan lbw b Graves 0 D. M. Chapman b Foster 46 D. G. Harman c Bird b Graves 12 M. D. Dale c Bangs b Graves 0 B. J. Jackson b Bangs 2	J. D. Fraser c Waterhouse b Foster 4 A. L. Garrett lbw b Graves

GLENALMOND TRINITY COLLEGE v. FETTES COLLEGE

At Glenalmond, June 19. Drawn, when Glenalmond, with one wicket to fall, needed 11 runs for victory.

G. A. Turner c and b Mann	I. Crawford c Browne b Mann 12 F. E. T. Dann lbw b Mann 1 D. M. Orr b Mann 2 I. D. Marjoribanks not out 5 Extras 10
Glenalmond Trinity College I. W. V. Browne c Turner b Marjoribanks	W. R. Kerr b D. D. Mitchell 7 J. Brown c I. G. G. Mitchell b Marjoribanks
	Nine wkts. 98

MALVERN COLLEGE v. CHELTENHAM COLLEGE

At Malvern, June 19. Cheltenham lost five wickets for 47 before P. B. C. Moore and D. Ruttledge enabled them to recover and save the game.

Malvern College		
J. N. Cronhelm b Geary 16	A. E. C. Griffith c Geary b Ruttledge	
A. Bulmer b Geary	A. G. Denton-Thompson c Stevens b Moore G. N. Cronhelm b Moore R. W. L. Cary not out	19
H. G. W. Shakespear b Geary 40 R. A. Young c Briggs b Geary 15 R. O. H. Porch c Stevens b Geary 29	Extras	
R. O. M. Poten c Stevens b Geary 29		219

Cheltenham College	
C. J. H. Paget C. Manners b. G. Cronhelm 19 D. C. Brooke-Taylor c Thompson b. G. Cronhelm 1 C. R. Bourne c Porch b. G. Cronhelm 2 H. F. Stevens c J. Cronhelm b. G. Cronhelm 21 S. Shelley b Shakespear 2 S. C. S. Farmer and P. G. Geary did no	D. Ruttledge b Griffith

MARLBOROUGH COLLEGE v. ETON COLLEGE

At Marlborough, June 19. Marlborough gained a well-deserved victory by 91 runs. They owed almost everything to a fine hundred by D. G. Lacy-Scott.

R. C. Robinson c Mann b Hunting- ton-Whiteley 6 D. I. Graham lbw b Mann 22 J. A. Owen not out 9 G.J. Redfearn c and b Banister 2 J. T. Bailward b Darell 4 M. S. Mallinson lbw b Huntington- Whiteley 1 Extras 21
219

Eton College	
P. A. Walker c Redfearn b Bailward	6 R. C. de Rougemont Ibw b Redfearn 8
D. L. Curling b Lacy-Scott 1	7 J. L. Darell c Fletcher b Mallinson 8
J. P. Mann c Howard b Bailward 4	4 H. O. Huntington-Whiteley c and b
F. F. T. Barnardo lbw b Redfearn . 39	9 Mallinson 4
J. F. Boughey lbw b Mallinson 14	4 S. M. A. Banister b Bailward 1
P. H. Thomas b Graham	5 Extras 5
R. M. England not out	
	128

STOWE SCHOOL v. HAILEYBURY COLLEGE

At Stowe, June 19. This drawn game was notable for a fine innings by P. Sherrard, the Stowe captain.

Stowe School	
P. Sherrard not out	J. D. W. Stobart c Hildick-Smith
I. C. S. Munro c Bolton b Shephard 34	
H. L. Lowcock b Harrison 0	
J. P. Phillips b Shephard 4	Extras 6
	attice.

M. G. T. Webster, P. R. H. Hastings, J. Roche, M. P. Robinson and T. P. Walsh did not bat.

Haileybury College	
N. S. Harrison not out	18 W. J. H. Shephard c Hastings b 11 Robinson
	P. Burridge not out 1 Extras 4

Two wkts. 37
P. J. Barton, W. A. W. St. George, K. P. Bolton, R. B. Jones, R. D. Jupp,
G. Y. Hildick-Smith and A. R. de C. Smith did not bat.

717

135

28

Public School Cricket in 1937 ORATORY SCHOOL v. BEAUMONT COLLEGE

At Lord's, June 23. Oratory were indebted mainly to E. M. Binyon for their victory by 22 runs.

Oratory School P. G. Hurford-Jones Ibw (N) b R. Quane 0 0 R. Cuming b Tyndall 13 J. M. Connaughton C. Rigby b 7 Tyndall 7 M. C. Bodenham b Ruane 9 E. M. Binyon not out 54 G. Gough b Ruane 5	R. Snepp b Ruane 1 P. Kelly b Ruane 33 C. A. Bodenham c Pritchard b Tyndall 0 G. Moore b Tyndall 1 N. Neville b Tyndall 1 Extras 18
Beaumont College W. J. Goldsmith run out	K. M. Nixon not out 22 P. Dudding lbw b Connaughton. 0 J. Cashin c Gough b C. A. Bodenham 7 A. Rigby run out 16 J. D. Ruane b Connaughton 4 Extras 13

REPTON SCHOOL v. SHREWSBURY SCHOOL

At Repton, June 23. Batsmen held the upper hand throughout this drawn game.

Shrewsbury School P. H. Blagg b Armstrong	G. D. Lane c Fisher b Riches 11 D. G. G. Baird not out 24 A. T. G. Groves b Crane 24 J. B. V. Pooley not out 10 Extras 15
	Seven wkts., dec. 257

D.	W.	M.	Gay	and	D.	H.	Crawford	did	not	bat.
----	----	----	-----	-----	----	----	----------	-----	-----	------

Repton School R. Sale c Minford b Gay 63 J. F. B. Laing b Crawford 19 J. D. H. Riches b Crawford 3 J. C. Barber lbw B Singleton 37	J. H. Hughes b Crawford 14 E. A. Crane not out 12 F. F. Fisher not out 5 Extras 10
A. I. D. Prentice b Pooley 16	Six wkts. 179

A. H. Barnett, M. C. S. Kennedy and H. C. S. Armstrong did not bat.

RADLEY COLLEGE v. STOWE SCHOOL

At Radley, June 24. Splendid all-round cricket by F. Falkiner, who took eight wickets for 68 and scored 63, helped Radley to an easy victory by seven wickets.

Stowe School P. Sherrard c Falkiner b Atkins	M. G. T. Webster c Birks b Falkiner 26 P. R. H. Hastings lbw b Atkins
--	---

Radley College		
S. L. C. Medrington Ibw b Walsh 45	D. T. M. Birks not out	44
F. Falkiner c Roche b Sherrard 63	D. N. Sell not out	16
J. G. Mackarness b Phillips 25	Extras	9

Three wkts. 202 H. W. McIntosh, M. C. Smith, Hon, H. R. Grosvenor, C. A. C. Hamilton, R. R. G. Atkins, and H. W. A. Ruck Keene did not bat.

ETON v. WINCHESTER

At Eton, June 25, 26. Drawn. Eton made such a splendid recovery after being 71 behind on the first innings that they declared and set Winchester the task of scoring 259 in two and a half hours. The fast-medium bowling of Garrow, who brought the ball back sharply from the off, caused considerable trouble to Eton. Alexander and Dix also bowled well and Davy showed capital form behind the stumps. Hard hitting by Alexander and Proud put Winchester in a good position, but the best innings of the match came in Eton's second innings from Curling. Curling used a variety of well-timed strokes, his driving being particularly effective. The arrears were cleared for the loss of one wicket and the Winchester attack was thoroughly mastered. Winchester experienced some anxious moments, but although Eton claimed the extra half hour they could not force a victory.

Lion
Mr. P. A. Walker c Alexander b Dixon 33 — c and b Garrow 33
L-b 4, w 1 5 B 6, 1-b 2 8
L-0 4, W 1 5 B 0, I-0 2 8
Seven wkts., dec. 329
Winchester
Mr. J. Stanning c de Rougemont b
HWhiteley 3 — st England b Mann 7
Mr. P. H. Pawson c Mann b Darell 0 — c Barnado b de Rougemont . 13
Mr. H. Pawson b Mann
Mr. R. B. Proud st England b Mann 41 — c and b Mann 9
Mr. W. B. Alexander b HWhiteley 55 — b Banister 22
Mr. M. W. Osmond not out
Mr. H. T. Davy c England b HWhiteley. 28 — b Banister
Mr. I. P. Garrow run out
Mr. R. J. Palmer b Darell 5
Mr. T. W. Hulbert b Mann 1
Mr. G. E. Dixon c Mann b HWhiteley 0
B 10, l-b 6, w 1, n-b 1
Manager Manager
229 Six wkts. 134
Winchester Bowling
Overs Mdns, Runs Wkts, Overs Mdns, Runs Wkts,
Palmer 11 0 38 0 19 2 39 1
Palmer 11 0 38 0 19 2 39 1 Hulbert 12 5 24 1 4 1 11 0 Garrow 18 4 29 4 16 6 52 1
Hulbert
Garlow 16 4 29 4 10 0 32 1

51

H. Pawson

Dixon 25 Alexander.....

Of the 104 matches mentioned above, Eton have won 53 and Winchester 26,

719

231

Eton Bowling	Overs	Mdns.	Runs	Wkts		Overs	Mdns.	Runs	Wkts.
Darell	12	1	39	2		12	5	8	0
Huntington- Whiteley		8	38	4		12	5	17	0
Mann de Rougemont	12	1 1 2	19 51 26	3			2	42 30	2 1
Banister	10	3	24 14	0	••••		6	21	3

Umpires: D. H. Tregear and E. H. Sweetland.

	RESULTS OF ETON AND	WINC	HESTER MATCHES
1826	Winchester won by 53 runs	1882	Winchester won by an innings
1829	Eton won by four wickets	1002	and 20 runs
1830	Winchester won by eight wkts.	1883	Winchester won by 224 runs
1832	Eton won by inns. and 10 runs	1884	Eton won by five wickets
1833	Eton won by 14 runs	1885	Drawn
1834	Eton won by 13 runs	1886	Eton won by eight wickets
1835	Eton won by five wickets	1887	Eton won by nine wickets
1836	Eton won by two wickets	1888	Drawn
1838	Winchester won by an innings	1889	Winchester won by 114 runs
	and 34 runs	1890	Drawn
1839	Eton won by 108 runs	1891	Winchester won by five wickets
1840	Winchester won by 43 runs	1892	Winchester won by 84 runs
1841	Winchester won by 109 runs	1893	Eton won by five wickets
1842	Eton won by seven wickets	1894	Eton won by five wickets
1843	Winchester won by eight wickets	1895 1896	Eton won by innings and 87 runs Winchester won by eight wickets
1844	Eton won by 27 runs	1897	Winchester won by 51 runs
1845	A Tie	1898	Drawn
1846	Eton won by innings and 55 runs	1899	Eton won by one wicket
1847	Eton won by innings and 78 runs	1900	Drawn
1848 1849	Eton won by 65 runs Eton won by innings and 27 runs	1901	Eton won by two wickets
1850	Eton won by five wickets	1902	Eton won by four wickets
1851	Winchester won by 26 runs	1903	Eton won by 43 runs
1852	Winchester won by 30 runs	1904	Winchester won by eight wickets
1853	Winchester won by 35 runs	1905	Drawn
1854	Winchester won by three wickets	1906	Drawn
1855	Eton won by 46 runs	1907	Winchester won by nine wickets
1856	Eton won by innings and 4 runs	1908	Eton won by innings and 14 runs
1857	Eton won by innings and 31 runs	1909	Drawn
1858	Winchester won by one wicket	1910	Drawn
1859	Winchester won by three wickets	1911	Eton won by 58 runs
1860	Eton won by 19 runs	1912	Eton won by innings and 46 runs
1861	Eton won by nine wickets	1913	Eton won by innings and 47 runs
1862	Eton won by one wicket	1914	Drawn Winchester won by 69 runs
1863	Eton won by inns. and 194 runs	1920	Winchester won by 131 runs
1864	Eton won by nine wickets	1921	Eton won by seven wickets
1865	Drawn Eton won by ten wickets	1922	Drawn
1866 1867	Eton won by inns. and 10 runs	1923	Drawn
1868	Eton won by eight wickets	1924	Eton won by innings and 19 runs
1869	Eton won by inns. and 36 runs	1925	Drawn
1870	Winchester won by one wicket	1926	Drawn
1871	Winchester won by 8 runs	1927	Drawn
1872	Eton won by inns. and 125 runs	1928	Drawn
1873	Eton won by five wickets	1929	Drawn
1874	Eton won by inns. and 202 runs	1930	Eton won by seven wickets
1875	Eton won by five wickets	1931	Eton won by two wickets
1876	Eton won by inns. and 99 runs	1932	Drawn
1877	Eton won by inns. and 121 runs	1933	Drawn
1878	Winchester won by six wickets	1934	Drawn
1879	Eton won by 45 runs	1935 1936	Drawn Drawn
1880	Eton won by 9 runs	1937	Drawn
1881	Eton won by six wickets	1937	Diani

one has ended in a tie and 24 have been drawn. The one-day matches during the War were not reckoned as belonging to the regular series.
SHREWSBURY SCHOOL v. UPPINGHAM SCHOOL
At Shrewsbury, June 25, 26. Shrewsbury won an even game by three wickets.
Uppingham School E. R. Vere-Hodge c Blagg b Pooley 0 — c Blagg b Groves 17 R. E. Crighton Ibw b Pooley 1 — c Groves b Gay 26 R. A. Carr Ibw b D. Crawford 20 — Ibw b Groves 33 E. A. Bland Ibw b Groves 8 — b Pooley 0 P. Gillespie c M. Crawford b D. Crawford 5 — c Baird b Singleton 30 W. J. Pershke st Blagg b Gay 71 — b Singleton 44 A. T. W. Taylor c Minford b Gay 30 — c Pooley b Gay 37 P. B. Leckie c Minford b Gay 29 — Ibw b Pooley 3 W. Bainbridge Ibw b Gay 0 — c and b Singleton 1 F. R. Charles c Lane b Pooley 5 — b Pooley 9 K. R. T. Mackenzie not out 4 4 — not out 4 Extras 10 Extras 21
Cl. 183 221
Shrewsbury School P. H. Blagg b Mackenzie 3 — c Bland b Mackenzie 9 E. H. S. Singleton run out 15 — b Leckie 40 N. H. Bowring b Charles 7 — c Gillespie b Bland 45 M. G. Crawford b Mackenzie 4 — c Bland b Leckie 26 L. M. Minford b Charles 27 — b Leckie 0 G. D. Lane b Pershke 14 — b Bland 3 D. G. G. Baird not out 68 — not out 14 A. T. G. Groves run out 7 — b Bland 31 J. B. V. Pooley c Vere-Hodge b Bland 0 — not out 6 D. W. M. Gay b Pershke 47 D. H. Crawford c Mackenzie b Pershke 3 Extras 17
Seven wkts. 191
CHARTERHOUSE SCHOOL v. HARROW SCHOOL
At Charterhouse, June 25, 26. For their victory by 17 runs, Charterhouse owed a lot to C. W. S. Lubbock, who took seven wickets for 21 runs when Harrow went in to get 180.
Charterhouse School P. C. Weeks c Seligman b Stuart 36 — c and b Watson 39 D. D. Crofts c Henriques b Stuart 19 — c Lithgow b Stuart 14 J. A. Crompton c Seligman b Stewart 41 — c Seligman b Stewart 2 P. F. Beane lbw b Watson 8 — lbw b Stuart 7 C. W. S. Lubbock b Stewart 13 — c Watson b Hayward 32 A. K. Hughes c Seligman b Stewart 18 — b Hayward 19 A. B. Allen c Henriques b Stuart 24 — b Hayward 13 P. W. Coggins not out 32 — b Hayward 3 G. W. Rothery b Stewart 1 — c Seligman b Hayward 40 H. C. N. Oulton b Stewart 0 — c Stewart b Hayward 31 J. H. H. Knight c Hayward b Stewart 0 — not out 1 Extras 19 Extras 20

211

BEDFORD MODERN SCHOOL v. OAKHAM

At Bedford, June 26. For their victory by 80 runs, Oakham owed much to A. R. Grier, who took nine wickets for 24 runs.

Bedford Modern School J. A. R. Precee c Towns b Grier 11 E. V. Wildman c Fisher b Grier 3 D. W. Jacobs c Bradfield b Grier . 0 E. B. Litchfield c Savage b Grier . 17 G. Little b Grier 0 R. D. Hawkes c Pollard b Hamer . 1	R. J. Woodsend not out	
Oakham		02
A. M. H. Fisher c Hawkes b Little 33 M. F. R. Kirk c Moore b Woodsend. 26 S. B. Bradfield c Wildman b Jacobs. 22 Cf. Towns lbw b Hawkes	J. C. Donald b Jacobs H. R. Savage lbw b Little P. Gordin b Wildman G. F. A. Stuart not out	16
W. A. Hamer c Crouch b Woodsend 6 A. R. Grier b Jacobs 4	A. E. Pollard lbw b Jacobs Extras	3

WESTMINSTER SCHOOL v. WELLINGTON COLLEGE

At Westminster, June 26. Wellington were fortunate to save the game, for with one wicket to fall they finished 118 behind.

Westminster School P. P. Gawthorne c McCall b Loveless 66 D. L. Wilkinson b McCall	S. J. Hammond b Gracey 24 E. A. Sinclair st Sherbrooke b Gracey 14 J. C. S. Doll not out 17 J. W. Woodbridge b Gracey 10 Extras 24
	Nine wkts., dec. 309
Wellington College	C. G. Munro b Hammond
	P. P. Gawthorne c McCall b Loveless 66 D. L. Wilkinson b McCall 8 B. F. Cunliffe c Munro b Gracey 34 P. Goatly b Loveless 34 P. Goatly b Loveless 34 P. Goatly b Loveless 34 D. Stocker st Sherbrooke b Gracey 35 J.D. Stocker st Sherbrooke b Gracey 36 Wellington College F. D. B. Eddison run out 14 L. H. D. MacLeod c Stocker b Cunliffe 26 D. J. Murray run out 14 P. B. K. Gracey c Sinclair b Hammond 35 A. L. McCall c Eyre b Woodbridge 31

UPPINGHAM SCHOOL v. RUGBY SCHOOL

At Uppingham, June 29. Although Uppingham declared, their bowling was thoroughly mastered and Rugby, thanks mainly to a fine hundred by D. P. G. Elliot, won by seven wickets.

Uppingham School

E. R. Vere-Hodge c Scott b Inglis .	0	A. T. W. Taylor c Kershaw b
K. E. B. Goodbody c Kettle b Ker-	00	Bridger 23
shaw		A. D. Englefield b Inglis 90
R. A. Carr Ibw b Markland		P. B. Leckie c Elliot b Kershaw . 3
E. A. Bland st Scott b Markland		W. Bainbridge not out 46
P. Gillespie b Bridger	11	K. R. T. MacKenzie not out 4
W.J. Pershke b Kershaw	0	Extras
		The second secon

Nine wkts., dec. 241

Rugby School

D. M. Scott b Pershke	D. P. G. Elliot c Vere-Hodge b Pershke
J. R. Bridger fow o Leckie 33	A. Kershaw not out
	Extras

J. W. Payne, A. K. Markland, R. Kettle, S. G. Fowler, D. F. MacColl and R. J. E. Inglis did not bat.

CRANLEIGH SCHOOL v. HIGHGATE SCHOOL

At Cranleigh, June 30. Highgate outplayed Cranleigh. After winning, they continued their innings and left off 102 ahead with five wickets in hand,

Cranleigh School

H. T. Atkinson b M. H. Webb 2 N. A. Pears b Thornton 3 G. R. Skinner b M. H. Webb 2 H. K. Rose c D. C. Tinquand b	G. K. Neale not out 32 H. D. Wood b Thornton 3 K. F. Prebble b Morton 8 J. Turner b J. K. G. Webb 22
P. H. Hunt c Thornton b M. H.	D. C. Baker b M. H. Webb. 9 Extras 19
Webb R. J. C. Higgins c and b M. H. Webb 2	104

Highgate School

J. K. G. Webb b Higgins K. C. Boosey b Baker H. S. Andrews lbw b Turner	31	D. C. Tinquand c and b Baker M. H. Webb not out. G. G. Harris c Hunt b Baker Extras	34 76
			0.00000000

Five wkts. 206

Three wkts. 243

G. J. Ellerton, J. A. A. Morton, C. P. Tinquand, R. S. Thornton and D. C. F. Lloyd did not bat.

155

DENSTONE COLLEGE v. KING EDWARD'S SCHOOL, BIRMINGHAM

At Denstone, July 1. Taking seven wickets and scoring 52, J. H. G. Deighton played a prominent part in Denstone's victory by 156 runs.

Denstone College M. P. Jones c Farr b Freeman 63 D. H. Burrow lbw b Freeman 0 F. G. T. Dickson b Freeman 16 R. M. Watson run out 17 J. H. G. Deighton b McIlveen 52 R. F. K, Innes b Gaskell 12	J. M. Campbell b Bill
R. K. Tobias did not bat.	
King Edward's School, Birmingha E. W. Farr b Deighton 4 D. A. Hill Ibw b Deighton 0 T. G. Freeman b Deighton 29 K. A. Bill b Deighton 27 N. H. Wilkins b Pegler 2 W. N. Davison Ibw b Pegler 0	M J. C. Dyer lbw b Pegler 0 W. T. Twiss c Sproston b Deighton 12 R. A. McIlveen lbw b Deighton . 0 J. G. Hoult b Deighton . 0 P. R. Gaskell not out

REPTON SCHOOL v. MALVERN COLLEGE

At Repton, July 2, 3. Following on 113 behind, Malvern fought back so well that they won by 188 runs. They owed a lot to the fine all-round work of G. I. D. Norton, who scored a hundred and in Repton's second innings took five wickets for 25.

A. Saft & B. Laing & Young & G. Cronhelm 4	b Cary 1 c Griffith b G. Cronhelm. 1 b Cary 28 b G. Cronhelm 15 st Denton-Thompson b Norton 18 c G. Cronhelm b Norton. 12 st Denton-Thompson b Norton 0 b G. Cronhelm 0 c Denton-Thompson b Norton 1 c Denton-Thompson b No
207	67 September 13 13 14 14 14 15 15 15 15 15 15 15 15 15 15 15 15 15
Malvern College	
	c Barnett b Scott-Forbes 67 b Crane 0
	lbw b Armstrong
G I D Norton st Eastwick-Field b	
Prentice	c Barnett b Crane109
	b Armstrong
	b Fisher 40
R. O. H. Porch c Eastwick-Field b	not out 43
A F C Griffith b Prentice 9 —	c Laing b Fisher 0
A. G. Denton-Thompson lbw b Crane . 1 —	not out 14
G. N. Cronhelm c Eastwick-Field b	
Fisher 1	
R. W. L. Cary not out	Extras
	Commence of the state of the second
94	Seven wkts., dec. 388

AMPLEFORTH COLLEGE v. DURHAM SCHOOL

At Ampleforth, July 3. A desperately exciting match ended in a tie.

Ampleforth College

P. J. Wells lbw b Forster	C. I. Walter Ibw b Orwin
Durham School	Section Sequence (1986)
W. R. Buttle c Cardwell b Ryan 6 A. D. Cunningham c Wells b Ryan 5 D. J. Hall c Horner b Carroll 20 W. D. Orwin b Sutton 23 G. B. Sylvester run out 13 J. C. Sutton run out 13	D. R. Forster b Cardwell 19 I. S. Turnbull b Horner 11 D. C. Shorter b Carroll 3 M. L. Burchnall not out 7 J. Bouchier st Garbett b Horner 9 Extras 9
	138

DULWICH COLLEGE v. ST. PAUL'S SCHOOL

B. E. Collingwood lbw b Smith ... 77 | G. S. Staniforth c Totton b Russell 4

At Dulwich, July 3. Dulwich won by 83 runs.

Dulwich College

3. R. Turner b Yeatman 2 A. C. Shirreft e Totton b Yeatman 26 3. R. T. Williams c Reid b Behr 10 A. Barnett low b Totton 15 H. P. Gray b Russell 49 D. V. Knight b Russell 11	J. C. Bartlett b Smith
St. Paul's School	
R. H. Yeatman c Shirreff b Jones	B. K. Totton c Jones b Thomas

OUNDLE SCHOOL v. UPPINGHAM SCHOOL

At Oundle, July 3. Both teams batted consistently in a high-scoring match which Uppingham won by four wickets.

Oundle School

		the state of the s	
C. P. Payne c Pershke b Bland	23 1	S. M. Gilbert c Taylor b Pershke.	18
	05	T TY CI III	2
E. R. Conradi b Pershke	25	J. H. Shillito b Bland	3
J. M. Mills c Crighton b Ellerton		D. F. Shaw c and b Bland	15
P. B. Nicholls b Bland	25	R. G. L. Brittain not out	16
		At. G. E. Bittum not out	00
J. M. H. Lewis Ibw (N) b Bland	4	Extras	22
			A
J. M. B. Butler c and b Pershke	33		-
T. S. Ringrose c Ellerton b Good-			247
			A. R. I
body	20		

Uppingham School

Eight wkts. 118

Oppinguam School	
K. E. B. Goodbody c Gilbert b Butler 15 R. E. Crighton c Shillito b Shaw	P. Gillespie c Shillito b Shaw 63 W. J. Pershke lbw b Gilbert 21 A. T. W. Taylor not out 24 A. D. Englefield not out 3 Extras 25
W. Bainbridge, E. R. Vere-Hodge an	d J. F. W. Ellerton did not bat.
	E v. LANCING COLLEGE
At Brighton, July 3. An interesting Brighton.	game ended in victory by ten runs for
Brighton College S. I. Philips c Wootton b T.L.R. Hill 4 L. E. Grose b T. L. R. Hill 6 A. K. Sharp lbw b Wheeler 40 I. Wallace-Cox c Wheeler b T. L. R. Hill 6 G. Arnold b Wheeler 12 C. K. Thompson b A. R. E. Hill 12	V. O. G. Smyth c Woodward b Rolt 28 F. Mayorga b A. R. E. Hill
Lancing College R. S. Woodward c and b Wilson	B. A. Wootton c Wilson b Braybon 45 C. F. Rolt Ibw b Sharp
KING'S SCHOOL, ROCH SCHOOL, C	ESTER v. ST. EDMUND'S ANTERBURY
At Rochester, July 3. St. Edmund runs when the last man went in.	's won by one wicket. They required 21
King's School, Rochester	
T. F. Bayntun b Screeton	B. W. Amos c Treen b Minter 17 J. Gilpin b Minter 8 D. M. A. Pring lbw b Pinhey 5 P. Birch b Minter 16 A. C. Skinner not out 4 Extras 16
St. Edmund's School, Canterbur	y C. Treen h Armstrong 27
	C Treen h Armstrong 2/

Nine wkts. 153

THE PER COLLEGE T. WESTIMMSTER SCHOOL
At Radley, July 3. Radley, much the stronger batting side, gained an easy victory. They finished 105 ahead with five wickets to fall.
Westminster School
P. P. Gawthorne lbw b Birks 23
Radley College
F. Falkiner b Eyre
Five wkts. 212
C. A. C. Hamilton, C. D. Kennard, R. R. G. Atkins and H. W. A. Ruck Keene did not bat.
WESTMINSTER SCHOOL v. SHERBORNE SCHOOL
At Westminster, July 6, 7. Sherborne, with two wickets to fall, finished 95 behind. P. P. Gawthorne (Westminster) and C. F. V. Martin (Sherborne) who each scored a hundred, batted splendidly.
Westminster School
P. P. Gawthorne c Glennie b Maddison108 — st Glennie b Hodgkinson 28 D. L. Wilkinson lbw b Tasker 28 — b Maddison 11 D. F. Cunliffe b Bashford 14 — c Glennie b Bashford 11 K. S. Andrews c Chignell b Bashford 33 — c Hodgkinson b Maddison 59 J. D. Stocker b Maddison 6 — b Maddison 51 A. F. Taylor c Williams b Pashford 0 b Maddison 51
F. F. Calway b Maddison 5 — c Glennie b Bashford 29 E. A. Sinclair b Bashford 15 — c and b Bashford 13 J. W. Woodbridge not out 5 — libw b Bashford 12 J. C. S. Doll b Bashford 0 — not out 9 P. C. Eyre b Bashford 4 — c Glennie b Chignell 4 Extras 13 Extras 18
P. C. Eyre b Bashford 4 — c Glennie b Chignell 4
/ 2 ² /
231 Nine wkts.; dec. 245
Sherborne School
M, S. Glennie b Calway
C. F. V. Martin b Stocker 115 — b Eyre 10 J. F. N. Hodgkinson b Calway 2 — b Eyre 8 S. F. St. M. Williams b Eyre 18 — st Taylor b Calway 17
S. F. St. M. Williams b Eyre 18 — st Taylor b Calway
D. F. Ricketts Ibw b Evre 0 — not out
A. L. A. Tasker c Sinclair b Eyre 36 — c Wilkinson b Stocker 0 F. A. Coombe c Wilkinson b Eyre 0 — b Calway 0
I. Henderson c Calway b Woodbridge 17 — c Wilkinson b Stocker
H. J. C. Bashford not out 1
D. R. P. Maddison c Calway b Wood-
D. R. P. Maddison c Calway b Woodbridge 13 Extras 5 Extras 1

263

Nine wkts., dec. 231

RUGBY SCHOOL v. REPTON SCHOOL

At Rugby, July 8. A third wicket stand of 205 between D. P. G. Elliot and D. G. Clark enabled Rugby to declare, but insufficient time remained for them to force a victory.

Rugby School 8 D. M. Scott st Eastwick-Field b 8 Fisher 8 J. R. Bridger b Prentice 27 D. P. G. Elliot c Armstrong b 123 D. G. Clark st Eastwick-Field b 99	J. W. Payne c Bridge b Crane A. Kershaw c Fisher b Prentice M. E. Whitelock b Fisher S. G. Fowler st Eastwick-Field b Prentice D. F. MacColl not out Extras	8 2
		-

Eight wkts., dec.

A. K. Markland and R. J. E. Inglis did not bat.

Repton School R. Sale st Scott b Bridger A. I. D. Prentice b Whitelock J. C. Barber c Whitelock b Markland J. F. B. Laing b Markland W. J. B. Bridge c Elliot b Kerhsaw	9	J. D. H. Riches c Scott b Inglis 26 F. F. Fisher not out 15 E. A. Crane not out 35 Extras 7
W. J. B. Blidge C Linet & Retribut		Siv white 176

J. C. Eastwick-Field, A. H. Barnett, H. C. S. Armstrong did not bat.

CLIFTON COLLEGE v. CHELTENHAM COLLEGE

At Clifton, July 9, 10. Cheltenham led by 27 on the first innings. When the match was given up as a draw Clifton stood 115 behind with nine wickets in hand.

C. J. H. Faget e Globs of Cagnota	
271	27
Clifton College	
P. A. Wilson c Paget b Barry 52 — not out	18
P. Kinnersley b Geary 6 A. R. Mutter c Barry b Geary 79 — not out	19
E. K. Scott c Geary b Briggs	0
R. C. R. Williams c Moore b Geary	
W. I. Cleghorn lbw b Ruttledge 13 Extras 19 Extras Extras Extras	2
244 One wkt.	39

CHARTERHOUSE SCHOOL v. WESTMINSTER SCHOOL

At Charterhouse, July 10. Thanks to a fine stand between J. D. Stocker and F. F. Calway, Westminster gained a splendid victory by three wickets.

Charterhouse School

P. C. Weeks b Eyre 38 D. D. Crofts c and b Calway 12 J. A. Crompton c and b Calway 2 P. F. Beane c Sinclair b Calway 92 C. W. S. Lubbock b Stocker 7 A. K. Hughes b Stocker 0	A. B. Allen c Eyre b Stocker

Westminster School

P. P. Gawthorne b Knight 21 D. L. Wilkinson b Knight 18 D. F. Cunliffe c and b Lubbock 1 K. S. Andrews lbw b Lubbock 7 J. D. Stocker c Allen b Knight 48	F. F. Calway b Knight 63 E. A. Sinclair not out 49 J. C. S. Doll run out 5 J. W. Woodbridge not out 9 Extras 11
	Seven wkts. 232

A. F. Taylor and P. C. Eyre did not bat.

DOWNSIDE SCHOOL v. SHERBORNE SCHOOL

At Downside, July 10. Sherborne proved far too strong for Downside and won by 162 runs.

Sherborne School

M. S. Glennie c Brennan b Addington 45 C. F. V. Martin c Brennan b Sheridan 94 J. F. N. Hodgkinson c Brennan b Reeve-Tucker	I. Henderson b Hawkins
R. F. S. Chignell c Hunt b Hawkins. 19	Extras 12
F. A. Coombe c Addington b Haw- kins	Nine wkts., dec. 295

Downside School

R. L. Masters b Bashford 6	53	M. K. Crowder c Hodgkinson b
R. G. T. Hawkins c Henderson b		Maddison 21
Maddison	4	P. E. Y. Dawson b Hodgkinson 3
T. S. W. Reeve-Tucker c Bashford b		J. J. B. Hunt lbw b Bashford 4
Chignell	7	I. F. M. Turnbull not out 7
J. M. H. Pollen c and b Chignell	0	R. G. Sheridan Ibw b Bashford 1
D. V. Brennan c Glennie b Bashford.		Extras
R. T. Addington c Martin b Bashford	9	
		133

ST. LAWRENCE COLLEGE, RAMSGATE v. WHITGIFT SCHOOL

At Ramsgate, July 17. After a good first-wicket stand, Whitgift collapsed and were defeated by 94 runs.

St. Lawrence College, Ramsgate

R. O. Drayson b Hornsby 35 J. N. Dixon c Foster b Bangs 5 H.B. C. Gardner c Bangs b Hornsby 24 G. F. Colley c Bangs b Hornsby 20 F. J. Fawkner-Corbett c Hornsby b 6 Graves 12 T. C. Larsen lbw b Graves 13	P. R. Bridge c Hornsby b Bangs 52 P. M. Vicary b Bangs 2 J. Rishbeth c Cook b Graves 2 P. H. James not out 20 R. A. Child b Graves 13 Extras 10
1. C. Laisell low o Graves 15	208

Whitgift School

P. M. K. Bird b Colley D. H. F. Graves c Dixon b Colley J. D. Culverwell lbw (N) b Colley J. A. Christic b Drayson W. H. Bangs b Gardner S. E. Lovatt c Child b Gardner	33 0 1 10	J. G. Wilcox b Gardner (J. P. Waterhouse not out T. R. Foster b Gardner (D. F. L. Cook b Colley M. C. Hornsby b Colley Extras

ETON v. HARROW

At Lord's, July 9, 10.

Eton won by seven wickets. A bold declaration by Watson, the Harrow captain, after Holt had hit a magnificent century, produced a glorious finish to a fine match. Eton took up the challenge with commendable enthusiasm and brought about the first definite result in the series since 1931. They were set to score 159 and hit off the runs in 95 minutes, the winning stroke being made when quarter of an hour of extra time remained for play. Much credit was due to an innings of hard driving by Barnardo.

Harrow entered the game with a fine reputation and their supporters were couraged to hope that the team would bring about the victory which has eluded them since 1908, but the importance of the occasion appeared to affect the batting and, on winning the toss, the side were put out for 118. That Harrow failed to do themselves justice in their first innings was proved the next day when the Eton bowling was freely punished.

Though the light was none too good when the game began, Seligman and Carp found run-getting comparatively easy and the total reached 39 before Seligman, in pulling, hit his wicket. From that point everything went favourably for the Eton bowlers and, after the opening stand the best resistance was offered by the last pair who, putting on 22, carried Harrow's total into three figures. No doubt Harrow were disturbed by early disasters—three men played on as soon as they went in.

Banister, chief cause of Harrow's cheap dismissal, bowled right hand, with mixed pace, generally rather slow. His off break brought him most of his wickets and he certainly accomplished a remarkable performance from the practice ground end. When eight men were out for 83, Banister had bowled eleven overs for 19 runs and six wickets, the last four in succession, but Hayward and Stuart spoiled his analysis. Mann, whose fourth delivery broke the first partnership, turned the ball

ETON V. HARROW-continued.

from leg and took 3 wickets. Harrow's innings ended by one o'clock. Before lunch Eton scored 22 for the loss of Curling whose leg stump was struck by an in-swinger and owing to rain during the interval play did not proceed until twenty minutes past three. Then in twenty-five minutes before the rain returned four wickets fell for 17 so that half the Eton side were out for 39—incidentally the value of Harrow's first stand. This remarkable change of fortune was brought about by Stewart, a fast-medium bowler with a fine action, who was put on at the end from which Banister wrought such havoc. On a damp surface Stewart was almost unplayable and he took four wickets for 18 runs.

At this stage Harrow were completely on top, but further heavy rain helped Eton for when the game was continued at quarter past five Stewart experienced great difficulty with his foothold. The soft pitch no longer favoured the bowlers and muddy patches presented the fieldsmen with further trouble so that in spite of failing light Mann and Boughey were able to retrieve Eton's disastrous position. Mann quickened the scoring with powerful on drives, but when 34 he nearly lost is wicket. He cut a full pitch from Stewart hard and wide of second slip, and Henriques by a great effort got both hands to the ball only to drop it as he lost a foothold. The total at that point was 96 and with Boughey playing well in placing the ball to leg and off driving, he and Mann stayed until stumps were pulled up at seven o'clock with Eton 13 runs ahead and half their wickets in hand. On Saturday morning the pitch had become fast again and Stewart and Stuart, bowling unchanged, disposed of the rest of the side for the addition of 40 runs. Mann and Boughey increased their sixth wicket partnership to 102 before the captain was bowled by a ball which came back and Boughey continued to show good form until a ball kept low and beat his defence.

Soon after Harrow went in again two heavy showers held up the game. The first wicket fell at 34, Carp being caught at second slip and then came the best innings of the match, for Holt, a batsman of physical strength, punished the bowling so severely that in ten minutes under two hours he scored 111 out of 157. An expert in cutting, Holt also pulled and hooked superbly, besides hitting splendidly through the covers, but he seldom employed the drive. His best strokes were sixteen 4's. There was one period when Harrow again stood in danger of breaking down, for three men were out for 46 before Watson and Lithgow rendered Holt valuable assistance in stands which yielded 56 and 89 respectively.

In making such light work of their task in the fourth innings, Eton were much indebted to Walker, who made a bold assault on the bowling and scored 46 out of 71. Harrow fielded brilliantly and stopped many vigorous strokes, but their bowling was not equal to the occasion and one definite chance was missed. Excitement had its effect and Eton were presented with a liberal supply of full tosses and half volleys. When Watson went on at 78 he dismissed Boughey by means of a catch at mid-off at 102, but he kept himself on too long and Mann punished him mercilessly, 18 runs coming in one over which virtually settled the issue. In desperation the fast bowlers, Stewart and Stuart, were brought back but Barnardo went on driving hard and reached his 50, Mann hooked and drove anything loose and Eton galloped to a victory which was only made possible by Watson's declaration.

Harrow

Mr. V. A. Carp b Banister Mr. R. M. Seligman hit wkt. b Mann Mr. R. A. A. Holt b Mann Mr. M. D. Watson b Banister Mr. W. S. P. Lithgow lbw (N) b Banister Mr. C. A. Halliday c de Rougement b Banister Mr. D. J. Q. Henriques b Banister	- lbw - c de l - c Bar - not d	Nann 18 Rougement b HWhiteley111 nister b HWhiteley 17 out 17	
Mr. C. J. Sage b Banister Mr. D. R. Hayward not out			
Mr. W. G. Stewart st England b Mann	— c En	gland b Banister 1	
B 5, 1-b 3		B 15, 1-b 4, w 1, n-b 2 22	
1		Five wkts., dec. 211	

Eton

Mr. P. A. Walker c Stuart b Stewart 15 — Ibw (N) b Hayward	46
Mr. R. M. England b Stuart 8 Mr. F. F. T. Barnardo b Stewart 2 Mr. J. P. Mann b Stuart 57 — not out	62
Mr. A. J. B. Marsham b Stewart 2 Mr. J. F. Boughey b Stewart 61 — c Holt b Watson Mr. R. C. de Rougement b Stewart 4	
Mr. J. L. Darell c Seligman b Stuart	1
171 Three wkts. 1	56
Eton Bowling Overs Mdns. Runs Wkts. Overs Mdns. Runs Wk	kts.

)vers	Mdns.	Runs 1	Wkts.	0	vers	Mdns.	Runs 27	Wkts.
Darell Huntington Whiteley Barnardo Banister Mann	3	4 0 7 1	31 12 32 22 de Rou Boughe	1 0 6 3	ent .	18 4 17 12 3	1 0 4 1 0	46 15 41 38 17	2 0 1 2 0
Harrow Bowli	ng			•					
Stuart	21 30 5 15 1 4	5 4 0 3 0	50 64 18 26 4 4	3 6 0 0 0		9 8.5 7 4	0 0 0 0	35 38 38 20 27	0 0 1 1 1

Umpires: J. Hardstaff and J. Newman

RESULTS OF ETON AND HARROW MATCHES

	RESULTS OF ETON A	ND HA	RROW MATCHES
1805 1818	Eton won by an inns. and 2 runs Harrow won by 13 runs	1850 1851	Eton won by seven wickets Harrow won by eight wickets
1822	Harrow won by 87 runs	1852	Harrow won by 71 runs
1823	Eton won by inns. and 33 runs	1853	Harrow won by three wickets
1824	Eton won by nine wickets	1854	Harrow won by 98 runs
1825	Eton won by seven wickets	1855	Harrow won by inns, and 66 runs
1827	Eton won by six wickets	1858	Harrow won by inns. and 7 runs
1828	Eton won by six wickets	1859	Harrow won by inns. & 48 runs
1832	Eton won by inns. and 156 runs	1860	Drawn .
1833	Harrow won by eight wickets	1861	Drawn
1834	Harrow won by 13 runs	1862	Eton won by 54 runs
1835	Eton won by 165 runs	1863	Drawn
1836	Harrow won by nine wickets	1864	Harrow won by inns. & 66 runs
1837	Eton won by eight wickets	1865	Harrow won by inns. & 51 runs
1838	Eton won by inns, and 30 runs	1866	Harrow won by inns. & 136 runs
1839	Eton won by eight wickets	1867	Drawn
1840	Eton won by 31 runs	1868	Harrow won by seven wickets
1841	Eton won by inns. and 175 runs	1869	Eton won by inns, and 19 runs
1842	Harrow won by 65 runs	1870	Eton won by 21 runs
1843	Harrow won by 20 runs	1871	Eton won by inns, and 77 runs
1844	Eton won by inns, and 69 runs	1872	Eton won by six wickets
1845	Eton won by inns, and 174 runs	1873	Harrow won by five wickets
1846	Eton won by inns, and 135 runs	1874	Eton won by five wickets
1847	Eton won by nine wickets	1875	
1848	Harrow won by 41 runs	1876	
1849	Harrow won by 77 runs	1877	Drawn
ムいサフ	TIGHTON WOLL OF 11 LUNG	-011	

ETON V. HARROW RESULTS-continued.

1878	Harrow won by 20 runs	1007	TTo-man 1 70
1879	Drawn	1907	Harrow won by 79 runs
1880		1908	Harrow won by ten wickets
	Harrow won by 95 runs	1909	Drawn
1881	Harrow won by 112 runs	1910	Eton won by nine runs
1882	Drawn	1911	Eton won by three wickets
1883	Drawn	1912	Eton won by six wickets
1884	Drawn	1913	Eton won by nine wickets
1885	Harrow won by three wickets	1914	Eton won by four wickets
1886	Eton won by six wickets	1915	to 1918. No regular match during
1887	Eton won by five wickets		the war
1888	Harrow won by 156 runs	1919	Eton won by 202 runs
1889	Harrow won by nine wickets	1920	Eton won by nine wickets
1890	Drawn	1921	Eton won by seven wickets
1891	Harrow won by seven wickets	1922	Drawn
1892	Harrow won by 64 runs	1923	Drawn
1893	Eton won by nine wickets	1924	Drawn
1894	Drawn	1925	Drawn .
1895	Drawn	1926	Drawn
1896	Drawn	1927	Drawn
1897	Drawn	1928	Eton won by 28 runs
	Harrow won by nine wickets	1929	Drawn
1899	Drawn	1930	
1900	Harrow won by one wicket		Eton won by eight wickets
1901		1931	Eton won by inns, and 16 runs
	Harrow won by ten wickets	1932	Drawn
1902	Harrow won by eight wickets	1933	Drawn
1903	Eton won by inns. and 154 runs	1934	Drawn
1904	Eton won by inns. and 12 runs	1935	Drawn
1905	Drawn	1936	Drawn
1906	Eton won by four wickets	1937	Eton won by seven wickets
-			new aparts to News to place

Of the 108 matches played, Eton have won 43, Harrow 35, and 30 have been drawn. This is the generally published record, but Harrow men object very strongly to the game in 1805 being treated as a regular contest between the two schools, contending that it is no more correct to count that than the fixture in 1857 which has been rejected.

The one-day matches between the two schools during the War are not reckoned as belonging to the regular series.

Thirty-four three-figure innings have been played in matches between the two schools, as follows:-

```
(in 1904), Eton
183 D. C. Boles
                                                                  111 R. A. Holt
                                                                                                   (in 1937), Harrow
173 G. Wilson
159 E. W. Dawson
                                  (in 1913), Harrow
                                                                  109 K. F. H. Hale
109 N. S. Hotchkin
                                                                                                   (in 1929), Eton
                                  (in 1923), Eton
                                                                                                  (in 1932), Eton
158 I. Akers-Douglas (in 1928), Eton
153 N. S. Hotckhin (in 1931), Eton
152 E. Bayley (in 1841), Eton
142 T. G. O. Cole (in 1897), Harrow
137 C. H. B. Blount (in 1912), Harrow
                                                                  108 C. J. Ottaway
                                                                                                   (in 1869), Eton
153 N. S. Hotckhin
152 E. Bayley
142 T. G. O. Cole
137 C. H. B. Blount
135 J. Atkinson-Clark
                                                                  108 R. B. Hoare
104 R. Pulbrook
                                                                                                   (in 1888), Harrow
                                                                                                   (in 1932), Harrow
                                                                  103 L. G. Crawley (in 1 102*P. H. Stewart-Brown
                                                                                                   (in 1921), Harrow
                                                                  101 H. C. Pilkington (in 1923), Harrow
100 E. Crawley (in 1885), Harrow
100 E. N. S. Crankshaw
                                  (in 1930), Eton
135 A. K. Watson131 M. C. Bird124 J. H. Stogdon
                                  (in 1885), Harrow
                                  (in 1907), Harrow
                                  (in 1895), Harrow
                                                                                                   (in 1903), Eton
120 B. J. T. Bosanquet(in 1896), Eton
                                                                   100*M. C. Bird
                                                                                                   (in 1907), Harrow
117 A. W. Ridley
114 C. P. Foley
                                                                                                   (in 1923), Eton
                                  (in 1871), Eton
                                                                   100 R. H. Cobbold
                                                                  100*P. V. F. Cazalet (in 1926), Eton
                                  (in 1886), Eton
113 W. F. Forbes (in 1876), Eton
112*A. W. T. Daniel (in 1860), Harrow
112 A. W. Allen (in 1931), Eton
                                                                  100 A. N. A. Boyd
                                                                                                   (in 1934), Eton
                                                                  100*P. M. Studd
                                                                                                   (in 1935), Harrow
```

In making his 183 Boles set up a new record for the match, beating the 152 obtained in 1841 by Emilius Bayley, afterwards the Rev. Sir John Robert Laurie. M. C. Bird in 1907, by scoring 100 not out and 131, performed a feat without precedent in the match. N. S. Hotchkin played the following innings: 1931, 153; 1932, 109 and 96; 1933, 88 and 12.

^{*} Signifies not out.

GYNTLEMEN V. PLAYERS-continued.

1921	C. P. Mead	108	1926	Mr. A. P. F. Chapman	108
1922	Mr. A. P. F. Chapman	160	1926	H. Sutcliffe	107
1922	J. B. Hobbs	140	1927	Mr. D. R. Jardine	123
1922	A. C. Russell	162	1930	K. S. Duleepsinhii	125
1923	Mr. G. T. S. Stevens	122	1930	K. S. Duleepsinhji	103*
1923	Mr. M. D. Lyon	120	1932	J. B. Hobbs	161*
1924	J. B. Hobbs	118	1932	Nawab of Pataudi	165
1924	R. Kilner	113	1932	K. S. Duleepsinhji	132
1925	J. B. Hobbs	140	1932	W. R. Hammond	110
1925	Mr. G. T. S. Stevens	129	1934	A. Mitchell	120
1926	J. B. Hobbs	163	1934	Mr. R. E. S. Wyatt	104*
1926	E. Tyldesley	131			

CLIFTON v. TONBRIDGE

At Lords, July 26, 27.

Clifton won by 96 runs. Mutter and Scott each played a big part in the victory. Besides scoring 134 runs Mutter dismissed eight batsmen, while Scott, who was appearing in the fixture for the fifth time, took 11 wickets. Mutter and Gibbs both showing good style, scored 128 for the second stand, and Scott and Heaven were enterprising, but the remaining batsmen did little. For Tonbridge, Thompson twice batted brilliantly while Cox, a left-hander, hit splendidly in front of the wicket. When Tonbridge wanted 298 to win with four hours left, Thompson and Bousfield gave them a grand start by taking the score to 126, but no sooner were they parted than Mutter and Scott with skifful slow bowling carried everything before them.

Clifton

Mr. A. R. Mutter b Stevens 79 — st Dew b Y-Brown
Mr. P. A. Wilson c Corker b Stevens 3 — b Rampton 15
Mr. G. A. Gibbs run out
Mr. E. K. Scott c Y-Brown b E. I. C. Wood 36 — b E. I. C. Wood 10
Mr. R. J. G. Heaven b Kidson 42 — c and b Y-Brown 22
Mr. R. C. R. Williams c Cocker b Kidson 19 — st Dew b E. I. C. Wood 9
Mr. D. F. Callander c Thompson b Y-Brown 16 — c Dew b Stevens
Mr P Kinnersley b E. I. C. Wood 8 — not out
Mr. C. F. N. Hooper not out
Mr. W. I. Cleghorn b E. I. C. Wood 0 — c Bousfield b Y-Brown 2
Mr. H. B. MacLellan c. P. G. C. Wood b
Y-Brown 6 — c Thompson b Y-Brown 0
B 8, 1-b 7, w 1, n-b 1
292
Tenhvida
Tonbridge
Mr. J. R. Thompson b Scott 40 — c Wilson b Mutter 68
Mr. E. C. Bousfield lbw b Scott 23 — c MacLellan b Mutter 62
WII. L. C. DOUGHOIG TO I O DOUGHOIG TO I O

Mr. J. R. Thompson b Scott	40	-	c wilson b Mutter	00
Mr. E. C. Bousfield lbw b Scott	23	-	c MacLellan b Mutter	62
Mr P Corker b Scott	14		b Scott	13
Mr. B. W. Cox not out	73	-	c Scott b Mutter	0
Mr. P. G. C. Wood c Gibbs b Mutter	5	-	c Cleghorn b Mutter	13
Mr. B. N. S. Kidson st Gibbs b Scott	2	-	c Cleghorn b Mutter	4
Mr. D. G. W. Yeats-Brown c Heaven b				
Scott	6	-	b Scott	13
Mr. J. L. Rampton c MacLellan b Mutter.	13	-	lbw (N) b Mutter	9
Mr. P. R. Stevens b Cleghorn	5	-	b Scott	0
Mr. E. I. C. Wood b Scott	4		Ibw b Scott	0
Mr. T. A. Dow h Scott	4	-	not out	4
B 4, w 1	5		B 2, 1-b 5, n-b 2	9
2 1, 11 2 11111111111111111111111111111	-			-
	194			201

Tonbridge Bowling

Stevens		Mdns.	Runs 72 69	Wkts		Overs 15	Mdns.	Runs 40	Wkts
E. I. C. Wood . Kidson Yeats-Brown	13 28	2 4	45 59 30	3 2		13	2 2	25 38 19 61	2 0
Clifton Bowli		1	30	2		16.4	U	01	0
Cleghorn MacLellan Mutter	6 17	0 0 5	39 28 51	1 0 2		10 3 23	1 0 4	31 17 67	0 0 6
Scott		3 pires : (Heave		H S	29.2 2 veetland	7 0	63 14	0

RESULTS OF CLIFTON AND TONBRIDGE MATCHES

1899	Clifton won by eight wickets	
1900	Drawn	
1901-	13 No Matches	
1914	Clifton won by nine wickets	
1915	Drawn	
1916	Drawn	
1917	Drawn	
1918	No Match	
1919	Tonbridge won by nine wickets	
1920	Tonbridge won by nine wickets	
1921	Tonbridge won by 141 runs	
1922	Clifton won by inns. and 13	
	runs	
1923	Drawn	

1924	Abandoned—rain
1925	Drawn
1926	Drawn
1927	Clifton won by 11 runs
1928	Tonbridge won by ten wickets
1929	Topbridge won by one wicket

1931 Drawn 1932 Drawn 1933 Clifton won by seven wickets 1934 Tonbridge won by 173 runs

1935 Tonbridge won by one wicket 1936 Drawn 1937 Clifton won by 96 runs

Played at Lord's in 1914 and from 1919.

Of the 25 matches Clifton have won 6 and Tonbridge 7. Eleven have been

Drawn

RUGBY v. MARLBOROUGH

At Lords, July 28, 29.

drawn, and one abandoned.

Drawn. In a game of contrasts Rugby gave a brilliant exhibition with the bat and Marlborough, intent on avoiding defeat, defended with the utmost stubbornness. Elliot set Rugby a fine example by driving beautifully for an hour and Clark hit a perfect century. Small in stature, Clark invested his cuts, drives and leg strokes with remarkable power and his 129 included one 6, one 5 and sixteen 4's. Kershaw, a left-hander, helped in a stand of 116 and also reached three-figures. He timed the bowling admirably and hit two 5's and twenty 4's. Lacy-Scott batted four and a half hours for Marlborough whose first 171 runs actually occupied as much time as Rugby's 425. Despite their dour methods Marlborough failed to avoid the follow on, but an opening stand of 88 by Graham and Lacy-Scott dashed Rugby's hopes of victory. Marlborough owed nearly everything to Lacy-Scott, who in each innings pursued a stone-walling game with extraordinary patience.

Mr. D. M. Scott run out 7
Mr. J. R. Bridger b L-Scott 19
Mr. D. P. G. Elliot c Redfearn b
Graham 56
Mr. D. G. Clark c and b Graham129
Mr. J. W. Payne c Owen b L-Scott 9
Mr. D. F. MacColl b L-Scott 28

Mr. A. Kershaw not out124
Mr. A. K. Markland Ibw b Bailward 4
Mr. S. G. Fowler st Howard b
Mr. M. E. Whitelock c L-Scott b Owen 20
Mr. R. J. E. Inglis not out 6
B 10, 1-b 5. w 1, n-b 2 18

425

Marlborough		
Mr. D. G. Lacy-Scott c Fowler b MacCo Mr. M. Jewell lbw (N) b Inglis Mr. P. N. L. Terry c Kershaw b Inglis Mr. G. E. Fletcher c and b MacColl	0 — Ibw (N) b Br	
Mr. J. R. Sale b MacColl	1 — b Elliot 70 — c Scott b Ing	dis
Mr. J. H. Collins c Kershaw b Inglis Mr. J. A. Owen c Elliot b MacColl. Mr. G. J. Redfearn c Whitelock b Kersh Mr. J. T. Bailward b Bridges	11 — run out law 14 14	1
Mr. A. B. Howard not out		w 1 10
	311	142
Marlborough Bowling		
Bailward Overs Mdns. Runs Lacy-Scott 10 1 46 Graham 17 0 89 Owen 16 0 98 Redfearn 13 1 52 Terry 2 0 18 Fletcher 5 0 19 Jewell 1 0 8	Wkts. Overs M 3 2 0 0 0 0	Mdns. Runs Wkts.
Rugby Bowling		
Inglis	wler 2	3 12 1 1 0 0 1 2 1 0 0 0 3 27 0 0 2 8 0 0 1 28 0 0 1 28 0 0 1 2 0 0 1 2 1 0

Umpires : D. H. Tregear and E. H. Sweetland.

RESULTS OF RUGBY AND MARLBOROUGH MATCHES

1855	Rugby won by ten wickets, at	1869	Rugby won by 179 runs, at Lord's
1856	Rugby won by five wickets, at Lord's	1870	Rugby won by five wickets, at Marlborough
1857	Rugby won by an innings and 83 runs, at Oval	1871 1872	Marlborough won by 68 runs Marlborough won by nine wkts.
1860	Rugby won by an innings and 50 runs, at Lord's	1873 1874	Rugby won by eight wickets Rugby won by five wickets
1862		1875	Rugby won by an innings and 35 runs
1863 1864	Rugby won by 83 runs, at Oval	1876 1877	Marlborough won by five wkts. Marlborough won by 196 runs
***********	Rugby won by an innings and 83 runs, at Islington	1878	Rugby won by an innings and
1865	Rugby won by nine wickets, at Lord's	1879	24 runs Rugby won by 97 runs
1866 1867	Drawn, at Lord's Rugby won by six wickets, at	1880	Rugby won by an innings and 120 runs
	Oval	1881 1882	Rugby won by two wickets Marlborough won by five wkts.
1868	Rugby won by an innings and 133 runs, at Rugby	1883	Drawn

1884 1885	Marlborough won by eight wkts. Drawn	1910	Rugby won by an innings and
1886	Rugby won by 37 runs	1911	Rugby won by 193 runs
1887	Mariborough won by 217 runs	1912	Marlborough won by eight wkts.
1888	Abandoned. No play	1913	Rugby won by ten wickets
1889	Marlborough won by six wkts.	1914	Rugby won by five wickets
1890	Marlborough won by 145 runs	1915	Pughy won by nice wickets
1891	Drawn	1916	Rugby won by nine wickets
1892	Marlborough won by an innings	1917	Rugby won by eight runs
1072	and 78 runs		Rugby won by four wickets
1893	Drawn	1918	Marlborough won by an innings and 94 runs
1894	Rugby won by an innings and	1919	Marlborough won by six wkts.
	82 runs	1920	Drawn
1895	Rugby won by 70 runs	1921	Drawn
1896	Rugby won by an innings and	.1922	Marlborough won by ten wkts.
	35 runs	1923	Mariborough won by ten wkts.
1897	Marlborough won by three wkts.	1924	Rugby won by three wickets
1898	Drawn	1925	Drawn
1899	Marlborough won by 225 runs	1926	Rugby won by 112 runs
1900	Rugby won by nine wickets	1927	Drawn
1901	Marlborough won by five wkts.	1928	Drawn
1902	Rugby won by 29 runs	1929	Drawn
1903	Drawn	1930	Marlborough won by nine wkts.
1904	Marlborough won by nine wkts.	1931	Marlborough won by seven wkts.
1905	Drawn	1932	Drawn
1906	Rugby won by 227 runs	1933	Rugby won by 168 runs
1907	Rugby won by 84 runs	1934	Rugby won by nine wkts.
1908	Marlborough won by 200 runs	1935	Drawn
1909	Marlborough won by six wkts.	1936	Drawn
2202	THE TOTAL WALS.	1937	Drawn
		1937	Diawii

Since 1870, all the matches have been played at Lords. Of the 80 matches Rugby have won 37 and Marlborough 24. Eighteen have been drawn and one abandoned.

CHELTENHAM v. HAILEYBURY

At Lords, July 30, 31.

Cheltenham won by seven wickets. Victory went to the side superior in every department—tactics, batting, bowling and fielding. Despite a hat-trick at 132 by Jones, Cheltenham indulged in a feast of run-getting and, declaring at tea-time, succeeded in taking five Haileybury wickets for 84 runs before the first day's play ended. Brooke-Taylor batted soundly in each innings. The bowling of Geary stood out as the best individual performance of the match. He kept a good length at medium pace, varied his flight cleverly and, above all, wrought destruction with a wisely used "yorker." With this type of delivery alone he bowled six batsmen. Following a good display in the first innings, Jones was promoted to open when Haileybury followed on and his stand of 79 with Harrison looked likely to avert defeat but a deadly spell by Geary, in which he took the first six wickets for 26 runs, swept aside any hopes of Haileybury saving the game.

Cheltenham		
Mr. S. C. S. Farmer b Jones 6 — b H-Smith	17	
Mr. D. C. Brooke-Taylor c Robey b		
Harrison	34	
Mr. C. J. H. Paget c and b Jones 47 — b Harrison	0	
Mr. H. F. Stevens b Jones 0 — lbw b Harrison	4	
Mr. C. R. Bourne c H-Smith b Jones 0 — not out	8	
Mr. D. Ruttledge c H-Smith b Harrison 44		
Mr. S. Shelley b Jones		
Mr. P. B. C. Moore not out 26		
Mr. P. G. Geary not out	-	
B 19, 1-b 3, w 3, n-b 10	5	
0		
Seven wkts., dec. 341 Three wkts.	68	
Mr. A. J. Briggs and Mr. D. S. Wallace-Hadrill did not bat.		

48 26 10

11

Haileybury
Mr. N. S. Harrison Ibw (N) b Geary 21 - b Geary 35 Mr. P. Burridge b Geary 0 - Ibw b Geary 1 Mr. W. J. H. Shephard b Ruttledge 15 - b Geary 10 Mr. W. A. W. St. George b Geary 0 - c Geary b Briggs 33 Mr. P. J. Barton c Geary b W-Hadrill 45 - b Geary 12 Mr. R. B. Robey b Briggs 11 - Ibw (N) b Geary 26 Mr. K. P. Bolton Ibw (N) b Geary 5 - c Moore b W-Hadrill 26 Mr. R. D. Jupp c Geary b Briggs 4 - b Geary 11 Mr. O. D. Fisher st Farmer b Briggs 1 - b Geary 31 Mr. G. Y. Hildick-Smith b W-Hadrill 21 - not out 7 B 2, 1-b 1, n-b 8 11 B 12, 1-b 3, n-b 6 21
174 233
Haileybury Bowling
Overs Mdns. Runs Wkts. Overs Mdns. Runs Wkts. Harrison 26 9 45 2 8.2 1 33 2

Harrison Jones Jupp Hildick-Smith Shephard	21 13 18	Mdns. 9 6 4 0 2	Runs 45 48 43 58 105	Wkts.	3	Mdns. 1 0 0 1	Runs 33 18 9 3	Wkts. 2 0 0 1
Fisher	3	1	7	ő				

Cheltenham Bowling

Chettermann D	Onme								
Geary	16	5	27	4		27.1	5	79	8
Wallace-Hadrill	12.5	2	26	2		8	1	26	1
Bourne	4	0	19	0		7	1	30	0
Ruttledge	8	1	30	1		11	2	37	0
Stevens	3	0	24	0					
Briggs	12	0	36	3		9	0	40	1
Moore	3	2	1	0	Dominal Contr				
	Umpires	: D. H.	. Tregear	and	1 E. H.	Sweetl	and.		

RESULTS OF CHELTENHAM AND HAILEYBURY MATCHES

i	RESULTS OF CHELIENHAM .	AND E	ALEIBURI MAICHES
1893 1894	Drawn Cheltenham won by 1 run	1913	Haileybury won by an innings and 217 runs
1895	Drawn	1914	Drawn
1896	Drawn	1919	Cheltenham won by eight wkts.
1897	Haileybury won by 238 runs	1920	Drawn
1898	Haileybury won by seven wkts.	1921	Cheltenham won by 66 runs
	Haileybury won by an innings	1922	Drawn
10001	and 45 runs	1923	Drawn
1900	Haileybury won by 116 runs	1924	Cheltenham won by eight wkts.
1901	Haileybury won by three wkts.	1925	Drawn
1902	Cheltenham won by 186 runs	1926	Drawn
1903	Cheltenham won by 49 runs	1927	Haileybury won by an innings
1904	Haileybury won by an innings	27.21	and 3 runs
1704	and 41 runs	1928	Drawn
1905		1929	Cheltenham won by 185 runs
1906	Cheltenham won by 167 runs	1930	Haileybury won by 12 runs
1907	Cheltenham won by an innings	1931	Cheltenham won by 161 runs
2301	and 51 runs	1932	Haileybury won by an innings
1908	Drawn		and 40 runs
1909	Drawn	1933	Haileybury won by ten wkts.
1910	Cheltenham won by an innings	1934	Haileybury won by eight wkts.
1710	and 3 runs	1935	Cheltenham won by 189 runs
1911	Haileybury won by six wickets	1936	
1912	Haileybury won by 11 runs	1937	Cheltenham won by seven wkts.

Of the 41 matches Cheltenham have won 14 and Haileybury 14, the other 13 being left drawn.

† Played at the Crystal Palace

LORD'S SCHOOLS v. THE REST

At Lords, August 2, 3.

Lord's Schools won by 43 runs. Two well-matched sides provided a fine game. When four men were out for 46, Mann combined sound defence with admirable pulls and drives until cleverly caught. He hit fifteen 4's and Scott, who drove well, stayed with Mann while the eighth stand yielded 110. The Rest lost six wickets for 96 by tea, but Proud, hitting one 6 and eight 4's, drove the slow bowlers with assurance and brought about a recovery. In their second innings Lord's were more consistent and Elliot and Holt both batted attractively. The Rest tried nine bowlers, but only Falkiner and Shirreff commanded much respect. Glennie and Webb gave the Rest a satisfactory start by scoring 46, but Scott and Mann (both slow) bowled with effect. Sharp hit well and Shirreff shaped so confidently that the Rest seemed likely to save the match but he sacrificed his wicket in going for a sharp single. Both Glennie and England kept wicket in most efficient style.

Both Glennie and England kept wicket in most efficient style.	
Lord's Schools Mr. N. S. Harrison (Haileybury) c Webb b	
Lubbock	. 20
b Falkiner	1
Stone	45
Falkiner 12 — run out 12 — run out Mr. J. P. Mann (Eton) c Webb b Shirreff 91 — c Glennie b Shirreff 9 — b Shirreff 9 — b Shirreff	27
Mr. R. M. England (Eton) hit wkt b Norton 5 — c Lubbock b Falkiner Mr. E. K. Scott (Clifton) c Norton b Sharp 47 — c and b Shirreff Mr. W. G. Stewart (Harrow) c Shirreff b	35
Lubbock 6 - c Glennie b Lubbock	. 4
The Rest 217	243
Mr. M. S. Glennie (Sherborne) b Stewart . 14 — run out	. 30
Thompson b Kershaw	. 1
Stewart 0 — b Scott	. 3
Kershaw	
Mr. C. W. S. Lubbock (Charterhouse) st	
England b Scott	. 2
Ruane	. 5
Mr. F. Falkiner (Radley) b Kershaw 3 — c Holt b Kershaw Mr. H. A. L. Stone (Weymouth) not out . 0 — not out	. 17
B 16, 1-b 5 21 B 9, 1-b 1, w 1	-
The Rest Bowling	219
Lubbock 7.5 3 29 2 15 4 43	Vkts.

11

Falkiner

Shirreff Norton

Dickinson....

Sharp

Two wkts. 52

Lord's Schools Bowling

Ruane	12	2.	36	2	 7	1	18	0
Stewart	14	2	39	2	 13	2	38	0
Harrison	5	ī	17	1	 17	1	54	0
Kershaw	8.4	2	30	4	 8.1	2	16	1
Scott	14	2	41	1	 21	6	32	4
Mann	3	1	14	0	 11	1	50	3

Umpires: D. H. Tregear and E. H. Sweetland.

THE ARMY v. THE PUBLIC SCHOOLS

At Lords, August 4, 5,

The Army won by six wickets. A patient innings lasting 3 hours by Thompson, who excelled in clever placing of strokes, gave the Schools a satisfactory start, but The Army were more consistent. Hudson played admirably against good length bowling and, very strong on the leg side, he hit fifteen 4's. Scott bowled leg breaks cleverly for the Schools and he showed his ability as an all-rounder by driving and cutting attractively in each innings. When the Schools had lost six men for 100, Mann and Scott put on 106, and Mann, who began cautiously, made some fine hits before setting his opponents to score 178 in less than two hours. Helped by mistakes in the field, The Army accomplished the task with only seven minutes of ever the left. extra time left.

The Public Schools

Mr. J. R. Thompson (Tonbridge) b Myburgh	irgh 13	
Mr. R. A. A. Holt (Harrow) c Robins b Melsome		
Mr. R. B. Proud (Winchester) c Hayles b Myburgh		
Mr. C. W. S. Lubbock (Charterhouse) c Hayles b Straubenzie		
b Melsome 6 — st Hayles b Melso Mr. F. Falkiner (Radley) b Myburgh 1 — not out	2	
The state of the s	wkts., dec. 215	
The Army		
Mr. C. P. Hamilton b Lubbock 2 Capt. L. T. Grove c Glennie b Shirreff 20 — c Falkiner b Lubb Mr. J. R. Rawlence lbw (N) b Shirreff 7 — lbw b Lubbock . Mr. R. E. H. Hudson c and b Lubbock . 101 — lbw b Falkiner . Mr. W. A. R. Sumner b Scott . 16 — not out	32 31 17	
Mr. H. H. Van Straubenzie b Mann 29 Mr. B. R. M. Hayles c Glennie b Scott 29 Mr. E. S. Cole not out 57 Mr. C. J. Myburgh c Holt b Mann 0 B 11, 1-b 4, w 2 17 B 12, 1-b 8, n-b	1 21	

The Army Bowling

Myburgh Cole Robins Melsome Straubenzie	18 19	Mdns. 4 3 1 3 1	Runs 64 62 80 41 13	Wkts, 4 0 2 3 1	4.4	Mdns. 5 2 1 0 0	Runs 44 45 63 35 18	Wkts.
The Public S	chools	Bowlin	ng 46	2	11	2	37	3

			23					
Lubbock	16	6	46	2	 11	2	37	3
Shirreff	21	9	49	2	 8	1	37	(
Falkiner	28	7	82	0	 12	1	43	- 1
Scott	25	11	52	4	 12.2	1	40	(
Mann	10	0	67	2				

Umpires: A. Fowler and E. H. Sweetland.

ROYAL NAVY v. THE ARMY

At Lords, August 13, 14.

Drawn. Less than an hour's cricket was possible in this match, not a ball being bowled on the second day.

The Army

Capt. L. T. Grove (R.E.) not out 23 Capt. R. G. W. Melsome (Northern Regt.), c H-Martin b Borgnis 4	Mr. J. R. Rawlence (R.E.) c Coachafer b Borgnis 1 Capt. R. E. H. Hudson (R.A.) not out

Capt. G. J. Bryan (R.E.), Mr. C. P. Hamilton (R.H.A.), Capt. G. S. Grimston (Queen's R.R.), Capt. W. V. H. Robins (King's Own), Capt. E. S. Cole (Royal Signals), Capt. J. G. Leaf (15/19th Hussars) and Mr. C. J. Myburgh (Worcester Regt.) did not bat.

Royal Navy

Commdr. R. J. Shaw, Surgn.-Lieut. C. J. P. Pearson, Mid. A. L. S. S. Thackara, Sub-Lieut, J. E. Manners, Lt.-Commdr. R. N. Kennedy, Lieut R. P. Borgnis, Commdr. T. E. Halsey, Sub.-Lieut. J. A. Coachafer, Lieut. D. E. Hodland-Martin, Mid. M. G. R. Lumby and Lt.-Commdr. J. H. Plumer.

Royal Navy Bowling

	Overs	Mans.	Runs	WKts
Borgnis	9	1	20	2
Lumby	6	0	12	0
Plumer		1	8	0
Coachafer	3	1	8	0

Umpires: E. H. Sweetland and J. Powell.

Average

26.73

PUBLIC SCHOOL AVERAGES

The name of the captain is indicated thus †
Innings marked * are not out

ALDENHAM SCHOOL

Innings Not outs Runs Highest inns.

Batting

B, H. McCorkell J, A. Mence F, G, Berkeley A, P, Bowman P, L. Hobson H, E. N, Starr F, I. Watson T, G, Argile R, A. Sprent †K, D, Cryer	15 15 12 14 6 6 15	0 1 0 3 0 0 0 0 0 0 0 3 3		401 319 239 141 194 77 71 164 • 61 45		10		22.78 15.93 15.66 13.85 12.83 11.83 10.93 8.71 5.40
Bowling P. J. Luxton P. L. Hobson R. A. Sprent F. G. Berkeley A. P. Bowman	Overs 114 118 117 89 161	Maide 15 22 9 11 36	::	Runs 281 362 417 336 354	w	rickets 19 23 25 20 21		Average 14.78 15.73 16.68 16.80 16.85
Batting J. L. Alexander G. H. M. Riddell †R. Allsop E. D. Pennington A. Allen B. C. R. Smith S. F. Jones E. M. D. MacCormick N. H. Smith	Innings 11 13 13 13 12 9 14 6 13	Not 3		Runs 277 363 325 256 210 118 182 55 126	High	82 97 57* 57* 50 48* 43* 19*	ns.	Average 34.62 33.00 27.08 23.27 19.09 16.85 14.00 13.75 9.69
Bowling A. Allen B. C. R. Smith T. E. Jones.	Overs 106.3 145.5 91.2	Maid 16 3: 1	5 3	067	.: ·	Vicket: 36 36 20	s 	Average 8.61 9.05 13.35

ALL HALLOWS SCHOOL

Batting	Innings	Not outs			Runs	Highest inns.			Average
A. N. McKelvie	13		4		297		62		33.00 26.54
G. Langton	13		2		292 238		122*		23.80
A. J. Crocker	12	***	0	• •	302		69		21.57
†P. G. Tyler			3		169		55		16.90 15.00
A. T. Hill			1		195		55* 47	• •	11.42
R G. Clarke	14		0		160 75	• •	16	::	9.37
T. FitzGerald	10		2		13		10		

730	Public	School	Cricket	in 1937	

18	Runs 443	• •	Vicket 32		Average 13.84
			32		
	000				
	286		14		20.42
	622		27		23.03
	344		13		26.46
	496		12		41.33
		622	622 344	622 27 344 13	622 27 344 13

AMPLEFORTH COLLEGE

Batting									
	Innings	N	ot or	its	Runs	Hig	hest in	ns.	Average
C. J. Ryan	7		2		143		53		28.60
†P. J. Wells	14		1		360		68*		27.69
R. N. Cardwell	14		3		204		35		18.54
A. M. Mahony	14		1		249		103*		19.15
G. V. Garbett	10		0		141		30		14.10
J. W. Greenish	12		0		155		49		12.91
M. A. Sutton	10		3		89		26*		12.71
T. E. Redfern	15		1		176		28		12.57
J. M. S. Horner	11		2		109		36*		12.11
C. I. Walter	12		3		104		35*	• •	11.55
Bowling									
3	Overs	N	Taide	28	Runs	1	Wicket	S	Average
C. J. Ryan	61		13		169		12		14.08
M. A. Sutton	147		19		499		35		14.25
J. M. S. Horner	179		48		397		24		16.54
R. N. Cardwell	161		33		431		22		19.59
P. M. Carroll	96		15		313		14		22.35

ARDINGLY COLLEGE

Batting									
	Innings	N	ot or	its	Runs	Hig	hest in	ns.	Average
B. G. Wallwork	14		3		353		88		32.08
P. C. Hann	14		1		365		68*		28.07
P. C. Burkitt	13		5		176		- 39*		22.00
C. R. Sims-Reeve	14		0		261		68		18.64
N. L. Palmer	14		2		205		51		17.08
†R. C. Warde	14		0		143		47		10.21
R. E. Welford	14		1		115		27		8.84
P. G. Gadd	8		0		70		26		8.75
P. T. Giblett	14		0		105		28		7.50
Bowling									
	Overs	M	faide	ns	Runs	1	Wicket	S	Average
P. C. Hann	213		44		597		46		12.97
T. C. Thorpe	197		45		633	4	34		18.61
R. C. Warde	102		9		499		25		19.96
P C Burkitt	71		14	-	203		10	0.5050	20.30

BANCROFT'S SCHOOL

Patting

Datting										
	Innings	ings Not outs			Runs	Hig	hest in	Average		
H. A. van Amme	10		0		354		64		35.40	
J. A. McKerrow	11		0		182		62		16.54	
J. G. Drury	11		0		179		41		16.27	
R. P. Spencer	11		1	70070	158		59		15.80	
R. E. Lindsay	11		ō		149		35		13.54	
K. C. Stride	îî		1		132		30		13.20	
N. Jones	11		1		112		39		12.20	
V. Blackman	5		1				27*		10.00	
V. Blackman	5		1		40		27*		10.00	

Bowling								
J. G. Drury	Overs			Runs	V	Vicket 18		Average 16.38
R. E. Lindsay	152.2	::	37	 404		23	::	17.56

BEAUMONT COLLEGE

	Innings	N	ot or	its	Runs	Hig	hest in	ns.	Average
P. J. Gompertz	16		3		265		75*		20.38
H. E. Cashin	16		1		236		56		15.73
K. M. Nixon	16		5	1202	172		27		15.63
H. Pritchard	15		0		234		50		15.60
J. Cashin	16		1		211		70*		14.06
†W. J. Goldsmith	15		ī		189		33		13.50
J. D. Ruane	9		1		98		23		12.25
M. Fuller	6		1		54		20		10.80
C. J. Tyndall	14		0		150		34		10.71
A. Rigby	10		0		92		20		9.20

1	Sowling									
		Overs	N	Taider	18	Runs	1	Vicket	S	Average
J	. D. Ruane	245.5		49		737		46		16.02
(J. Tyndall	212		38		690		38		18.15
ŀ	C. M. Nixon	142	٠.	22		491		21		23.38

BEDFORD SCHOOL

Batting

	Innings	N	ot ou	its	Runs	Hig	hest in	ns.	Average
C. L. Oakley	14		1		503		109*		38.69
J. G. Doubleday	13		2		377		80		34.27
E. H. Walshe	15		2		340		57		26.15
†A. E. Cook	11		1		236		55		23.60
J. B. H. Daniel	12		1		204		42		18.54
C. R. Feilden	8		3		92		25*		18.40
P. M. Vasey	11		1		178		53		17.80
J. H. Sherrey	14		3		166		67*		15.09
A. C. Fitt	11		2		115		20		12.77
Daveling									

9	Overs	N	Laider	Runs	1	Vicket	S	Average
J. M. C. Roberts			28	 289		25		11.56
T. J. Cooke	114		16	 475		24		19.79
A. E. Cook	156		26	 546		26		21.00

BEDFORD MODERN SCHOOL

Batting										
†D. W. Jacobs	Innings	N	ot ou		Runs 279		hest in		Average 27.90	
E. B. Litchfield	11		1	• •	229		57		22.90	
D. L. Darlow	9		0		156	• •	50	• •	17.33	
Bowling										
E. J. Woodsend	Overs	IV.	Taide	-	Runs		Vicket	-	Average	
D. W. Jacobs.	18.2 168.3	• •	49	• • •	51 400	• • •	40	::	8.50 10.00	
P D Hawkee	23		2		0.4		-		10.00	

BELVEDERE COLLEGE, DUBLIN

Batting									
	Innings	N	lot or	its	Runs	Hig	hest in	ns.	Average
J. A. Byrne	17		1		469		94		29.31
L. P. Sumerling	13		1		316		70	٠.	24.33
K. Quinn	11		4		114		26		16.28
B. T. Quinn	17		1		180		50*		11.25
J. Murphy	10		2	• •	88	• •	34*	• •	11.00
Bowling									
Downing	Overs	×.	Iaider		Runs	7	Vickets		Average
W. McCullagh	218.1	IV	62		450		53		8.49
B. T. Quinn	173.4		45		397	::	44	::	9.02
R. Cusack	52.4		8		121		13		9.30
K. Quinn	48.4		21		133		14		9.50
J. McDonagh	58.2		8		178		16		11.12

BERKHAMSTED SCHOOL

Batting									
	Innings	N	lot ou	its	Runs	Hig	hest in	ns.	Average
†P. N. Dix	14		-1		405		153		31.15
J. R. E. Dixon	16		1		404		90		26.93
G. M. Jelley	16		1		311		66		20.73
P. Isherwood	13		0		241		47		18.53
V. L. Parham	îĭ	::	4		100		25		14.28
J. R. Edwards	15		0		210		54		14.00
R. D. McE. Hart	13		1		160		40		13.33
P. G. Petherbridge	13		-		139		34		12.63
	14		2		152		28		11.69
G. H. Campbell		٠.	1		64		27		10.66
R. G. Seccombe	7		1				19*		8.77
R. Pennington	12		3		79				
W. A. R. Daly	9	٠.	1		56		22*	***	7.00
Bowling									
	Overs	N	Taide	ns	Runs	7	Wicket	s	Average
R. Pennington	229		25		841		57		14.75
P. N. Dix	176		24		578		26		22.23
G. H. Campbell	70		6		261		10		26.10
V. L. Parham	78		8		276		10		27.60
P. Isherwood	113		27		355		12		29.58
	110				200		~ ~		

BISHOP'S STORTFORD COLLEGE

	N NI	C 7 7 7	AA C	D. M. W. W.	COLLEGE					
Batting										
	Innings	N	ot or	its	Runs	Hig	hest in	ns.	Average	
G. J. Adams	12		2		602		112*		60.20	
							91*	-	40.63	
†L. E. McLean	13		2		447					
J. D. P. Stirling	13		1		305		75*		25.41	
P. W. Meen	12		2		185		69		18.50	
J. Ferguson	6		0		81		23		13.50	
D. G. Pascall	9		2		93		32		13.28	
C. G. Smith	11	٠.	1	• •	110	•	52		11.00	
Bowling										
ADO HIME	_				77	4	¥71-84		A	
90.0 D MARY 2000	Overs	IV.	laider	18	Runs	,	Vickets	5	Average	
J. A. Harris	146.3		35		397		34	****	11.67	
L. E. McLean	116		38		331		22		15.04	
E. L. H. Jones	119.4		26		313		18		17.38	
	63		10		206		11		18.72	
J. D. P. Stirling	151		23		405		21		19.28	

BLUNDELL'S SCHOOL

Batting		* *				TT!			100000
	Innings	N	ot ou	ts	Runs	1112	hest in	ins.	Average
†I. Harper	15		2		698		145*		53.69
B. A. Smith	11		2		318		102		35.33
D. A. SHILLI			2						
C. G. B. Gidley	11		2		277		68		30.77
C. G. Parsons	13		0		392		104		30.15
G. J. Habgood	15		2		330		86		25,38
B B Bloom			3		134		30		16.75
P. P. Bloy	11		3						
A. D. Wood	12		1		163		49		14.81
D. G. Hogg	13	٠.	2		140	٠.	38		12.72
Bowling									
0	Overs	n/	Taider	10	Runs		Wicket	c	Average
D D Diam		TAY	13		643		41	_	15.68
P. P. Bloy	150.5								
B. A. Smith	62.5		2		248		12		20.66
F. S. Jeffreys	146		23		500		21		23.80
C. G. B. Gidley	107		11		495		18		27.50
T. W. E. Corrigan	157		24		598		14		42.71

BRADFIELD COLLEGE

101	TAY TAY N. T			· Cal	ALLE CELL				
Batting	T .				70	TY!.	1 4 1		A
	Innings	1	lot ou	its	Runs	Hig	shest in	ns.	Average
J. R. B. Wright	14 16		3		413		67*	• •	37.54 26.06
P. J. Cave-Bigley	16		ō		333		69		20.81
G. Paine	10		2		138		58*		17.25
D. C. Pothecary	14		0		229		48		16.35
M. Paine	13		2		153		39		13.90
G. F. Gutteridge	5		0		66		34		13.20
R. E. Henshaw	15		1		163		44		11.64
P. J. Kenward	9	• •	2		79	• •	25		11.28 9.00
J. N. Taylor	3		1		18		15* 14*		8.00
N. S. P. Evans D. J. Martin		• •	2		56		35		7.08
D. J. Martin	12		0		85	٠.	33		7.08
Bowling									
	Overs	N	Taider	18	Runs	7	Wickets	3	Average
M. Paine	152.5		39		421		32		13.15
H. A. Collins	186.4		34		645		32		20.15
R. E. Henshaw	210.2		41		689		25		27.56

BRIGHTON COLLEGE

Batting									
270000000	Innings	N	ot or	its	Runs	Hig	hest in	ns.	Average
L. E. Grose	13		3		438		130*		43.80
†A. K. Sharp	13		1		411		100*		34.25
I. Wallace-Cox	13		1		335		53		27.91
C. K. Thompson	11		2		228		58		25.33
S. I. Philips	13		0		253		71		19.46
V. O. G. Smyth	9		1		154		36		19.25
N. F. K. Wilson	9		5		73		39		18.25
G. G. Arnold	12		0		180		72		15.00
F. Mayorga	8		0		56		20		7.00
Bowling									
	Overs	N	faide	ns	Runs	1	Wicket	S	Average
R. H. Braybon	180.1		33		556		43		12.93
I. Wallace-Cox	163.3		36		537		25		21.48
S. I. Philips	104		17		347		13		26.69
N. F. K. Wilson	83		5		353		12		29.41

BROMSGROVE SCHOOL

†G. J. G. Hake 9 1 362 116* I. A. Jones 8 2 164 42* E. J. H. Williams 12 4 188 48 R. A. Gordon Smith 12 1 184 42 J. F. Hoare 12 3 137 34*	
I. A. Jones 8 2 164 42* E. J. H. Williams 12 4 188 48 R. A. Gordon Smith 12 1 184 42 J. F. Hoare 12 3 137 34*	Average
I. A. Jones 8 2 164 42* E. J. H. Williams 12 4 188 48 R. A. Gordon Smith 12 1 184 42 J. F. Hoare 12 3 137 34*	45.25
E. J. H. Williams 12 4 188 48 R. A. Gordon Smith 12 1 184 42 J. F. Hoare 12 3 137 34*	27.33
R. A. Gordon Smith	23.50
J. F. Hoare 12 3 137 34*	16.72
	15.22
	13.66
H. L. Warburton 11 0 144 27	13.09
11. 1. 11. 12. 12. 12. 12. 12. 12. 12. 1	12.18
	11.70
	7.85
J. B. Turner 9 2 55 17	1.85
Bowling	
Overs Maidens Runs Wickets	Average
G. J. G. Hake	13.30
C. C. J. Forge 126.2 18 362 27	13.40
	16.13
	26.18
H. L. Warburton 90.4 9 288 11	20.10

CAMPBELL COLLEGE, BELFAST

Innings Not outs Runs Highest inns. Average

tJ. S. Pollock	17		5		666		115*		55.50	
A. H. W. Ball	16		2		294		73		21.00	
J. T. Shepherd	15		3		207		60		17.25	
A. R. Megaw	12		2		131		31		13.10	
W. M. Sweeney	12		1	-	134		39		12.18	
G. W. Houston	6		4		22		14*		11.00	
J. W. Huet	13		2		104		21		9.45	
				• •					8.88	
N. G. Aldardice	12		3		80		14			
T. T. Fulton	10	• •	0	• •	72	• •	22	• •	7.20	
Bowling										
Too Harris	Overs	3.0	aider	10	Runs	*	Wickets	,	Average	
~ *** ** .				15		- 1	58		10.12	
J. W. Huet	229.3		50		587					
T. T. Fulton	124.1		36		277		27		10.25	
A. H. W. Ball	31		5		111		10		11.10	
W. M. Sweeney	57.4	200	12		176		14		12.57	
S. H. C. Fraser	160.1		42		345		27		12.77	
J. S. Pollock	81	-	14		265		14		18.92	

CANFORD SCHOOL

Batting B. M. Roberts †R. Huggins. D. B. Yorke-Long A. U. G. Noble. G. N. E. Powell	Innings 16 18 18 12 18	N	ot ou 5 0 2 1 3	ts	Runs 359 539 286 195 256	High	hest in 123* 100 82 57 69*	ns.	Average 32.63 29.94 17.87 17.72 17.06
Bowling M. A. Ritchie D. de W. Waller J. H. Pennock R. D. French	Overs 227 179 140 273		Taider 33 27 4 40	ns 	Runs 714 520 624 926		Vicket 40 29 31 40	s 	Average 17.85 17.93 20.12 23.15

CHARTERHOUSE SCHOOL

Batting	Innings	1	lot o	ıts	Runs	Hig	hest in	ıns.	Average
P. W. Coggins	6		3		142		45		47.33
P. F. Beane	15		0		596		92		39.73
C. W. S. Lubbock	15		2		494		125*		38.00
G. L. Morgan	5		2		81		23*		27.00
J. A. Crompton	14		1		342		76*	• •	26.30
A. B. Allen	îi		1		259		70		25.90
†P. C. Weeks	15		1		340				24.28
D. D. Crofts							46		
D. D. Ciolis	14		0		273		129		19.50
A. K. Hughes	14		0		256		48		18.28
G. W. Rothery	5		1		63		40		15.75
H. C. N. Oulton	9		2		94		37		13.42
Bowling	Overs	3	faide		Duma	*	Wicket		A
		TA		18	Runs			S	Average
J. H. H. Knight	93.5		24		306		19		16.10
C. W. S. Lubbock	245.3		58		759		39		19.46
H. C. N. Oulton	137.5		13		519		18		28.83
G. W. Rothery	92		16		325		11		29.54

CHELTENHAM COLLEGE

Ratting

Dating	innings		NOT OU	IES	Kuns	1111	ghest 11	nns.	Average
P. B. C. Moore	15		5		331		87		33,10
D. C. Brooke-Taylor	16		1		381		109		25.40
P. G. Geary	10		4		151		36*		25.16
†H. F. Stevens	18		- 4		376		74		22.11
C. J. H. Paget	17		4		336		60		21.00
D. Ruttledge	15		0		268		60*		20.61
C. R. Bourne	17	::	1		288		54		18.00
A. J. Briggs	9		2		105		38		17.50
S. Shelley	15		4		224		60	• •	16.00
S. C. S. Farmer	13	• •	0	• •	158		35		12.15
C. V. R. Barry	14		A						7.90
C. V. R. Dally	14		4		79	***	16		7.90
V2 11									
Bowling	Overs	1	Maiden	S	Runs	1	Vicket	3	Average
P. G. Geary	253.4		75		560		49		11.44
C. R. Bourne	101		15		301		14		21.50
P. B. C. Moore	85		4 4		280		12		23.33
A. J. Briggs	66		0		236		10		23.60
H. F. Stevens	87		20		298		12		24.83
C. V. R. Barry	76		. 0		278		11		25.27
C. V. It. Dully	10				210		4.1		die Jaka 2

CHRIST'S HOSPITAL

	TAILTO P		IIU	医 其[7]	I CLL				
Batting	Innings	1	Not o	uts	Runs	His	hest in	ins.	Average
J. S. G. Walenn	13		1		343		105		28.58
N. L. Ilett	13		1		280		129*		23.33
C. A. Watkins	12		2		162		53		16.20
M. B. Peal	12		0		189		81		15.75
G. W. Cornish	16		0		246		61		15.37
G. E. Dodd	10		3		99		33*		14.14
J. A. Cotton	12		1		147		83*		13.36
†G. R. Mason	14		ô		182		30		13.00
J. G. Davies	8		3		44		17		8.80
R. F. Lilley	12		ő		88		16		7.33
za z zmej	12	• •	•	• •	00		10	• •	7.55
Bowling	Overs	Α.	Taide		Runs	7	Wickets	,	Average
		IV		18		,		•	
G. E. Dodd	131.5		19		450		29		15.51
T. R. B. Jones	59		2		287		18		15.94
N. L. Ilett	189.3		33		615		35		17.57
A A Rose	72		11		241		11		21 00

CITY OF LONDON SCHOOL

O	-	_	1000						
Batting †D. M. Chapman J. P. McGlashan J. D. Fraser D. G. Harman P. C. Pillow B. J. Jackson R. A. Shaddick M. D. Dale A. L. Garrett A. B. Lee	Innings 15 15 12 13 15 13 10 15 11	N	ot ou 2 1 2 0 0 2 4 2 2 3	its	Runs 583 289 161 195 179 125 62 115 78 52	High	hest in 120* 103* 28 73 38 28* 21 44 22 15*	ns	Average 44.84 20.64 16.10 15.00 11.93 11.36 10.33 8.84 8.66 7.42
Bowling D. M. Chapman J. D. Fraser R. A. Shaddick M. D. Dale J. P. McGlashan	Overs 26.4 108.2 172.1 146.5 88		1 15 34 28 8	ns	Runs 108 322 523 460 339		Vicket 11 31 45 28 10	s 	Average 9.81 10.38 11.62 16.42 33.90

CLIFTON COLLEGE

Batting	Innings	N	ot or	its	Runs	Hig	hest in	ns.	Average
†E. K. Scott	18		1		546		91		32.11
A. R. Mutter	18		1		512		79		30.11 22.73
G. A. Gibbs	16		1		341		59	• •	21.40
P. Kinnersley	8		3		107		40*		19.50
R. J. G. Heaven	19		1		351		100*		19.30
R. C. R. Williams	17		1		310		79 33*		15.46
D. F. Callander	17		2		232				16.06
P. A. Wilson	17		2		241		76		14.37
C. E. N. Hooper	12		4		115		30 19*		7.11
W. I. Cleghorn	13		4	• •	64	• •	19*		7.11
Bowling	Overs	M	[aide:	ns	Runs	7	Vickets	S	Average
E. K. Scott	394.1		81		917		79		11.60
W. I. Cleghorn	177.3		35		529		28		18.89
P. A. Wilson	63		9		197		10		19.70
A. R. Mutter	122.2		21		371		16		23.18 27.11
H. B. MacLellan	150.3		24		461		17		27.11
R. J. G. Heaven	112.2		11	• • •	356		13		21.30

CRANLEIGH SCHOOL

	HET PT AND	-							
Batting	Innings	N	ot ou	its	Runs	Hig	hest in	ns.	Average
G. K. Neale	10		3		198		49		28.28
G. R. Skinner	12		0		302		112		25.16
N. T. Atkinson	8		0		144		70		18.00
H. K. Rose	11		0		185		69		16.81
P. Hunt	12		0		198		50		16.50
N. A. Pears			1		179		39		16.27
R. J. C. Higgins			0		107		29		15.28
D. C. Baker			3		71		41		14.20
K. F. Prebble			1		99		25		11.00
P. W. Hutchings			0		52		15		10.40
R. G. Armstrong	-		0		35		19		7.00
			1		60		2.2		6.66
†J. Turner	10			• •	00	-			
W 74					200		*** * .		A
Bowling	Overs	N	Laider	18	Runs	,	Wicket		Average
J. Turner	219		44		645		33		19.54
G. R. Skinner	102		10		448		15		29.86
D. C. Baker			4		381		11		34.63

DEAN CLOSE SCHOOL, CHELTENHAM

Batting	Innings	N	ot o	uts	Runs	His	ghest i	nns.	Average
†J. D. Wakeling	12		1		343		65*		31.18
W. H. R. Jones	13		2		282		98*		25.63
B. E. Jones	12		2		238		41		23.80
J. L. Wigley	11		1		231		84		23.10
P. R. Gibson	13		2		161		50*		14.63
J. P. P. Crawford	12		0		133		33		11.08
E. L. Jones	11		0		97		39		8.81
F. N. Johnston	8		2		52		11		8.66
T)1:									
Bowling									

	Overs	IV	Taide	ns	Runs	1	Vicket	S	Average
B. E. Jones	161.3		39		480		37		12.97
J. P. P. Crawford	91.5		20		286		19		15.05
J. L. Wigley	66		13		174		10		17.40
W. H. R. Jones	70		7		269		14		19.21

DENSTONE COLLEGE

Batting

	Innings	N	ot or	its	Runs	Hig	hest in	ns.	Average
J. H. G. Deighton	10		5		210		52		42.00
D. H. Burrow	15		2		500		106*		38.46
R. F. K. Innes	15		3		310		68		25.83
R. M. Watson	13		1		266		78		22.16
†B. H. Pegler	10		1		166		45		18.44
F. J. P. Wardell	11		2		140		32*		15.55
F. G. T. A. Dickson	14		2		175		48		14.58
M. P. Jones	13		1		170		63		14.16
J. M. Campbell	8		1		88		36		12.57
Dawling									

	Overs	Taide	as	Runs	1	Vicket	S	Average
B. H. Pegler		 22		331		32		10.34
R. F. K. Innes	222.1	 35		639		47		13.59
J. H. G. Deighton	215.3	50		599		38		15.76

DOVER COLLEGE

Batting

	Innings	N	ot ou	its	Runs	Hig	hest in	ns.	Average
A. Dawes	10		0		453		123		45.30
P. S. Field	9		3		201		62*		33.50
G. C. W. Harland	10		1		276		60		30.66
†W. R. Barrett	10		1		209		58		23.22
N. C. F. Bloy	10		2		133		43		16.62
I. J. G. McCrae	8		1		116		37		16.57
A. March	6		3		43		26*		14.33
A. F. Burton	8		0		108		59		13.50
J. F. Gordon	7		0		89		26		12.71
D. R. Mott	5		2		35		19		11.66
E. B. Dawes	9		0		96		34		10.66
Na.									
Dowling									

Bowling

D. R. Mott	168	 42	 380	 31	 12.25
J. F. Gordon	89	 13	 300	 23	13.04
N. C. F. Bloy	95	 8	 340		
A. March		 12			

Rune

Overs Maidens

DOWNSIDE SCHOOL

Batting R. G. T. Hawkins. †R. L. Masters S. R. D. Bell J. M. H. Pollen P. A. G. Rawlinson R. T. Addington P. E. Y. Dawson M. K. Crowder	Innings 9 9 4 7 8 8 6 5	0	Runs 508 544 63 166 137 151 72 68	Highest Inns 107 116 38*	Average 63.50 60.44 31.50 27.66 22.83 21.57 14.40 13.60
Bowling R. G. Sheridan	Overs 165.2 59 111	3	Runs 448 201 371	Wickets 32 10 13	Average 14.00 20.10 28.53

DULWICH COLLEGE

Batting	Innings	N	ot ou	its	Runs	Hig	hest in	ns.	Average	
†A. C. Shirreff. J. A. Barnett B. E. Collingwood G. R. T. Williams H. P. Gray G. R. Turner J. C. Bartlett D. V. Knight W. O. Thomas T. D. Jones	13 13 13 11 10 13 11 10 8 7		1 3 1 2 1 0 1 2 1 3		501 312 349 236 163 223 165 132 61 30		141* 71* 117* 56* 49 56 52 29 24		41.75 31.20 29.08 26.22 18.11 17.15 16.50 16.50 8.71 7.50	
Bowling A. C. Shirreff T. D. Jones W. O. Thomas D. V. Knight	Overs 271.5 99.3 136.3	 	faide 67 8 12 17	ns 	Runs 736 337 456 260	::	Wicket 52 20 23 12	s 	Average 14.15 16.85 19.82 21.66	

DURHAM SCHOOL

Batting	Innings	N	ot or	uts	Runs	Hig	hest in	ns.	Average
tW. R. Buttle W. D. Orwin G. B. Sylvester D. J. N. Hall J. C. V. Sutton A. D. Cunningham D. R. Forster M. L. Burchnall J. S. Turnbull D. H. Mayhew	11 12 10 12 11 13 9 10 11		2 2 2 0 3 2 2 1 0		262 284 156 218 127 150 97 81 93 38		80 62 32 51 40 42* 27 46 20 17		29.11 28.40 19.50 18.16 15.87 14.63 13.85 9.00 8.45 7.60
Bowling W. D. Orwin D. J. N. Hall D. R. Forster J. Bourchier	Overs 150.3 69 157.1 98		1aide 34 13 32 22	ns	Runs 367 219 446 274	v	Vicket: 31 17 32 14	S	Average 11.83 12.88 13.93 19.57

EASTBOURNE COLLEGE

Batting									
P. C. Horton J. M. D. Grant P. F. Hepburn M. A. Girling D. A. Williams L. D. Empson W. H. Girling D. P. Hepburn B. I. S. Gourlay D. M. Man H. J. D. Collet	Innings 14 6 14 12 11 11 13 14 12 9	N	100 00 00 66 11 00 20 2	its	Runs 481 172 273 206 80 142 152 174 116 96 71	Hig	84 84 74 23 38 37* 40 58* 40 22	ans.	Average 37.00 28.66 19.50 17.16 16.00 14.20 12.66 12.42 11.60 10.66 10.14
Bowling									
L. D. Empson H. J. D. Collet D. A. Williams M. A. Girling	Overs 123.1 124.1 198 167.3	 	13 26 40 21	ns	Runs 441 380 578 547		Wicket 27 23 34 31	is	Average 16.33 16.52 17.00 17.64

EDINBURGH ACADEMY

Datting

batting										
+a ** a -1	Innings	N	ot ou	its	Runs	Hig	hest in	ins.	Average	
†S. H. Cosh	17		2		493		89		32,86	
P. C. Blair	18		1		343		62		20.17	
T. L. Wilson	14		1		213		53		16.38	
C. J. R. Mair	17		0		271		78		15.94	
R. S. C. Aytoun	12		3		116		24		12.88	
M. Waterston	12		3		115		39*		12.77	
O. J. Kerr	14		2		126		48		10.50	
H. A. R. Wilcox	17		0		177		33		10.41	
Bowling										
	Overs	N	faide	18	Runs	7	Vicket	S	Average	
W Roberts	144.5		25		508		42		12.09	
S. H. Cosh	84.1		10		314		17		18.47	
D. C. Smail ,	136.4		29		388		20		19.40	
A. A. B. Scott	95.1		15		313		12		26.08	

EMANUEL SCHOOL

Batting										
S.F. Candan	Innings	N	ot or	its	Runs	Hig	hest in	ns.	Average	
S. F. Gandar	12		1	• •	296 155		76	• •	26.90	
J. W. St. H. Davies	13		1		177	• •	34* 67*	• •	19.37 14.75	
E. D. Page	7	::	Ô		69	::	18	• •	9.85	
J. E. Halligan	14		1		124		42		9.53	
R. V. Pinkham	7	٠.	1		44		26		7.33	
†W. L. Page	13		3	• •	72		27		7.20	
Bowling										
	Overs	N	Taide	ns	Runs	7	Vicket	S	Average	
T. H. Barnes	23.4		5		72		10		7.20	
W. L. Page	190.5 173.3		24		561		47		11.93	
J. E. Halligan	83	• •	35		440 300		31 20	• •	14.19	
R. Burrows	75.1	• •	14	• • •	203	• •	11	• •	15.00	

EPSOM COLLEGE

	EPSO	M	CO	LLE	GE				
Batting	Innings	N	at ou	ts	Runs		est in		Average
E. G. L. Thompson C. R. Knaggs A. B. R. Watts D. J. B. Johnston A. W. Tomlinson V. D. O. Smyth †M. W. Hubble. H. F. Steele-Smith P. A. Soar A. S. Neilson I. Mc. C. Carmichael	11 12 9 12 12 11 13 12		2 0 3 7 0 2 1 0 4 0		314 410 186 137 275 120 153 145 47 126 119		110* 83 37* 53* 73 34 39 36 20 30 25		34.88 33.43 31.00 27.40 22.91 13.33 12.75 12.08 11.75 10.50 9.91
Bowling	Overs	3.4	(aider	10	Runs	V	Vickets	s	Average
M. W. Hubble V. D. O. Smyth P. A. Soar D. J. B. Johnston	154.4 99 134.4 99.2		24 15 21 12		470 299 412 348	::	35 21 21 16		13.42 14.26 19.61 21.75
	ETO	1 (COL	LEC	Œ				
Batting		land.				****			A
†J. P. Mann R. M. England P. A. Walker F. F. T. Barnardo D. L. Curling R. C. de Rougemont J. F. Boughey A. J. Marsham	Innings 14 8 13 13 11 7 13 9		3 3 0 2 1 1 3		Runs 498 204 504 414 352 182 259 108	High	hest in 115* 67* 76 90 125 62* 61 43		Average 45.27 40.80 38.76 37.63 35.20 30.33 25.90 13.50
Bowling	1				70	v	(V) alcat		Awaraga
J. P. Mann S. M. A. Banister H. O. Huntington-Whiteley	Overs 137.1 162 162.2		1aide: 8 41 48	18	Runs 504 377 377		Vicket 28 20 14		Average 18.00 18.85 26.92
	FELS		ED S	CH	OOL				
Batting									
J. Bullough J. V. Sorrell E. W. A. Bostock E. A. S. Manners G. R. C. Single P. H. Palmer R. J. Van Leuven M. W. Wilkes C. R. Young †E. R. G. Sandys R. Crouch	Innings 15 16 8 16 13 16 15 14 6 16 14	N	10 t ou 4 0 2 0 0 0 2 0 0 1 1 7 7		Runs 236 331 91 238 149 154 164 144 45 122 52	Hig	hest ir 52* 57 43 52 38 57 37 34 18 35 12	ins.	Average 21,45 20,68 15,16 14,87 11,46 11,90 10,93 10,28 9,00 8,13 7,42
Bowling		_			Descrip	,	Wicker	t a	Average
E. A. S. Manners	Overs 239.2 159.2 185.4 82.4	 	Maide 76 35 31 15	ns 	Runs 524 485 678 293	::	40 34 44 14		13.10 14.27 15.40 20.92

FETTES COLLEGE

		-	100		177				
Batting					70	***			
	Innings	N	ot or	its	Runs	Hig	hest in	ns.	Average
G. A. Turner	13		1		528		157		44.00
†D. D. Mitchell	14		3		364		84*		33.09
J. A. D. Fordyce	13		1		309		104		25,75
I. G. G. Mitchell	12		3		141		42*		15.66
A. D. R. Smith	8		2		88		43*		14.66
D. R. Haddon	13 5		0		135		47		10.38
I. D. Marjoribanks	5		3		18		7*		9.00
F. E. T. Dann	8		2		45		26*		7.50
Bowling									
- 0	Overs	M	Taide	ns	Runs	7	Wickets	5	Average
I. D. Marjoribanks	86		18		215		19		11.31
D. D. Mitchell	157		37		393		31		12.67
J. A. D. Fordyce	131		22		363		27		13.44
D. M. Orr	71		14		214		15		14.26
I. G. G. Mitchell	83.2		9		303		15		20.20

FOREST SCHOOL

batting										
	Innings	N	lot or	its	Runs	Hig	hest in	ns.	Average	
P. R. D. Wilson	12		0		368		93		30.66	
G. H. A. Wellum	11		2		233		59		25.88	
T. E. Ludlow	12		1		190		58		17.27	١,
†B. C. Hill	12		1		189		35		17.18	
D. H. G. Kidd	12		0		137		33		11.41	
P. W. Dean	9		4		57		13		11.40	
G. Meister	12		1		99		24*		9.00	
J. P. Rivers	9		1		70		27*		8.75	
3.1.107010		- 6								
Bowling										
DOWING					70	Υ.	X71-14	_	A	
()	Overs	IV	Taide	18	Runs	1	Vicket		Average	
B. C. Hill	195.3		33		556		48		11.58	
G. Meister	64.3		12		193	• •	12		16.08	
J. P. Rivers	92		9		277		16		17.31	
D. H. G. Kidd	77.1	14.14	7		393		20		19.65	

GIGGLESWICK SCHOOL

Batting									
0	Innings	N	ot or	its	Runs	His	hest in	ns.	Average
D. T. Cox	16		2		305		150*		21.78
D. M. Ainley	13		2		207		43*		18.81
F. W. Cook	15		2		207		92*		15.92
H. J. Sellers	14		2		178		36		14.83
D. S. Park	16		0		204		67		12.75
D. M. Chadwick	13		3		123		33		12.30
G. P. Roberts	16		1		168		45		11.20
†E. S. Ainley	16		0		159		39		9.93
K. Davidson	9		0		88		41		9.77
H. M. Raffan	10		3		64		21	.0.	9.14
Bowling		A00 10							· managed in

Bowling	Overs	M	[aider	18	Runs	V	Vicket	S	Average
F. W. Cook	180.3		52		432		34		12.70
K. Davidson	47		10		160		10		16.00
P. G. Hirst	52.1		8		192		11		17.45
H. M. Raffan	152.2		32		544		29		18.75
G. P. Roberts	121.5		16		440		18		24.44

GLASGOW ACADEMY

Batting J. W. M. Richmond J. M. Denholm A. Low J. W. Norton f. W. D. Hendry	Innings 12 14 14 13 13	N	ot ou 5 0 1 3	its	Runs 115 216 186 130 124	High	hest in 32 35 79 43* 29*	ns.	Average 16.42 15.42 14.30 13.00 10.33
Bowling W. D. Hendry D. G. Balls J. M. Denholm W. D. Maclean	Overs 157.5 104.5 97 74	.M	Taider 56 37 32 18	ns	Runs 300 191 176 183	v	Vickets 52 26 19 17	S	Average 5.76 7.34 9.26 10.76

GLENALMOND (TRINITY COLLEGE)

Barting	Innings	N	ot ou	its	Runs	High	hest in	ns.	Average
tN. M. Anderson	14		1		455		107		35.00
J. Brown	10		3		120		51*		17.14
H. A. Gordon	14		1	4040	203		49		15.61
D. G. Allan	7		1		93		31		15.50
W. H. Munro	14		1		192		44		14.76
W. R. Kerr	13		2		160		47		14.54
G. A. M. Panton	14		0		164		35		11.71 9.85
I. W. V. Browne	15		1		138		72		9.85
K. P. Walker	6		1	• •	48		19 18		8.50
W. J. Douglas	8		4	• • •	34		18	• •	8.30
Bowling									
	Overs	M	laider	ns	Runs	1	Vicket	S	Average
H. A. Gordon	65		12		201		14		14.35
D. A. Mann	144.1		26		404		27		14.96
N. M. Anderson	110.1		25		290		19		15.26
W. J. Douglas	166.4	• •	21	• •	670		35	• •	19.14

HAILEYBURY COLLEGE

Batting									
	Innings	N	ot ou	its	Runs	High	nest in	ns.	Average
†N. S. Harrison W. A. W. St. George R. B. Robey P. J. Barton W. J. H. Shephard G. Y. Hildick-Smith. K. P. Bolton R. B. Jones O. D. Fisher R. D. Jupp P. Burridge	2 10		2 3 2 2 2 4 1 2 3 0 1		649 383 437 349 328 91 117 152 117 127 150		141 67* 124 67 92 24* 37 40* 31 40 39		49.92 42.55 29.13 29.08 23.42 22.75 19.50 19.00 14.62 14.11 11.53
Bowling	Overs	N	Iaide	าร	Runs	v	Vicket	s	Average
N. S. Harrison	202.3		47 14		569 236		29 12		19.62 19.66
R. B. Jones	120.3		11	::	367	• • •	16		22.93
G. Y. Hildick-Smith R. D. Jupp	206 139		28 24		777 475	• •	24 12		32.37 39.58

HARROW SCHOOL

	WWI WE AVE		. ~						
Batting									
	Innings	N	lot ou	ts	Runs	Hig	hest in	ins.	Average
R. A. A. Holt	14		2		590				49.16
C. A. Halliday	12		1		368				33.45
W. S. P. Lithgow	14		2		313				28.08
M. D. Watson	13		0		357				27.46
D. J. Q. Henriques	12		3 5 4		212				23.55
D. W. Stuart	12		5		150	• •			
D. R. Hayward	11		2		136 263		-		19.42 18.78
V. A. Carp	16 12		0	• •	198	• •	-	• •	16.50
C. J. Sage	15		1		225		_		16.07
R. W. Schgman	13				243		- 5		10.07
Bowling									
	Overs	N	Taider	ıs	Runs	1	Vicket	S	Average
D. R. Hayward	114.1		16		322		16		20.12
W. G. Stewart	196.5		38		521		25		20.84
M. D. Watson	130		11		509		21		24.23
C. J. Sage	102		14		305		11		27.72
D. W. Stuart	187		39		509		16		31.81
	HIGHO	TAT	TE S	CH	OOT				
	ILLULIC	I A L	כו ניבו	CII	COL				
Batting			_ 2						

Innings Not outs Runs Highest inns. Average

R. S. Thornton 7 2 135 54* 27.00 D. C. Tinquand 15 1 322 85 23.00 K. C. Boosey 16 0 353 77 22.06 M. H. Webb 13 2 238 60 21.63 J. A. A. Morton 10 5 88 27 17.60 H. S. Andrews 13 0 180 66 13.84 G. J. Herton 10 3 93 25 13.28 D. C. F. Lloyd 6 1 62 44 12.40 Bowling	†J. K. G. Webb	13		2		667		110*	 60.63
D. C. Tinquand 15 1 322 85 23.00 K. C. Boosey 16 0 353 77 22.06 M. H. Webb 13 2 238 60 21.63 J. A. A. Morton 10 5 88 27 17.60 H. S. Andrews 13 0 180 66 13.84 G. J. Ilerton 10 3 93 25 13.28 D. C. F. Lloyd 6 1 62 44 12.40 Bowling J. A. A. Morton 186 29 643 42 15.30 R. S. Thornton 99 24 208 12 17.33	G. G. Harris	15		3					 34.75
K. C. Boosey 16 0 353 77 22.06 M. H. Webb 13 2 238 60 21.63 J. A. A. Morton 10 5 88 27 17.60 H. S. Andrews 13 0 180 66 13.84 G. J. Herton 10 3 93 25 13.28 D. C. F. Lloyd 6 1 62 44 12.40 Bowling Overs Maidens Runs Wickets Average J. A. A. Morton 186 29 643 42 15.30 R. S. Thornton 99 24 208 12 17.33		7		2					
M. H. Webb				1					
J. A. A. Morton 10 5 88 27 17.60 H. S. Andrews 13 0 180 66 13.84 G. J. Herton 10 3 93 25 13.28 D. C. F. Lloyd 6 1 62 44 12.40 Bowling J. A. A. Morton 186 29 643 42 15.30 R. S. Thornton 99 24 208 12 17.33	K. C. Boosey			0					
H. S. Andrews 13 0 180 66 13.84 G. J. Ilerton 10 3 93 25 13.28 D. C. F. Lloyd 6 1 62 44 12.40 Bowling Overs Maidens Runs Wickets Average J. A. A. Morton 186 29 643 42 15.30 R. S. Thornton 99 24 208 12 17.33				2					
G. J. Herton 10 3 93 25 13.28 D. C. F. Lloyd 6 1 62 44 12.40 Bowling Overs Maidens Runs Wickets Average J. A. A. Morton 186 29 643 42 15.30 R. S. Thornton 99 24 208 12 17.33				5					
Bowling Overs Maidens Runs Wickets Average J. A. A. Morton 186 29 643 42 15.30 R. S. Thornton 99 24 208 12 17.33				0					
Bowling Overs Maidens Runs Wickets Average J. A. A. Morton 186 29 643 42 15.30 R. S. Thornton 99 24 208 12 17.33				3					
Overs Maidens Runs Wickets Average J. A. A. Morton 186 29 643 42 15.30 R. S. Thornton 99 24 208 12 17.33	D. C. F. Lloyd	6		1		62		44	 12.40
J. A. A. Morton	Bowling								
R. S. Thornton			M		18		V		Average
M. H. Webb									
	M. H. Webb	261.2		49		783		43	 18.20

	IPSWI	CI	1 20	H	PUL					
Batting										
(Table)	Innings	N	ot ou	its	Runs	His	shest in	ns.	Average	
J. E. Forrest	6		1		194		108		38.80	
H. B. O. Robb	10		0		267		98		26.70	
P. V. Jarvis	6		1		103		74		20.60	
S. H. Thompson	9		1		142		40		17.75	
J. L. S. Booth	8		0		122		47		15.25	
S. E. Sneezum	5		2		29		12*		9.66	
C. Secretan	7		2		43		30		8.60	
J. N. W. Field	9		1		63		24		7.87	
S. E. Webster	8		0		56		20	• •	7.00	
Bowling										
	Overs	N	Taide	ns	Runs		Wicket	S	Average	
S. E. Sneezum	79		10		250		12		20.83	
S. E. Webster	94		6		321		15		21.40	
†K. J. King	83		10		359		16		22.43	

KING'S COLLEGE, TAUNTON

Batting		-			_	***			A TOTAL CONTRACTOR
	Innings	N	ot ou	ts.	Runs	Hig	hest in	ns.	Average
H. G. K. Leech	14		3		488		146		44.36
†T. H. E. Goldie	15		0		556		78		37.06
B. D. Bowes-Cavanagh	13		2		315		65		28.63
D. B. Delany	8		2		97		27		16.16
G. Thompson	14		2		167		44*		13.91
D. A. Jones	12		4		104		29*		13.00
J. A. D. Robinson	9		1		68		27		8.50
D. L. Reed	4	• •	0	• •	28	• •	17		7.00
Bowling									
	Overs	N	Taider	18	Runs	7	Wicket	S	Average
D. A. Jones	65.1		19		157		20		7.85
H. G. K. Leech	192.5		32		547		53		10.32
B. D. Bowes-Cavanagh	203.5		37		523		46		11.36

KING'S COLLEGE SCHOOL, WIMBLEDON

Batting †P. J. Dickinson L. A. Murray	Innings 16 15	N ::	ot ou	ts	Runs 1061 329	Hig	hest in 173* 75	ns.	Average 81.61 21.93
E. Dann B. T. Turner M. R. S. Downham I. K. Murray S. G. Leete	16 8 16 8 13		4 2 0 2 0		246 108 255 89 177		58* 65* 70 30* 59		20.50 18.00 15.93 14.83 13.61
F. H. Carruthers M. C. V. Newsome J. D. Allaire J. Allen	15 9 4 7		5 3 1 1		128 71 31 42		35 18 24 17*	::	12.80 11.83 10.33 7.00
Bowling									A Committee Comm
P. J. Dickinson	Overs 237.3 188.1 66		55 20 3	ns 	Runs 694 676 285	· · ·	Wicket 47 35 10		Average 14.76 19.31 28.50

KING EDWARD'S SCHOOL, BIRMINGHAM

Batting T.G. Freeman E. W. Farr †N. H. Wilkins W. N. Davison K. A. Bill W. T. Twiss P. R. Gaskell	Innings 12 12 11 4 11 12 8	N	ot ou 0 1 0 0 0 0	ts	Runs 318 247 195 57 123 93 43	High	hest in 96 47 89 35 39 28 10	ins.	Average 26.50 22.45 17.72 14.25 11.18 7.75 7.16
Bowling T. G. Freeman R. A. Mcliveen	Overs 215.1 78.4	 	Taider 34 7	ns 	Runs 456 301	v	Vicket 40 20	s	Average 11.40 15.05

KING'S SCHOOL, BRUTON

Batting									
G	Innings	N	lot or	its	Runs	Hig	hest in	ins.	Average
D. H. D. Sladen	16		4		727		102*		60.58
†G. L. Holland	16		0		612		155		38.25
J. H. Norman	14		3		266		83		24.18
J. H. Hooper	16		2		319		71		22.78
P. C. Pinton	16		0		290		79		18.12
E. N. Harries	16		1		256		73*		17.06
F. A. C. Gyles	16		0		251		79		15.68 7.72
C. N. Stansbury	11		0	• •	85		23		1.12
Bowling									
	Overs	N	faide:	18	Runs	3	Wicket	S	Average
G. L. Holland	159.2		29		612		28		21.85
J. H. Norman	87		12		312		14		22.28
C. N. Stansbury	208.2		33		714		28		25.50
J. H. Hooper	118.2		12		454		16		28.37
D. H. D. Sladen	136		14		591		17		34.76

KING'S SCHOOL, CANTERBURY

Datting	Innings	N	ot or	its	Runs	Hig	hest in	ns.	Average
C. H. B. Wauton	13		0		237		63		18.23
W. M. Tilton	13		1		205		32		17.08
H. M. Sargisson	7		2		81		30*		16.20
D. L. Hurford	12		1		153		51*		13.90
D. G. Carter	9		1		110		23		13.75
A. H. Lovelace	11		2		90		22*		10.00
T. N. Donaldson	13		4		80		25*		8.88
J. B. Goudge	13		1		106		27		8.83
A. M. Durnford	8		0		69		21		8.62
†R. A. Armstrong	11		0		82		37		7.45
Bowling									

Bowling

	Overs	N	Taide	ns	Runs	1	Vicket	S	Average
R. A. Armstrong	117.1		26		355		25		14.20
H. M. Sargisson	117.4		31		324		19		17.05
D. L. Hurford	133		31		359		21		17.09
W. M. Tilton	95.9		23		264		15		17.60
T. N. Donaldson	87		23		283		16		17.68

KINGS' SCHOOL, ELY

Batting	-				-	~~.			
	Innings	N	ot or	its	Runs	Flig	hest in	ns.	Average
R. S. White	14		5		190		76*		21.11
tJ. B. Tharp	13		0		250		49		19.23
R. S. Peacock	14		4		152		36*		15.20
R. D. C. Balfour	14		0		206		41		14.71
E. G. Ogden	12		1		144		41		13.09
C. W. Wragg	14		1		163		56		12.53
L. J. B. Wright	13		0		155		52		11.92
R. D. Wagstaff	9		0		101		28		11.22
A. J. Miller	13		0		144		39		11.07
Bowling									
	Overs	M	laide	ns	Runs	1	Wickets	S	Average
T T D Weight	100.2	-	15		299		33		9.10

and I manage	Overs	N	Taider	ıs	Runs	1	Vicket	S	Average
L. J. B. Wright	100.2		15		299		33		9.10
J. B. Tharp	40.3		7		156		12		13.00
C. W. Wragg	120.2		12		392		25		15.68
R. S. White	133		18 -		489		27		18.11
E. G. Ogden	85		12		297		12		24.75

KING'S SCHOOL, ROCHESTER

Batting									
	Innings	N	lot ou	its	Runs	Hig	hest in	nns.	Average
G. W. Lees	12		2		378		83		37.80
F. H. Tritton	8		2		139		67		23.16
T. F. Bayntun	13		0		276		86		21.23
F. W. Armstrong	13		1		223		69		18.58
†A. Wright	13		1		156		49		13.00
J. Gilpin	9		2		87		53		12.42
E. Beil	12		3		88		13		9.77
D. M. A. Pring	11		3	20.75	62		22		7.75
Bowling					¥				
	Overs	N	Taide	ns	Runs	7	Vicket	ts	Average
G. W. Lees	86.4		16		230		25		9.20
A. Wright	182.5		59		392		42		9.33
E. Bell	154		49		362		26		13.92
F. W. Armstrong	82		11		250		14		17.85

KINGSWOOD SCHOOL

Batting									
	Innings	N	ot ou	its	Runs	Hig	hest in	ns.	Average
J. J. West	9		3		199	"	44		33.16
J. L. Sergeant	11		2		270		66*		30.00
A. H. Jones	6		1		109		42		21.80
†J. W. Lund	11		1		216		105*		21.60
L. A. Scott-White	7		1		114		60		19.00
P. J. Massey	5		2		49		17		16.33
G. T. Wright	10		0		160		43		16.00
G. I. Brown	9		3		95		42'		15.83
R. J. K. Brown	11	• •	1		99	• •	35		9.90
Bowling									
	Overs	N	Taide	ns	Runs	7	Wicket	S	Average
P. J. C. Després	62.1		17		183		17		10.76
H. A. Whittle	99		23		221		17		13.00
R. J. K. Brown	111		23		304		22		13.81
G. T. Wright	93		23		248		15		16.53

LANCING COLLEGE

Batting		1							
	Innings	N	ot or	its	Runs	Hig	shest in	ns.	Average
R. S. Woodward	17		2		554		90		36.93
P. D. Jaques	8		1		182		66		26.00
†P. C. R. Coates	17		2		307		44		20.46
G. A. Wagner	13		0		240		65		18.46
G. R. Flood	14		5		153		40*		17.00
R. J. Wheeler	16		0		254		114		15.87
A. C. Hatfield	6		3		41		23*		13.66
C. F. Rolt	16		1		205		36		13.66
B. A. Wootton	9		0		116		45	• •	12.88
A. R. E. Hill	17		0		215		86		12.64
T. L. R. Hill	13	• •	2		118	• •	31		10.72
Bowling		-					***		
No. 100 table 100	Overs	M	(aide	13	Runs	,	Wickets		Average
P. C. R. Coates	81		9		297		15		19.80
A. R. E. Hill	204		18		710	• •	35		20.28
T. L. R. Hill	186		26		687		33		20.81
R. J. Wheeler	201.4	• •	23		704	• •	29	• •	24.27

LEEDS GRAMMAR SCHOOL

Ratting

Batting

†D. Warburton T. S. McLeod A. Carter P. V. Wadsworth F. J. Thornton S. Rushton W. M. Holton F. J. Morley	Innings 12 13 13 10 10 5 9	N	ot ou 5 0 2 2 0 0 4	its	Runs 481 207 146 90 106 46 45 79	High	hest in 94 56 31 25 26 27 20 39	ins.	Average 68.71 15.92 13.27 11.25 10.60 9.20 9.00 7.18
Bowling V. Altman D. Warburton P. V. Wadsworth F. J. Morley	Overs 57.2 156.4 128.3 57.1		faider 8 27 25 1	ns	Runs 109 430 401 241	 	Vicket 10 35 25 11	s	Average 10.90 12.28 16.04 21.90

LEYS SCHOOL

Innings Not outs Runs Highest inns. Average

	THILITIES	4.		-	440		MON		34.91
D. M. Witherington	13		1		419		78*		
D. A. Skinner	10		1		255		54		28.33
†W. N. White	15		1		364		95		26.00
N. H. Kidson	9		4		93		27*		18.60
A. J. Witherington	12		2		175		40		17.50
K. W. Oldham	13		1		208		54		17.33
	13		6		107		29#		15.28
M. E. Bate	15	• •	1		43		18*		10.75
J. H. G. Goodwin	2		1		51	• •	16		10.20
J. S. Laycock	6		1						9.33
A. T. Pepper	13		1		112		41		9.33
Activities of the second secon							à:		
Bowling									
DOWING	Overs	3.5	aider	10	Runs	XX	lickets	2	Average
	141 2	IVI	21	15	547		34		16.08
A T Withousenaton									

A. J. Witherington 141.2 21 547 34 16.0 T. D. Muirhead 106.5 14 394 21 18.7 J. S. Laycock 130.5 22 422 17 24.8 J. A. Skinner 112 21 400 15 26.6 W. N. White 88 10 288 10 28.8

LORETTO SCHOOL

Batting	Innings	N	ot ou	its	Runs	Hig	hest in	ns.	Average
†M. R. C. Gillespie D. J. C. Cunningham A. G. Lee J. C. R. Waterhouse A. B. Nairne S. A. Simpson W. G. Billington T. W. Dewar J. E. McKechnie A. R. McInroy	19 17 16 19 15 17 16 7		1 1 3 2 2 2 1 5 0		515 401 261 336 247 248 245 28 193 73		79 89* 43 66* 76* 32* 40 15* 55		28.61 25.06 20.07 19.76 19.00 16.53 16.33 14.00 13.78 12.16
Bowling									

Downing	Overs	Maidens			Runs	Wickets			Average
A. R. McInroy	51.5		7		202		13		15.53
T. W. Dewar	184		24		662		38		17.42
A. B. Nairne	57		12		175		10		17.50
M. R. C. Gillespie	127		20		382		19		20.11
G. D. McNeill	181		36		568		28		20.20

MALVERN COLLEGE

747	HI KEN V E	4807	4						
Batting	Innings	N	lot or	its	Runs	Hio	hest in	าทร	Average
G. I. D. Norton †P. D. Manners R. O. H. Porch N. W. Beeson A. Bulmer J. N. Cronhelm H. G. W. Shakespear R. A. Young A. G. Denton-Thompson G. N. Cronhelm A. E. C. Griffith	13 13 14 10 14 8 10 11 9		2 1 2 0 0 0 0 0 0 2 2 3		476 383 265 164 229 122 142 126 104 75 112		109 136* 43* 64 62 67 40 40 25 16 35		43.27 31.91 22.08 16.40 16.35 15.25 14.20 12.60 11.55 10.71 10.18
Bowling G. N. Cronhelm G. I. D. Norton H. G. W. Shakespear R. W. L. Cary	Overs 159.1 64 97 151.4	 	1aider 40 9 10 26	ns 	Runs 508 329 388 554	···	Wicket 30 18 19 18	s 	Average 16.93 18.27 20.42 30.77

MARLBOROUGH COLLEGE

Batting									
	Innings	N	ot ou	its	Runs	Hig	hest in	ms.	Average
G. E. Fletcher D. G. Lacy Scott P. N. L. Terry J. H. Collins D. I. Graham J. A. Owen R. C. Robinson R. C. M. Bass J. R. Sale J. Baliward M. Jewell G. J. Redfearn	15 15 15 14 14 14 8 6 12 9 10 4 7		2 2 0 1 0 1 0 0 0 0 1 0 0		579 507 413 282 256 111 95 158 101 96 40 47		107* 111 94 49 70 46 30 45 45 45 31 24 17*		44.53 39.00 27.53 21.69 18.28 15.85 15.83 13.16 11.22 10.66 10.00 9.40
Bowling M. S. Mallinson	Overs		Iaidei 7		Runs 478		Wicket 31 22		Average 51.41 19.27
J. T. Bailward D. C. Lacy Scott. G. J. Redfearn D. I. Graham	126 90 71.2 130.5	::	21 20 8 17		424 291 332 449	::	14 13 13		20.78 25.53 34.53

MERCHANT TAYLORS' SCHOOL

TATE OF THE PARTY	T AT A T	TYA	A ALI	JEEN	DUL		- About		
Batting									
	Innings	N	ot or	its	Runs	Hig	hest in	ns.	Average
†K. B. Kettle	11		3		350		83*		43.75
J. L. Hart	12		3		332		95*		36,88
C. A. W. Weston	-5		1		131		75*		32.75
A. Roper	. 12		ô		286		76		23.83
H. G. L. Lawson	10		2		171		52		21.37
	11		2		145		56	::	16.11
N. A. H. Stafford	6		1		55		15*	::	11.00
	4		1		22		12		7.33
I. C. M. Maxwell	4		1		22		12	• •	1.55
WI'									
Bowling									
	Overs	N	Taide:	ns	Runs	1	Vicket	S	Average
I. C. M. Maxwell	198.4		34		475		48		9.89
R. J. B. Fox	130.3		25		382		25		15.28
N. P. Wood	109.1		24		275		12		22.91

MERCHISTON CASTLE SCHOOL

Batting

Ratting

Batting	Innings	N	ot ou	ts	Runs	Hig	hest in	ns.	Average
†W. Q. Ballantyne W. F. M. Webster R. B. Ballantyne D. Yellowlees W. M. Harper J. A. B. Jamieson A. B. Auld M. MacNaughton A. H. Duncan D. I. L. Mitchell	16 17 17 19 17 8 14 16 14		1 2 3 0 2 4 1 3 4 0		419 326 265 351 222 57 151 133 81 44		71 67* 55* 47 43 27* 41 17 20 23		27.93 21.73 18.92 18.47 14.80 14.25 11.61 10.23 8.10 7.33
Bowling K. T. Gruer M. MacNaughton. W. Q. Ballantyne D. Yellowlees	Overs 213.4 49 103.4 171.4		Taider 46 1 8 24	ns	Runs 507 217 439 530		Vicket 43 13 23 22	s 	Average 11.79 16.69 19.08 24.09

MILL HILL SCHOOL

Dutting	Innings	N	ot ou	its	Runs	High	hest in	ns.	Average
A. E. Dexter	13		0		290		67	• •	22.30 16.00
G. W. Grey	9		0		144		34		14.69
A. I. F. Goldman	13		0		191		64		14.25
P. T. Parr	13		1		171		43*	• •	12.27
D. E. Dowlen	12		1		135		44 32	• •	9.16
†G. A. Webster	12		G.		110		12	• •	7.00
F. N. Rowell	6		2		28		24		7.00
E. J. K. Pattan	12	• •	0	* *	84		24	• •	7.00
Bowling									
Downing	Overs	M	Taider	18	Runs	7	Vicket	S	Average
D. H. N. Carter	96.1		12		340		18		18.88
G. A. Webster	186.2		30		577		29		19.89
P. Scarf	164		28		445		22		20.22 28.64
D. E. Dowlen	117.3		13		487	• •	17		28.04

MONKTON COMBE SCHOOL

1/1/01	***	-							
Batting	In ings		ot ou	its	Runs 207	Hig	hest in	ns.	Average 25.87
J. C. Royds			1		134		31		14.88
D. K. G. Reeve	10		1				52		13.66
D. S. Caine-Ross	9		0		123				
I. C. Brace	7		0		74		36		10.57
J. A. Wedgwood	10		2		78		26*		9.75
	9		3		55		14		9.16
E. V. M. Medill	8	• •	ó		70		39		8.75
R. W. Sugg			0		81		30		8.10
D. A. S. Pelly	10		0					* *	7.33
†H. D. W. Powell	9		3		44		12		7.33
J. A. Horner	6		3		22		15		1.33
J. A. Holmer									
Bowling									
DOWNING	Demilia	- 7	/aide	ne	Runs	1	Wicket	2	Average
V	Bowling				461		32	-	14.40
H. D. W. Powell	154.3		26						16.13
D. K. G. Reeve	145.4		31		371		23		10.13
D, 12, O. 1.30, 0									

OAKHAM SCHOOL

†A. M. H. Fisher W. A. Hamer M. F. R. Kirk S. B. Bradfield H. R. Savage G. Towns J. C. Donald G. F. A. Stuart A. R. Grier P. Gordin	Innings 15 14 16 16 13 11 12 14 13 13	Not outs 2 0 0 1 1 3 1 3 0 1	Runs 574 391 351 234 140 97 82 114 83 101	Highest inns 121* . 92 . 53 . 34 . 26 . 27 . 21* . 28 . 36 . 27	Average 44.15 27.92 21.93 15.60 12.72 9.70 9.11 8.76 8.30 7.76
Bowling	Ovromo	Maidens	Runs	Wickets	Average
H. R. Savage A. E. Pollard A. R. Grier J. C. Donald W. A. Hamer	Overs 56.1 142.5 210.5 141 147.3	. 27	213 385 571 401 487	20 29 41 22 20	10.65 13.27 13.95 18.22 24.35
	ORATO	ORY SCHO	OOL		
Batting M. C. Bodenham P. G. Hurford-Jones †J. M. Connaughton E. M. Binyon P. C. Kelly	Innings 21 21 22 22 21 21	Not outs3112	Runs 486 383 298 243 216	Highest inns	Average 27.00 19.15 14.19 12.78 11.36
Bowling N. Neville R. Snepp J. M. Connaughton P. G. Hurford-Jones G. Moore C. A. Bodenham	Overs 59.3 90.2 302.5 88.3 57.3 155.1	Maidens . 12 . 14 . 47 . 20 . 4 . 34	Runs 191 336 1287 327 279 536	Wickets 15 21 79 19 15 26	Average 12.73 16.00 16.29 17.21 18.60 20.61
	OUND	DLE SCHO	OL		
J. M. Mills	Innings 12 10 10	7 0 0	Runs 339 373 304 276	Highest inns118*185103128	Average 67 80 37.30 30.40 27.60
S. M. Gilbert P. B. Nicholls †J. M. B. Butler C. P. Payne J. M. H. Lewis D. F. Shaw	12 14 12 13 9	1 0 1 1	235 292 191 150 74	35 78 56 68*	21.36 20.85 17.36 12.50 10.57
Bowling D. F. Shaw S. M. Gilbert †J. M. B. Butler	Overs 195 232 90	Maidens 0 0 0	Runs 547 567 403	Wickets 37 32 14	Average 14.78 17.71 28.78

Publ	Public School Cricket in 1937 7.											
RADLEY COLLEGE												
Batting	Y				70	***						
D. N. Scil. J. G. Mackarness S. L. C. Medrington H. W. McIntosh F. Falkiner R. R. G. Atkins †D. T. M. Birks H. R. Grosvenor M. Constantine Smith H. W. A. Ruck-Keene C. A. C. Hamilton	Innings 16 16 16 12 15 12 16 12 16 12 9	N	1 2 2 4 1	its	Runs 541 399 368 217 316 114 282 182 102 76 83	Hig	hest in 99 120 79 81 63 52 44 64* 33 29 25	ns.	Average 41.61 24.93 23.00 21.70 21.06 19.00 18.20 14.57 10.85 10.37			
Bowling												
D. T. M. Birks F. Falkiner R. R. G. Atkins H. W. McIntosh	Overs 305.2 444.1 115.3 114		71 153 27 28	ns	Runs 672 956 312 296	::	Vickets 48 68 19 11		Average 14.00 14.05 16.42 26.90			
	ינוופונים <u>.</u>	. B. T	aar	*^								
Batting	REPTO	MIA	SCI	100								
R. Sale	Innings 17 15 16 11 13 13 6 15 9		1 0 3 3 5 2 0 0 1	its	Runs 590 424 289 144 128 166 70 147 45	Hig	thest in 111* 93 52 50* 41* 59 19 32 14*	ins.	Average 36.87 28.26 22.23 18.00 16.00 15.09 11.66 9.80 5.62			
Bowling					2000							
F. F. Fisher E. A. Crane J. D. H. Riches J. H. Hughes H. C. S. Armstrong A. H. Barnett	Overs 155 135 75 90 145 133		12 8 12 12 18 16	18	Runs 535 510 301 307 473 502		Vickets 25 23 12 12 15 14	S	Average 21.40 22.17 25.08 25.58 31.53 35.85			
	ROSS	TAT	TS	CH	OOL							
Batting	1000	A BAL	E 10	CII	COL							
J. A. Heaton	Innings 10 11 10 10 11 11 11 7	N	1 1 4 0 3 0 0	its	Runs 221 196 109 145 111 125 79 102	Hig	hest in 49 55 29* 74 40* 32 58 39	ns.	Average 24.55 19.60 18.16 14.50 13.87 11.36 11.28 10.20			

Wickets ... 35 ... 16 ... 12 ...

Average 16.82 24.56 24.75

Bowling

 J. A. Heaton
 Overs 218
 57

 J. W. T. Lashmar
 141
 29

 P. G. Spry
 85
 14

Ratting

ROYAL GRAMMAR SCHOOL, NEWCASTLE

TEO TIME GAME			-		,				
Batting	Innings	N	ot ou	its	Runs	Hig	hest in	ns.	Average
N. E. Wood	15		4		568		206*		51.63
E. Dowson	16		3		342		68		26.30
	10		1		223		106		24.77
V. N. Luke	13		1		195		43		16.25
†R. Dobson			1		220		67		14.66
R. L. Merson	16		1				58*		13.70
D. V. Salkeld	12		2		137				9.42
D. A. Southern	9		2		66		17		
A. Turner	5		0		41		25		8.20
M. R. Grey	7	•	0	• •	57	••	36		8.14
Bowling	Overs	*	Iaide:	ne	Runs	,	Wicket	9	Average
		-	48		228		27		8.44
M. R. Grey	119.1				240		28		8.57
A. Turner	105		30				40	• •	8.65
D. V. Salkeld	189		56		346				8.91
J. A. B. Heads	46.4		12	• •	107		12	• •	0.91

ROYAL HIGH SCHOOL, EDINBURGH

Batting	Innings	N	ot ou	ts	Runs	High	hest ir	ıns.	Average
T. B. Hamilton	10		3		116		27		16.57 15.78
C. Logan	15		1		221		85		12.72
†J. McVie	18		0		229		33 36	* • •	10.40
K, Maxton	16		1		156		20		9.50
D. J. Williamson	15		5	• •	95	• •	20	• •	9.50
Bowling	Overs	M	laider	16	Runs	v	Vicket	S	Average
.McVie	60	2	20		190		22		8.63
P. S. Davies	35	• •	-5		122		13		9.38
D. J. Donald	113		36		301		27		11.14
B. S. Nisbet	71		13		188		14		13.42

RUGBY SCHOOL

Datting	Innings	N	ot ou	ts	Runs	Hig	hest in	ns.	Average	
†D. P. G. Elliot D. G. Clark	11 11		2	::	664 404		190 129		60.36 44.88 33.09	
D. M. Scott	11 11	::	0	• • •	364 254		77 124*		28.22	
J. R. Bridger	11		1 3		219 130	• •	59 39	• •	21.90 21.66	
D. F. MacColl A. K. Markland	7		2		102 110	• •	31* 52	• • •	20.40 18.33	
M. E. Whitelock	5		Ô		88 58		39 35		17.60 9.66	
S. G. Fowler	Ü		•							
Bowling	Owoma	N.	Iaider	10	Runs		Wicket	S	Average	
A. Kershaw	Overs 154 197.3		29 40		309 451		23 32		13.43 14.09	
J. R. Bridger	181		57 40	::	380 287		22 14		17.27 20.50	
A K Markland	118	414	40		201		Y-T		_0.00	

RYDAL SCHOOL

Batting									
and the same of th	Innings	N	ot ou	ts	Runs	High	hest In	ns.	Average
G. P. S. Mellor	12		1		226		58		20.54
A. B. Hampton	11		1		201		75*		20.10
†W. K. Blackburn	14		3		207		34		18.81
C. L. McKee	14		1		174		42		13.38
M. G. Mees			0		91		36		11.37
J. E. Jones-Evans	10		2		87		42		10.87
G. D. Greenwood	6		0		60		24		10.00
M. D. Tattersall	8		3		43		15*		8.60
H. H. Marriott	13		1		95		27*	• •	7.91
Bowling									
	Overs	N	faider	ıs	Runs	1	Wickets	S	Average
W K Blackburn	75		3		353		19		18.57
	146		22		483		24		20.12
	207		37		627		28		22.39
	97		19		338		12		28.16
W. K. Blackburn G. P. S. Mellor W. V. Kingston M. D. Tattersall	146 207	::	22 37		483 627		24 28		20.12 22.39

ST. EDMUND'S SCHOOL, CANTERBURY

Batting	Innings	N	ot ou	its	Runs	Hig	hest In	ns.	Average
G. P. Baylis	13		2		350		103*		31.81
C. Treen	13		2		209		42*		19.00
†P. N. Screeton	12		0		220		77		18.33
G. M. Minter	8		2		98		28		16.33
A. S. D. Forder	13		0		197		94		15.15
M. R. A. Davies	9		1	10-	87		28		10.87
E. B. N. Merchant	13		0		124		25		9.53
A. D. Walden-Jones	12		1		89		24*		8.09
Dawling									

DOWING	Overs	N	Taide	18	Runs	V	Vicket	S	Average
P. N. Screeton	166		42		454		29		15.65
M. R. Lidgey	109		17		398		25		15.92
R. D. Pinhey	109		20		381		22		17.31

ST. EDWARD'S SCHOOL, OXFORD

Batting									
S. August C.	Innings	N	ot ou	ats	Runs	Hig	hest in	ns.	Average
†E. T. Greaves	19		4		459		85		30.60
H. Little	19		1		542		120*		30.11
D. H. A. Bell	16		4		321		51		26.75
J. L. Churcher	19	×	1		332		73		18.44
A. D. Lewis	13		3		175		58*		17.40
A. N. E. Waldron	17		2		257		81		17.13
P. S. Thursfield	13	1000	5		126		25		15.75
M. B. Crickmay	19		1		255		52		14.16
T. C. Henderson	6		1		47	1000	17		9.40
I. C. Izendezooa	-		_	2.5				-	

Bowling	
R George	

	Overs	14	laluc	us	runs	3	AICKEL	3	Avclage
R. George	24		3		83		10		8.30
D. H. A. Bell	138.5		28		412		30		13.73
T. C. Henderson	177.1		37		599		31		19.32
J. C. Churcher	103		14		383		17		22.52
A. N. E. Waldron	127		20		409		10		40.90

ST. JOHN'S SCHOOL, LEATHERHEAD												
P. A. G. Learmond	12		s	Runs 195 182	High	rest In 72 40	ns.	Average 17.72 16.54				
J. D. Hughes D. M. T. Harvey P. McQ. Wilkinson P. G. C. Forbes	11 13 8 11 11	. 1 . 0 . 1 . 1	::	146 174 86 112 50		56 70 38 26 28 40		14.70 13.38 12.28 11.20 10.00 9.00				
F. P. Richards P. C. Lindsey	10 . 11 . 6 .	. 4	• •	60 44	::	19		8.57 7.33				
Bowling	Overs	Maiden		Runs	V	Vickets		Average				
D. M. T. Harvey P. G. C. Forbes A. W. Jackson P. A. G. Learmond P. McQ. Wilkinson	60.1 .	. 8 . 15 . 34 . 9		166 341 386 467 223	••	18 29 29 29 29 12	• • • • • • • • • • • • • • • • • • • •	9.22 11.75 13.31 16.10 18.58				
ST. LAWR	ENCE C	COLLI	EGE	, RA	MSC	GATE						
Batting								Average				
†G. F. Colley H. B. C. Gardner P. R. Bridge J. N. Dixon R. Q. Drayson P. J. Fawkner-Corbett T. C. Larsen	12 11 .	Not ou 3 1 1 1 1 0 2 2 2	ts	Runs 349 400 218 247 234 118 164	High	134* 86* 68* 59 118 42 46	ns.	38.77 36.36 21.80 20.58 18.00 16.85 16.40				
Bowling			_	Duna		Vickets	,	Average				
H. B. C. Gardner P. H. James G. F. Colley T. C. Larsen R. Q. Drayson	111 139.4 65	Maider 36 22 15 10		Runs 362 331 443 201 235		41 29 29 13 12		8.82 11.41 15.27 15.46 19.58				
5	T. PAU	L'S S	CH	COL								
Batting				D	TTI	hest in	9	Average				
N. M. Mischler †R. H. Yeatman D. Smith J. B. Behr B. K. Totton P. M. Reid M. K. Brett M. A. T. Burke F. H. Boyden H. W. Arnold J. P. Jarvis J. L. Morgan D. S. Russell	17 11 6 12 14 7 10 10 13	Not out 3 2 2 1 3 3		Runs 467 457 293 83 165 217 87 94 111 138 63 26 48	Hig	145 87 87 45 53 54* 23 31 28 25 12	ns.	38.91 30.46 29.30 27.66 18.33 15.50 14.50 11.75 11.10 10.61 9.00 8.66 8.00				
Bowling	0	Moida	20	Runs		Wicket	Q	Average				
B. K. Totton G. M. Hasler R. H. Yeatman D. S. Russell D. Smith	160 179.2 227	Maide: 76 32 62 52 14		727 428 417 681 202	•••	40 23 22 34 10		18.17 18.60 18.95 20.02				

ST. PETER'S SCHOOL, YORK

Ratting

H. A. S. Hobson. V. L. F. Davin J. A. Wright G. E. L. Graham L. W. Bennett I. D. C. Morison R. C. Lynch E. R. Gossop R. S. Dixon	Innings 16 16 4 14 14 7 16 14 15	N	lot ou 1 1 0 0 2 0 0 2	nts	Runs 331 262 66 220 161 69 136 99 90	Hig	hest in 56 57* 49 42 44* 27 56 40* 21	ns.	Average 22.06 17.46 16.50 15.71 13.41 9.85 8.50 8.25 6.42
Bowling H. P. Cole E. R. Gossop J. H. Butler R. C. Lynch R. N. Rimmer	Overs 93.5 319.3 76.5 132.5 115.4	. N	1aider 22 97 4 25 15	ns 	Runs 290 745 340 463 403	v	Vickets 22 49 20 22 15	· · · · · · · · · · · · · · · · · · ·	Average 13.18 15.20 17.00 21.04 26.86

SEDBERGH SCHOOL

Batting D. J. F. Watson	Innings 11 7 12	• •	ot or	::	Runs 385 137 197	High	81 48 61	ns.	Average 35.00 19.57 17.90
R. H. *Edwards W. B. Cowdy J. M. McSwiney A. E. W. Ayre D. R. Gunn W. A. Todd	10	•••	1 0 2 0 2	• • • • • • • • • • • • • • • • • • • •	153 93 92 114 87		73 26 29* 33 35*		17.00 13.28 11.50 11.40 10.87
T. M. Cullingworth Bowling	8 Overs	••	3 Taide	ne	48	••	16 Vicket	••	9.60 Average
A, E, W, Ayre R, W, W, Watson W, A, Todd W, B, Cowdy	128.4		43 31 9 16		283 236 127 255		29 24 12 19		9.75 9.83 10.58 13.41

SEVENOAKS SCHOOL

Batting	Innings	I	lot or	ıts	Runs	Hig	hest in	ns.	Average
L. C. Martin	10		1		266		75		29.55 25.22
R. W. Ward	10		1		227		66	• •	11.80
W. A. Hobbis	5		0	• •	59		33		11.71
H. C. Stevens	8 7		ī		82		33* 12*		11.50
D. R. C. Philip	7		2		23 55		17	• •	11.00
R. B. Godfray	6	• •	1		33		1/		11.00
Bowling	Overs	T.	//aide	ns	Runs	7	Vicket	s	Average
H. C. Stevens	68.3		15		146	'	16		9.12
R. W. Ward	139.3	::	42		268		28		9.57
D. R. C. Philip	89.2		25		215		20		10.75

Batting

SHAFTESBURY GRAMMAR SCHOOL

Daniel Lan	Mar. 40. 10. 10. 10.	-							
Batting	Innings	N	lot or	its	Runs	Hig	hest in	ns.	Average
M. A. Tory	11		0		225		74		20.45
					208		42		18.90
†F. J. Green			0				26		
C. G. St. D. Jeffries	11		2		163		30		18.11
J. R. Domoney	11		1		133		36 53*		13.30
			ô		145		39		13.18
K. Tuffin	11		U		143		39		13.10
Bowling	Overs	N	Iaide	18	Runs	V	Vickets	S	Average
W. J. Miles	56		14		145		28		5.17
	97.3		34		186	1919	23		8.08
M. A. Tory			7	• •	132		12		11.00
C. R. J. Mitchell	45.4		1						
C. G. St. D. Jeffries	102.5		18	• •	310		21	* *	14.76

SHERBORNE SCHOOL

	Innings	N	ot or	its	Runs	Hig	hest in	ns.	Average
†M. S. Glennie	15		0		489		97		32.60
S. F. St. M. Williams	9		0		278		78		30.88
C. F. V. Martin	15		0		445		115		29.66
R. F. S. Chignell	14		2		347		100*		28.91
A. L. A. Tasker	13		6		188		53*		26.85
I. Henderson	10		1		197		69		21.88
J. F. N. Hodgkinson	7		0		130		38		18.57
H. J. C. Bashford	14		4		185		45		18.50
F. A. Coombe	îi		1		184		46*		18.40
J. B. Aylward	10		2.		133		37		16.62
D. F. Ricketts	12		2.		159		62*		15.90
D. R. P. Maddison	8		3		40		20		8.00
Bowling									· Commence of the Commence of
3	Overs	N	Taide	ns	Runs	1	Wicket	5	Average

SHREWSBURY SCHOOL

195 .. 39 ..

592

689

245

409 525

Innings Not outs Runs Highest inns. Average

D. R. P. Maddison. 195 39 H. J. C. Bashford 251.3 61 J. F. N. Hodgkinson 52.4 4 R. F. S. Chignell. 125.2 28 A. L. A. Tasker 135.1 17

	innings	1.	OL OU	LS	1 uns	1115	11026 111	ulo.	Livernse
D. G. G. Baird	13		6		316		68*		45.14
M. G. Crawford	12		2		247		68*		24.70
E. H. S. Singleton	13		0		287		71		22.07
L. M. Minford	13		1		239		48		19.91
N. H. Bowring	14		Ô		256		51		18.28
	13		1		209		55*		17.41
†P. H. Blagg	5		1		60		47		15.00
D. W. M. Gay	12		2	• •	149		31		14.90
A. T. G. Groves			2		77		24		11.00
J. B. V. Pooley	10		3				14		8.33
G. D. Lane	8		2		50		14	• •	0.33
Bowling									
20112239	Overs	N	Taider	18	Runs	1	Vicket	S	Average
J. B. V. Pooley	214.3		67		407		41		9.92
A. T. G. Groves	131.2		29		319		22		14.50
E. H. S. Singleton	96.4		16		329		20		16.45
	85		12		308		18		17.11
D. W. M. Gay	145.3		23		477		20		23.85
D. H. Crawford	140.0		43		7//		20		25.05

STONYHURST COLLEGE

Ratting

15.57

20.87 24.50 29.21 30.88

38 ..

33

10

14

ANGELLALING									
×			Runs	Hig	hest in	1118.	Average		
J. A. Withnell	12		5		160		28		22.85
F. G. Burns	11		0		231		73		21.00
M. Lacayo	12		1		224		49		20.36
M. J. Costigan	12		î		183		73		16.63
†P. R. Moreton	12		Ô		166		63		13.83
A. M. Frank	12		2		126		38		12.60
	6		2		44		16		11.00
J. Vaughan			1		97		37		10.77
J. N. McQuaid	10		1	* *	128		30		10.66
J. C. Zulver	12	• •	0		128		30		10.00
Bowling									
Bulling	Overs	N	faider	ıs	Runs	V	Vicket	S	Average
J. N. McQuaid	109		12		337		34		9.91
P. R. Moreton	134		24		400		21		19.04
M. Lacayo	83		13		290		13		22.30
A. M. Frank	116		21		429		18		23.83
A. M. Frank	110		22	*	727		1.0		23.03

STOWE SCHOOL

Batting									
	Innings	N	lot or	its	Runs	His	hest in	ns.	Average
†P. Sherrard	16		4		678		107		56.50
C. D. Earle	14		5		389		62		43.22
A. G. Buchanan	8		0		294		101		36.75
M. P. Robinson	8		5		108		37*		36.02
I, C. S. Munro	13		1		314		68		26.16
M. G. T. Webster	10		1		206		55		22.88
J. P. Phillips	15		1		310		64		22.14
J. Roche	6		2		87		35		21.75
J. D. N. Stobart	8		1		144		61		20.57
H. C. Lowcock	15		1		260		68		18.57
P. R. H. Hastings	7		1		84		30	٠,	14.00
Bowling									
	Overs	N	faide	1S	Runs	7	Wickets	3	Average
M. P. Robinson	207.2		38		613		30		20 43
J. P. Phillips	121.4		23		344		14		24.57
C. D. Earle	155.5		22		509		19		26.78

TAUNTON SCHOOL

Batting									
	Innings	N	lot or	its	Runs	Hig	hest in	ins.	Average
M. A. L. Williams	12		4		529		112*		66.12
R. A. Robison	13		3		361		85*		36.10
R. Maclean	9		0		320		85		35.55
D. L. Walmsley	12		6		120		27*		20.00
†P. M. Bennett	14		0		249		72		17.78
B. E. Stone	14		0		186		50		13.28
J. R. E. Evans	13		1		153		54		12.75
J. D. Wilcox	7		0		68		46		9.71
A. P. Henderson	12		0	• •	87		23		7.25
Bowling									
	Overs	N	faide	15	Runs	1	Vicket	S	Average
R. A. Robison	145		15		410		25		16.40
D. L. Walmsley	208		35		526		30		17.53
A. P. Henderson	83		6		302		14		21.57
A. B. Wood	116		23		333		15		22.20
J. R. E. Evans	83		7		255		11		23.18

TONBRIDGE SCHOOL

Batting									4 5 6
	Innings	N	ot or	its	Runs	Hig	hest in	ns.	Average
B. W. Cox	15		4		572		106*		52.00
†J. R Thompson,	17		1		572		103		35.75
P G. C. Wood	12		2		282		69		28.20
P. Corker	18	7.	1		449		94		26.41
B. N. S. Kidson	17		3		320		60*		22.85
E. C. Bousfield	18		1		332		76*		19.52
D. G. W. Yeats-Brown	15		1		227		44*		16.21
P. R. Stevens	14		5		134		20		14.88
E. I. C. Wood	12		0		116		40		9.66
J. A. Dew	11		2		64		14		7.11
A 12									
Bowling									
a same of	Overs	N	faide	ns	Runs	V	Vicket:	S	Average
P. R. tevens	312		72		867		52		16.67
B. N. S. Kidson	267.2		47		875		51		17.15
E. I. C. Wood	141.2		33		425		23		18.47
D. G. W. Yeats-Brown	122.3		11		504		26		19.38
THE R. LEWIS CO. LEWIS CO. LEWIS CO., LANSING MICH. LANSING CO., LANSI	Street, Street	6.0							

UNIVERSITY COLLEGE SCHOOL

batting									
	Innings	N	ot or	its	Runs	Hig	hest in	ms.	Average
N. M. Freeman	12		2		203		76		20.30
C. L. Warnock	12		õ		207		44		17.25
	4		1		51		24		17.00
R. F. Gibbons	9	• •	1		134		34		16.75
		• •	1		156		48		15.60
C. O. Askwith	11		1		138		37		14.33
J. E. H. Ryder	10		1				23		14.00
J. Flemming-Griffin	10		4		84				13.70
†D. G. Drakeford	10 -		0		137		46		11.40
J. B. Reid	7		2		57		19		
P. D. Record	12		0		126		46		10.50
E. R. Hall	12		0		113		34		9.41
Bowling									
	Overs	N	Taide:	ns	Runs	1	Wicket	S	Average
J. Fleming-Griffin	147		19		513		25		20.52
P. D. Record	109		17		436		19		22.94
I E H Ryder	88		6		365	2000	12		30.41

UPPINGHAM SCHOOL

W. J. Pershke 14 1 473 . 71 . 36.38 A. T. W. Taylor 14 3 335 . 70 30.45	Batting					
W. J. Pershke		Innings			Highest inns,	Average
A. T. W. Taylor	W. J. Pershke		1	473		
A D Englefield 8 2 179 90 29.83	A. T. W. Taylor					
	A. D. Englefield	8	2	179		
†P. Gillespie	†P. Gillespie	15		381		
R. A. Carr	R. A. Carr			368		
E. A. Bland	E. A. Bland					
K. E. B. Goodbody 3 0 47 28 15.66	K. E. B. Goodbody	3	0			
R. E. Crighton	R. E. Crighton	14	0			
E. R. Vere-Hodge	E. R. Vere-Hodge	12				
W. Bainbridge	W. Bainbridge	11	., 2			
J. F. W. Ellerton 6 . 2 28 . 8 . 7.00	J. F. W. Ellerton	6	2	- 28	8	7.00
Bowling	Bowling					
		Overs	Maidens	Runs	Wickets	Average
J. F. W. Ellerton 199.4 60 505 33 15.30	I F W Ellerton				33	15.30
E. A. Bland 195 . 45 . 563 . 34 . 16.55			15		0.4	16.55
W. J. Pershke 224.3 47 625 31 20.16	****					20.16

WELLINGBOROUGH SCHOOL

Batting									
	Innings	N	ot ou	its	Runs	His	ghest in	ins.	Average
R. D. H. Reddy	11		1		295		109*		29.50
W. J. Day	11		1		212		41		21.20
P. H. C. Charnock	11		1		180		72		18.00
†J. H. Reddy	11		2		158		60*		17.55
P. R. B. Knight	11		1		162		43*		16.20
A. E. Brown	11		1		134		36		13.40
L. T. Ford	10		2		66		31*		8.25
Bowling									
70 Paris 277	Overs	N	Taider	ns	Runs	,	Wicket	S	Average
C. M. Sears	133.4		16		473		23		20.56
G. Sharman	121.2		12		465		21		22.14
L. T. Ford	78		6		318		11		28 90

WELLINGTON COLLEGE

	AND AND THE		011	00.						
Batting										
	Innings	N	lot or	its	Runs	Hig	hest in	ins.	Average	
L. H. D. MacLeod	15		1		428		-		30.57	
A. L. McCall	13		1		353				29.41	
F. D. B. Eddison	13		0		380		-		29.23	
S. O. I. Dawson	10		2		218		-		27.25	
M. G. Johnston	7		1		117				19.50	
P. B. K. Gracey	10		0		173				17.30	
W. A. Tighe	10		1		129		-		14.33	
D. J. Murray	11		0		141		-		12.81	
C. G. Munro	7		1		79		-		13.16	
H. L. Sherbrooke	5		0		60		-		12.00	
J. A. Loveless	10		3		80		-		11.42	
K. M. Goodall	9		2		58				8.28	
J. M. Brownhill	4		0		31		-		7.75	
Bowling										
	Overs	N	Taide:	ns	Runs	1	Wicket	S	Average	
J. A. Loveless	161.3		19		535		30		17.83	*
K. M. Goodall	117		18		405		22		18.40	
P. B. K. Gracey	77.2		6		278		11		25.27	
A. L. McCall	139		25		511	1.1	19		26.89	
M. G. Johnston	81		5		306		11		27.81	
N. D.'O. Finnis	92.3	1000	10		438		15		29.20	
	32.0				100					

WESTMINSTER SCHOOL											
Batting											
	Innings	N	ot ou	its	Runs	Hig	hest in	ns.	Average		
P. P. Gawthorne	16		0		626		108		39.12		
E. A. Sinclair	16		2		341		72		24.35		
K. S. Andrews	14		0		326		73		23.28		
D. F. Cunliffe	16		ī		287		78		19.13		
†J. D. Stocker	16		1		263		57*		17.53		
D. L. Wilkinson	16		Ô		266		41		16.62		
F. F. Calway	11		2		138		63		15.33		
S. J. Hammond	-8		ō		99		28		12.37		
P. C. Eyre	9		4		53		28		10.60		
J. C. S. Doll	11		2		94		25		10.44		
J. W. Woodbridge	16		3		135		23		10.38		
P. Goatly	10		0		101		27		10.10		
A STATE OF THE PARTY OF THE PAR	10		•	• •	201						
Bowling											
	Overs	M	aide	ns	Runs	3	Wickets	3	Average		
P. C. Eyre	170.1		34		509		21		24.23		
F. F. Calway	97.2		17		467		16		29.18		
J. W. Woodbridge	78	•	11		375		12		31.25		
J. D. Stocker	207.4		35		713		18		39.61		

WEYMOUTH COLLEGE

Batting	Innings	N	ot or	its	Runs	Hig	hest in	ns.	Average
†H. A. L. Stone R. S. Rowland T. R. Stones P. L. S. Bell A. H. Wright H. G. Mitchell M. E. Peachell C. F. Windebank	12 13 10 13 12 13 12 13 13		0 3 1 0 0 1 2		257 187 131 153 117 110 98 102		100 47 31 37 31 21 24 40*		21.41 18.70 14.55 11.76 9.75 9.17 8.90 8.50
Bowling H. A. L. Stone R. S. Rowland	Overs 203.2 162.3		1aide 36 28	ns 	Runs 677 629		Wicket 49 30	s 	Average 13.81 20.96
W. B. K. Hopkins	26.5		5		251		10		25.10

WHITGIFT SCHOOL

		-	-						
Batting	Innings	N	ot ou	its	Runs	Hig	hest in	ns.	Average
D. H. F. Graves †W. H. Bangs , P. M. K. Bird , G. Wilcox J. A. Christie J. P. Waterhouse T. R. Foster , S. E. Lovatt J. D. Culverwell D. F. L. Cook J. D. Winston	17 16 16 12 17 8 14 10 15 5		0 2 0 2 1 3 1 1 0 1 2		559 414 441 178 197 60 145 99 150 38 64		74 91 108 45 56 24* 25 28 45 20 20		32.88 29.57 27.56 17.80 12.31 12.00 11.15 11.00 9.50 9.14
Bowling D. H. F. Graves T. R. Foster. W. H. Bangs M. C. Hornsby	Overs 330 123 211 78	 	1aide: 84 13 41 8	ns	Runs 890 421 740 322		Wicket 75 27 36 13	:s 	Average 10.86 15.59 20.55 24.76

WINCHESTER COLLEGE

Datting					_				
	Innings	N	ot ou	ts	Runs	Hig.	hest in	ns.	Average
H. A. Pawson	16		6		499		77		49.90
R. B. Proud	16		1		561		113		37.40
	14		1		372		79		28.61
†W. B. Alexander			Ä		114		48		22.80
I. P. Garrow	5		0					• •	21.47
J. Stanning	17		0		365		92		
H. T. Davy	13		1		240		74		20.00
P. H. C. Pawson	14		1		229		73		17.61
M. W. Osmond	8		2		105		35		17.50
	8		1		78		20		11.14
R. J. Palmer	0		1		10		20		
Bowling									
and Italians	Overs	Th.	Taide	ne	Runs	1	Wicket	S	Average
* * C	59.2		8		161		12		13.41
I. P. Garrow									16.14
W. B. Alexander	79		18		226		14		
T. J. Blight	127		31		386		18		21.44
G. E. Dixon	194.3		18		694		31		22.35
	172.4		29		528		17		31.05
	143.2		25		501		14	1000	35.78
R. B. Proud	143.2		40		501		1.4		55.70

WORKSOP COLLEGE

Batting									
	Innings	N	lot ou	its	Runs	Hig	hest in	ns.	Average
W. J. P. Walker	18		3		410		74*		27.33
A. L. Evans	18		2		316		61*		19.75
D. Collinge	14		1		245		81		18.84
D. Coleman	18		1		229		82*		13.47
J. B. C. Teale	18		0		241		81		13.38
P. E. F. Rhodes	17		2		197		59		13.13
G. Duke	14		1		167		48		12.84
P. A. Kingston	13	• •	1		86		34	• •	7.16
Bowling									
	Overs	N	Taide	18	Runs	7	Vicket	S	Average
P. E. F. Rhodes	237.3		57		654		77		8.49
J. R. M. Tomkins	223.2		48		597		47		12.70
P. A. Kingston	41		5		236		11		21.45
W. S. P. Ward	87.3		15		263		12		21.91

	Overs	iV.	raide	18	Runs	1	WICKE	S	Average
P. E. F. Rhodes	237.3	2.0	57		654		77		8,49
J. R. M. Tomkins	223.2		48		597		47		12.70
J. IV. 1011Kills									21.45
P. A. Kingston	41		5		236		11		
W. S. P. Ward	87.3		15		263		12		21.91
	XX/83 8787	TAT	00	**	TO TO				
	WREK	TIA		LIL	LUL				
Batting									
	Innings	N	ot or	its	Runs	Hig	hest in	ıns.	Average
E. A. C. Denham	17		0		368		107		21.64
									14.81
K. M. Wilford	16		0		237		58		
G. F. Grace	14		2		167		44		13.91
P. H. G. Mitchell	11		0		147		40		13.36
H. G. Bennett	12		0		155		54		12.91
							35		12.00
C. E. Boden	11		1		120				
J. C. Smith	6		3		34		19*		11.33
G. A. F. Ramsden	16		1		158		39*		10.53
Dawling									
Bowling									
	Overs	N	Taide:	ns	Runs	ĭ	Vicket	S	Average
P. H. G. Mitchell	55		5		236		12		19.66
G. A. F. Ramsden	174.4		6		713		32		22.28
G. A. F. Ramsuch									22.81
CE. M. C. Fulton	178.5		31		616		27		
†J. R. Pelmore	88.2		15		308		13		23.69
J. C. Smith	108		14		381		16		23.81
	_00				201				